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@,Q € F: Q wqupuwhnypp wijuind G0 hwjuwuwph wuypwhnyp, 9
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1) P(A) >0 VAeF,
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1. Utipunuinpuip ttapynud E tpyne wbqud: Liwpugpty ouppuub
wupuwhnypitph puqunpmbp: Ljwpugply htglyw; Wugpuhngpit-
np A - gnbt dbl wiquu Yplw ghippp,

B - gtppp Yplw tpypnpn atpiwd dudwbwy:

2. Quinp Gtpnud &b tpyne wbqud: Liwpugpt] puppuub ygugpu-
hnypltph puquineymip: Lwpugply htplyw; Wwpuhnypbbpp
A - bpliugnn dhuynpbbph gniwpp hwjuwuwp £ «8»-h,
B - gniiti 0t} whqud Yhphw «6»-p:
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A wunpuwhnypp phyppud phyp pwdwbymd E hhogh, B uluupulhm][an_\
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Lwpugpty AN B, AU B wwuypwhnypbbpp:
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13. Atipky ophbwlubp’
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15. Uphp htplyw] wwypwhnypbtph hwwnhpbbpp
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puppbph pugqimpmbd E, npnbp yupuimy b widbpe pynyd A4,
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E, npnbp yunpuitmd Gb pnpnp yyupwhnypbtiphb, pugunmpjudp Ytip-
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w) A, CA\n=12,..., pA=U N 4m.
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tnpyul wpnphtt vwhiwdh B Guubbp, np {A,} hwonpnujubinipymbp
nibh uwhdwb, bph A4, = A*:

23. thgnip ’
[0, btph w¢A
IA(”)_{ 1, tpt weA:

I4(w)-0 Yngymd £ A puquimpjub honhuypnp $mbyghw: Wyugmghy,
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L npnbp ypuppbpynud Gb dhdjubighg ud gnot by puppny, Jud nphwbg
nuuwynpnipuip, pbn npmd wnwbdhh dhwgnipynbbtpnid jnipupubs—
Jjmp upp Ywubwygmd £ ng wytigh, pwb gt wiqud: n-hg k-wljub
Jqupquynpnipnbbtph phyp bwbwlymd k£ A,’fb—m{ b hwjuwuwp k
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(Qupquynpywd b widbpunwpd phypngegnid):

3. n yqpnupplphg pEnuhnfunyeymbibkpp wjbyhuh Jhwgnppymbbtn
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qupptipdmud &b dhuyb pupptiph puuwynpmpyudp: 7 pupptiphg nb-
nuithnpunipymbbbph phyp tywbwyymd £ P, -ny b hajwuwp k

P, = A" = nl

4. Qmgnpnmpyniaibp n-hg £-wljut wjbyhuh dhwugnipnibbbp bo,
npnighg jnipupwitg jmpp wuwpniwynd £y jwg 7 papptiphg yepgpud
k yupp W npnbp qupptipmd 6o Jhdjubghg gnit Uk qpwppny, pon
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E ng wybjh, pwb Ut woiqud: n-hg k-wlub gnignpnmpnibbbph phyp
Dpwbwlynud £ C¥-ny b hwuuwp £
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5. Gupqunpjwd b JEpunupanuing piyppopyma’
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n—1 _ vk .
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27. Uuph ququpe Jupbh b hwudly 7 mnhbobpny: Lwih” qpuppbp
aubtinny 1tnbwquwgp Jupnn £ pwpdpuwbwg b hobitip uwphg: Lnidb) jutinh-
np, tpt Ytptypp b quyptepp upupymd &b pupptip ninhbtipny:

28. Ywuwpubnid wighnud &b 10 wmnwplju: Gpynpwppeh opp 6 nuu
L, pnbn npnud pnpnp nuutipnp puppbp Gh: Luih” pupptip autipng Jupbh
£ ququly nuuugniguyp tpyniywprh opduw hwdwp:

29. Muwbnnp wtapp £ 8 opjw pbpwgpnmd hwbadth 4 pbbniyenib:
Lwbh” pwppbp aubpny Juptih £ gu ppuubwugbl), Gph gty opnid
Juptih £ hwbatty dhuyb gty pbhbniyenb:

30. Rwlp” wilynbwghd niih monighly n wblyynbhb:

31. Lwbp” auny Junbiih E nuuwynply swjudugh qpupmpuyh ypw 8
twjuly, npytiugh tpmbp squpnnubwd hwpywodlky vhyjubg:

32. Qapuby 7 qruppbiphg wjbyhuh pinuihnuniyeymibibtiph phyp, np-
nbin juy 2 qruppp b0 gupindnud hpwip dmp:

33. Mwpnh Qnbup nibh 10 ghpp, npnip bw wunppuugpymd k yplinu-
npbp hp gpunwpuyma: dpubghg 4-p dwptiduphului gpptp o,
3-p Ytpuwpbpynui G phihwjhb, 2-p° wqugqpdmpubp, huly 1-p" whgbpki
1Eqyht: @ntiup gubuimud E nuuwynpby hp gpptipp wybwtiu, np tnyb
wnwpiuiht tpwptipdnn gpptipp npdwd |hott dhwuhb: Lwih pupptip
nuuwynpniE nibbtin G hbtwpuyynn:

34. bbg-np punuph nuiphutinijub pudand wppuunpmd £ 10 uwyu:
Gt nuphjubtuub Jupsnipynihp 5 unqubtph wtiyp L ninupyh thnnng-
abipp hulgtint, 2-p wtapp £ wphowgba (phy npnypny Juyuond, huy 3-p
wuwhnupuyht Juywinwd, puwbh” qupptp hbwpuwynpnuenibbtp ub 10
uyubtipht 3 fudptiph pwdwbbnt hwdwp:
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35. Opnptii mpmghl n-wbljub wblmiwugdtph hunpiwb Ytapkph
pwlulyp, Gt npwbghg ympupwbsjnip Gptipp sbb hunpymd ony b Ghgpnud:

36. N\wbabwdnnnyp punugud k 11 hngnig: @wugupnptpp, npni-
gny wtpp £ qpunyh hwbabwdnnnyp, gqpiaynud G wywhwpwind: Lwip’
thwub ybyp £ mbtbw ywhwpwip b pwbh pwbwh wtyp £ nbbow
hwbdtwdnnnyh jnipuwpwbs jnip wbnwd, npytiugh hbtwpwynp thoh pugty
wwhwpwip wyb b dhuyb wyb nhypmd, Gpp dbplu ihth hwbabwdnnngh
whnuuibtiph Whkdwiwubnipmbp:

37. n dhwbdwbh qunhyotpp phnuynpnud G0 N uwhnpbbtph dbo:
Wywugnigti, np

w) pupptip plinuynpnudttph phyp hwuuwp ECY ., = C ]]\\ftrlb—l’

p) ptinwynpmutitiph phyp, tpp jnupuipwitsinp wathnpp upupniiwyh
wnijuqb Uyt qinhy, hwjuwuwp C’,]L\[:ll:

38. Rwip” quupptip aubipny Junbih £ pupputy N tptjuwbtiph dhol
n dhwidwb 0dtp: Qpbb] wyh tnubwlbtph phyp, Gpp jmpupwbsjnip
tpthuw Juypubw wnbijuqb dty oybp:

39. Lwlp” ypupptp dutipny htwpwynp k pyppty 6 upuitnuy, tepb
hpnuywuwpwinud Yub 11 qpuppbp phuwyh jupubnuybbp:

40. w) Lwip” wipnne ng puguwuwlwi [mdmy nih

r1+xTo+...+xxN =N

hujwuwpnudn:
p) Lwip” wipnng npujub mdmy mbh

r1+xTo+...+xxN =N

hujwuwpnuin:
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41. “%hgmp mubbp N thnhnfuwubbdbphg f(z1, z9, ..., xx) dmbl-
ghw: Lwip’ pwupptip n-pn Jupgh dwubwyh wdwbgubdbp ndh wyn

P$nilyghwl:

42, 10 vwpnubghg punugwd wlinuiphg, npnig pynd 6o A, B,
C, D, E-u uw F-p, hwpuynp E£ plppty bwpwquh, qubdwwyuwh W
pupmpninup: Ng dbhp sh qupnn nbkbw dykhhg wdtih yuoypnb: Mb-
nulwl yuwoypniywbtiph pubh” uuppbp phyppngenubttp G hwpuynp,
tiph

w) ng Uh uwhdwiwhwymd syu,

p) A-0 b B-b ¢bb pluppyh dhwuh,

q) C-t b D-b jud dhwuhtt Ypbppytd, Yud skb piappyh,

n) E-0 Yihth wwopniyw,

t) F-p hwiwawyb E wppowply dhwyt bwpiwgquhh wuppnbnud:

NSuwjuitwjuiinpyud puuuljud uvwhiwinudp
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hwjwuwp L

43, Upwnunpuip Gtypymud £ Gpyne wbqud: boswyhup™a £ glipph
gnbb vt wiquu Gplwn hwjwbwlwbnie)nibp:

44, Lgpnmd GO Gpyne qun: Gapbtyp htaplywy wunpwhnypitph hw-
Jubwlwimpmbhbpp

w) quobiph Yypw Yhplwd shubnyt pwiwyh shwynpbbp,

p) quobiph Ypw Ytplwd pupptp putwyh dhunjnpbbp:

45, Ntnwpunuwhwiwpp punugwd £ 6 pywbowbhg: Gapbty pnnp
pPYwbowbbtph puppbp 1hotn hwjuwbwuwbniymbn:
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46. M hwpubh stbph Yytptpuyda G dpomyd wnweohtt hwpynd 5
hngh: Ghpwnptbp, np bpwbghg jnipupwbsnipp hwjuwuwp hujubw-
Jubnipjudp Jupnn £ nnipu qup gubjugwd hwpiynd, uquwd Gpypnpn
hwplhg: Qb htaplyu yugpuhnygpitph hwuwbwluingeymbbbpp

w) pnnpp nmpu jgub dhubngd hwpynud,

P) pnnpp nnipu Yqul yrupptip hwpybpnu:

47. k hpwinphg punugwd Jwpyplngp Ypwy k pugty I hophwphn-
Gbiphg punyugwd fudph Ypw (A < 1): \pwlinpltiphg jnipupwibgnipl hp
yunpuuytph pyppnipynmop junpupnd £ yuypuhwljubnpkt, wb-
Juju dnwibbphg: Qapbt; htplyw; yunpwhnypitph hwjwiwluwbne-
pjnLup

w) pnpnp & hpwinpbbtpp plgpty G0 dhuongd ywgpuulytgp,

p) hpwinpibtpd plypty GO puppbp byupujuytgbn:

48. 1,2, 3,4, 5 pytpp gpnuwd b 5 pupmpbph ypu: Munpuhwljubtnptb
hwonpnupwn hwimd Gb Gptp pwpp b hwtjwd pYbpp puuwynpnid

b dwjuhg we: PUswhupt £ upugywd pyh w) qnyg, p) Yl (hobn
hwjwbwjubnipynibp:

49. Unwbahth pwppptiph ypw gpud Go 1,2, 3, ...,9 pybtipp: Annp
pwmptipp ppwnbtinig htippn uypwhwlwbnptt hweonpnupwp hwind
th Gpwbghg snpup L nuuuwynpmd dkyp dyjnwup htaplthg: bogwhup’a |
upugywd pyh w) qnyg, p) 1 2 3 4 jhobn hwjwiwlubnyp)nibp:

50. Upynp wupnibwynd £ 15 nhigpwy, npnoghg 10-p dbpiwd bo:
Pwiynpp yuwipwhwwbd yapghnud £ dpwdghg 3-p: Qapbty pnpnp ybpg-
pwd niypuybbph thpyywd (hbotme hwwbwuwbnenibn:

51. Uuthnpp wunpmbwynd £ ¢ uyhypuyy b b ule gbnhyotp: Uwthnphg
vhubquihg hwbmd b tpyne qlinhly: Opnplp wyn tpyne qnhfbbtph
ugyhypuy hotnt hwjwbwwbnyeynibp:

52. N ntquwbtiphg punugwd pipwpwiwlyp qpiynd E hulhsh
unyy, npp wuwipuwhwluwinpbb pgpnud £ 7 gy L npnpmd npubig
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npup: Gt pppwd ntypubitiphg ng dtyp unyputjwd sk, wuqu widpnne
fudpwpwibwlp pbnpmbymy £ bhgyhup”  hujubwubngejudp huljhsp
ypinnbh £ pmpuigwd nhipw) gupmbwlyng pdipupwbwln:

53. 20 muwbnnbbtphg punugud pudpnid Ju 6 ghipuqubghly: Sty
wupuwhwlwbnptb pbyppwd 9 niuwbnnbtinhg 4 - h ghipuqubghy thotm
hujuwbwubnpnbnp:

54. Swpndunph dpgdwbp dwubwlygnd £ 20 hngh, npntip yhwlju-
hubnipjudp pudubynd b 10 hngmg punugud Gpym pudph: Qapbty
htiplyw) wuwypwhnyputph hwjwbwljwbnmabbpp

w) bpyn wikbwndbn fpunugnniipp Ypuwphu]bb pruppbp fudpbph
utig,

p) snpu wikbwmdtin pwnugnnitipp Ypwoputb pyniwlud puppbp
hudptiph dbo:

55. munuwpnpetph juynip gupuhwuinptb pudwbymy k Gpgm
hujwuwp dwubiph: Opnpt jmpupwbsjnip dwumy Gpynuujub dkljubng
(httim hujuwiwubnpmbn:

56. N wpqpunpubpitphg punugud fudpupwbulp wupnibwlnd
E M junpubwd wpgpunpuip: Wn jpdpuputtwhg wunpuhwluwinptb
Ytipgmd b n (n < N) wppunpubp: bigh” £ hwjwuwp npubg dke
m (m < M) funpuiywd wppunpuipbtp (hotne hwjwbwubmpni—
tn:

57. 1 - 49 pytphg wuypwhwliwb byymd Gb 6 puppbip pYbp: hosyh-
up’ hwjuwiwuinipjudp yphdwupunh dudwbwl hwiwd 6 pytph

ubg Yguiytb tpdwd pyYtiphg gnbt 3-p:

58. vwnupyynud £ yhdwwjuunh n ypndu, npniighg m-p pwhnn
L bbgwhup’t £ pwhtjnt hwjwbwwimpmbp 7 (1 < m) ypniu dbnp
ptipnnh hwdwp:

59. Utiptibwbtiph 12 Jubqunibtpp npuuuynpjwd G dbky pwppny:
Lhuynytig, np jubqunbbtphg nipp qpunbgwd b, huy snpu wquip ptintipp



16

htaplnid B0 dbyp Gnuht (Yuqimyd Gb ubphw): Qo] wynyhuh puuwyn-
pnipyul hujubwlwubnye nibp:

60. Gubqunhl Umptignn dkiptbwb qpuntiginud £ pupph NV wptintiphg
utp (ng dwypwiwuwght): dbpunuebwhu dhptbwgh pbpp Gugnud E,
np N qbintiphg 7 - p ntin gpunbtigywd k: Qity ipyne hwpliwt hntiph
wquup thotpm hajwbwubninbp:

61. Ltpuwd £ 10 qun: Qapity htiplywy wugpuwhnypbtph hwjwbw-
Juimpymbdtpp w) ng dh queh Ypw sh pugyly «6», p) «6» pugyty L
Ghowy 3 qunh Ypu:

62.1,2,3,...,29, 30 pdtinphg wuypwhwlwb bpynd Gb 10 qpupptin
Pytn: @il htplyw; wuypuwhnygpbtph hujwbwlwbnyeymbibpp

w) pnpnp pUppywd pybpp Yebp b,

p) piyppyud pYtiphg ninhn 5-p pudwbymd kb 3-h,

) pippywd pytiphg 5-p qnyq b, 5-p° Yulp, pin npnud npubighg
tShoy dtiyp pwdwiymu k 10-h:

63. busyhuph” hwjwihwubnpjudp yupuhwluinpth yepgpud wd-
pnitiptiugh pupwihy hwdwph

w) pnnp pytipp Yihkb gupptip,

p) pYtiphg dhwyt tipyniup Yhwdipbyoko,

a) pYtipp Yququtl hudpiyonn pytiphg punugwd tipyn qnyaq,

n) pYtiphg tiptipp Yhwipbyoka,

t) pninp pYtipp Yhwdpbyobi:

64. 0, 1, 2 pYbphg punugud n tpupnpymb mbkgnn pninp hw-
onppuubnipmbbtph puqunipnitihg yguypuwhwliwuwbnptb pgpynid £
dbijp: Qapiitp htnplywy wunpuhnypibtph hwjuiwljubmpmbbbpp

w) hwonpuuinipymbp ujuymd k qpnyny,

p) hwonpnuwbinipyniip yupmbwymy k ninhn m + 2 qpnbbp, pon
npnud npubghg Gpynuup qapignud B hwenpnuijubtingeywb dwyptipnud,

q) hwenpnuwinpniip wwpmbwymy E ninhn m Shwynp,

1) hwenpnuwlwinpniip ywpmbwymy £ ninhn me hwg «0», my
hunp «1», mg hunp «2»:
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65. ‘whjhémd Ju n + k& Gupupwid, dwpnhly wyunpuhwubnpbi
grunbtgnud Gh n \tin: Qb hajubwubnipymbp, np qpuntigyh
npnawlh Shoypp m (m < n) pbin:

66. Mbtip nuuuwynpyud 52 hwnupenpetph Juuyny: Yot hojw-
Owluwbnieynibp, np

w) wnwehll snpu fuwnupenptpp Yhtkd dtluing,

p) wnwohti Ut Ytipghlt iwnwpnptipp vkjuing i,

@) dtwbngbtiph dhol Yw dhoy | pwnupnine:

67. 52 ppunupenptphg Juquyud juynp hajuwuwp pudwiynd k
4 juwnugnnitiph dhol: Qpitip hwjwbwluwbnie)nibp, np

w) jnipupwibsynip fuwnugnnh dmp Yhth dblubng,

p) fuwnwgnnitiphg dtlh dnyp pnpnp 13 pwnuenptipp Yhttb tny
pliuwlh,

q) Jjmpwpwignp fuwnwgnnh dmp Yhotb pnpnp founwpnptphg
tipgynuhg dhbgh dkljubng:

68. 15 nuuwghpp yunpuwhwljub jupgny nuuwynpjwd G nupulh
Ypw, nbn npnud npuighg 5-p Juquny Gb: Wwltppp yqupwhwwinpbb
ytipginud k npwitighg 3-p: boswyhuh” hwjuiwuinejudp Jtipgpud gppti-
nhg gnib dkyp Juquny E:

69. Llnpmd th 3 qun: Qapbby «6»-h gnbbt Ut wbqud Gplwne
hujubwubnpnbnp:

70. Upynp wqupmbwynud £ 8 Jupdhp, 10 Jubws, 12 uwniyyp qinhly-
Obp: Muypuwhwliuwinptt hwbmd Gh bpwbghg tGptipp: ol hwidwod

qinhybtiphg gnob Gpynwuh tnyb gnybh (hobnt hwjwbwwbnye nibp:

71. 9 mnunp buypnud | 3 Jugnbhg punugud qhwgp: Snipupwb-
sjnip nininp Wupuhwuwbd pppnud £ Jugnbiliphg dtiyp: 9apoty ht-
plyw wupuhnypitph hajuwiwluimpmbibpp’

w) pninpp Yplppt wpwght Ywgnlip,

p) ponpp Ypiypptl dhtbny Jwgnip,
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q) ninlnplitiphg gntit Wkl Ypinpph wnwght Jugnip,
n) jnipupwiligjnip Jugnh Ypupapwbw 3 mnlnp:

72. Gapbiy 12 wbabph dbbnywb optiph pwpyw qwupptipn wihubtipmyd
(httm hajuwtwubnipmbn:

73. Lunwlnuhtt hnphgnbwjub gdotipny pwdwtywd L n dthwidwb
stiptptiph: pwbighg jnipupwbsjniph ypw wuypuwhwliwbnptb tpymy k
uh b, nph nhppp hwjwuwpwhbwpuwynp £ 2tipyph gubjugud qtinnud:
Winthtyplt wyn pwnwmuht pwdwiynd £ 7 — 1 ninnuadhg gdtipny:
Qanib] jnipupwbs jnip ninnudhg stppned dbjuuit Yeyp gupingbyne hw-
Jubwlubnpymbop:

74. Uuthnphg, npp wupmbwlnd £ 2 vygpqpuy b 4 ub ghnhlbobp
hpwp htapbhg hwiomd Go pninp qinhlbtpp: Qo htyplyw yunpu-
hnypitph hwjwbwlwinyeymbibpp

w) wnwehll hwigwd qbnhyp uyhypuy L,

p) tinypnpn. hwinwd ginhyp uwyhypwy E,

q) Utinghti hwinwd qunhlp uwhpuly E:

75. Jhtwwjuwnh 7 ypndubiphg tpynwp pwhnn tb: 7 hngh hwenp-
nupwp Yipgiinud o dkjuui pndu: Ywjujwd Yihth” wpngynp swhbjn
hujuwbwubnmppmip htpph hwdwphg:

76. n puybpbtn yuypwhwlwinptt dugpnud Gb Yinp ubnudth onipop:
Qupity htplyw; wwypwhnypitph hwjwiwluwbmpmbbbpp

w) npnpwlh tpynup” A-0 b B-b, uqpud Gb Ynnp-Ynnph,

p) A-b buypud £ B-hg awu,

q) npnpwilh tiptipp’ A-0, B-0 b C-b uqud L Ynnp-Ynnph,

n) A-0 buqpud t B-hg we, huy C-t' B-hg dwfu:

77. Qapbty bwhunpn pubnph yunpuwhnypbtph hwjwbwljubnpnib-
bbpp, tpb poybpitpp bupwd b swppny WhY Guypupwbhi:

78. Tupuymu yuipuhwud htppuluinpyudp nuuwynpyud k 40
ghpp, npnbg pYnud bwle U. @npjuwbh Gptip hwpnpbtipp: Gqob htplywg
wupuwhnypitph hwjuiwwimpmbbtpp
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w) U. @npjuith hunpnpbbipp nuuwynpduwd G hpup dng,

p) U. Qnpjubh hwypnpitipp nuuwynpjuwd G0 hpwp dny hwdwpbbph
widwb Jupgny,

@) U. Q@npyubh hunpnpibpp quuwynpjuwd G hwdwpdbph widwb
Yupgny (wwppunhp sk hpwp dny),

1) hunpnpliiph qpunbtignwd ptintipp juquinud bb pYupwiwlub ypn-
gptivhw, nph quppbipnipymipn hwjwuwp £ 7-h:

79. Ghpwnpkip nnip dnnwghy tp QLq hwpluynn htinwhinuh hwiw-
nh Wby pYuiowip b hwjwpnid tp wyt wuypwhwwbnptb: hhgyhup’
hujuiuuinmpudp nnp uphyywd ihbtp wik] ng wybkih pub Gpym
Jubs:

80. 20 tiptifuw (10 pnu L 10 wnohy) wwypwhwlwinpkd fudpwynp-

ynud kb qnyglipny: 9apbty 10 qnygliphg jnipupwibsjniph qpuppbip utinh
tptijunwbtphg punugud |hbbm hwjwbwljubnipynibp:

81. 5 ynuiwpnn b 10 4ho hwiwjudpynud G0 Gptpwljub: bhgyhup
hujuwbwuwbnipjudp vipugyud 5 uipbphg jmupupwig jnipmd Yhoh dby
pnuiwnn:

82. Yhgmp Obypmud GO Gpyme qun: Qo] hwjuwbwuwbmpnbn,

nn qunbph ypu pugwd dhwynpbbiph gnudwpp hwmjwuwn k£ 4-h, ¢ =
2,3,...,11,12:

83. Uhypwenud wypmd £ 20 hymuhuwyh@ tnobtipni, npniighg hhight
npuwghk], ywhpwluynpl, wyguw wqunp Gb wpdwlb;: Npny dudwbwy
wlg wyn 20 tnotipmbtiphg 4-htt npumd Gb: hoswyhup” hujuwbwljubin-
pywdp npubghg 2-p whypuluynpjud to tnby:

&4. Unjw £ n pwbwih, npnbghg dtyb L hwdwwywgpuwuppwbnd §nn-
wtipht: Pisyhuh hwjuwbwluwinipudp Jupbih E pugb nnop k-pn thnp-
anud, bph

w) ywipwhwlwinptt yepgdwd pwiwihi sh dwubwlygnud hwenpry
thnpatipha,
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p) wpnbtb thnpdgwd pwbwht Yupnn E nphg dwubwlygl] hwenpn
thnpatipht:

L

85. k dwubhyotpp wuwypuwhwluwinpth pwopaynud Gh n poholitiph utie
(k < n): Qapbty htplyw] yuwypwhnypitph hwjwiwwingenubbpp’

w) npnpwlih £ pohetiipmy Yhwppbwpbpdh dtiuywi dwubhy,

p) k poholiipmu hwppbwpbipdh dtuiub dwubhl:

onhpp (ndt] htaplywy wwydwbbbph nhypnd

1) dwubhlbbpp puppbpdnd &b, by peomd phluwd dwubhlobph

RrhUp sh vwhiwbwthwyyniy,

2) dwubhybbipp sbb puppbpymy, Uty pesh vbe phijud dwubhybbiph
RrhUp sh vwhiwbwthwyynuy,

3) dwubhybtipp puppbpymd Gb, jnipupwibsgnip pogh dhe Juipnn L
poybty dthhg ng wytiih dwubhy,

4) Ywubhybbpp shb pruppbpynud, jmpupubsnp peoh dhe Yupnn L
nbybty vkyhg ng wybth dwubhly:

86. n ntuwlinn, npnoig pynud kb A-0 b B-b, wupuwhwljuwbnptb swpp
th qubqinui: bosyhuph” hwjuwbwuingeudp A-h b B-h dholt jhGh
Shoyp r nuwbnn: 8niyg wy, np el 7 muwbnnitp spowd Juquko,
wyuw uyn hwjuwbwlubnip)nibp Jihth 7-hg mbjuhn b hwjwuwp %:

87. hugwhuh” hwjwhwuiniyejudp 7 qunuyitp Juptih L ptinuygn-
pby 7 wpyntiph dbe wybytiu, np dhpyp m wpln dbw nuyupy, tph
qnuybtipp sk puppbpynd b pnnp yplnuynpnuitpp hwjwuwpu-
hbwpuwynp &ob:

88. hsuihuph” hwjwbwubnpjudp 2n qghnuybbp upbh £ pbnugn-
nb 7 wpyntiph 4k wybwbku, np ng dh wpyn nwywnpy ghth, bpbt qunuly-
bbpp s&0 pupptipgnud b popnp pEnuynpnudtttipp hwjwuwpuwhbwpuynp
ti:

89. Tvwnwpnptph Juwniyhg (52 hwy) wupuhwlywinptd Jtpg-
Onud G 6 ppwnuenupE: Aot Yipgpuwod pwnupenptph dbe pninp k-
uujh ppwnupnetphg (hotin hajuwtwubnienibn:
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90. 1, 2, ..., 20 pdtipp wupnibwlynn 20 pupiptiphg yugpwhwlwinptt

Ytpgimud &b dtly pupy: Qpnpty wyn pupph Ypu gpdwd pyh 3-h fud
4-h Ypw pwdwbybtiim hwjuwbwubnipynbn:

91. 10 abnwgpbp nuuwynpywd Gt 30 pnpwwwbwydtph vke: Snipw-—
pwlgjnip dtnwgph hwiwp twpupbtudwd £ 3 pnpuywbwl: bigyhup’
hwjwbujubnipjuip yupuwhwljuinptb Jytpgpud 6 pnpuwyubuyibph
ity sh qupigh wdpnnowjubl aknwghp:

92. Sniuwpynh dnpp hbtpp Gb ubqbwd n + m dwpn, npnbghg
n-p mbbh 50-wlub npud, hul Ynwbbpp' 100-wlwub gpud: Sndup
ghtip 50 npwy E: Jwwnphg wnwe pnduwpynnid npud siup: bosyhup”
hujuwiwjuinmpudp qbnnbtphg ns dthip wphyywd sh thth unuuty
dbwgnpn dwbp npudhi:

93. Uplynhg, npp wupnibwymd £ m uyhgpuy b 7 ube ghnhlbbp (m >
1) yupuwhwlwinptd hwind &b hpwp htpihg popnp qiinhyutpp: bog’
hujuiwjuimpudp jqu wjbyhuh yuh, tpp hwijwd ule qiinhfbtpp
pwlwlyp Jhwjwuwpyh hwmtwd uyhgpwly ghnhyobph pwbwyhi:

94. n thwyphyubphg jnipupwbgjnipp pudwiymyd E bpyne dwup™ bp-
Jup b upa: Upugdud 2n npbtipp dhwyynpmy b » gnygbiph, npno-
ghg jnipupwbsympp Juqund £ onp «thwyjiphy»: Qapbtp hbplywp wu-
pwhnypitph hwjwbwwimpymbbtpp

w) pnpnp Gynpbtipp Yuhwiub uygphuljub jupgny,

p) pnnp tplup Qynpbtipp ihwowd jupé Gynpbtiph hta:

95. “Yhyprwpytop ar’+br+c=0 pwnwlniuh hwjwuwnpnudp, npyptin
a, b, ¢ -0 npnpymd GO, hwdwwwipuupwbwpwp, npybu qunh tpbp
hwonpnulju ttpnuitiph wpnymbphbp: Qi

w) hwjwuwpiwh wpdunpbtph hpuub (hobn,

p) hwjuwuwpiwd wpdunpbbiph pwghnbwy hotm hwjubwubne-
ymuttipp:

96. n+ 1 dwpnuighg dtyp, npht Jubgwitbp «bwpowdinn», Gpyne
Owdwy k£ gpnud yuypuwhwwonpth poppud hwugbwpbptipht, npnbp
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Juqunud b «wnwehli ubipnibinp», tpubp hptibg htippht wbnmd Go Gny-
Op wnwowgbim] «bpypnpn ubpmbnp»: 6y «r-n ubpmin» Juqunn
dupnubtighg jnipupwibsympp niqupynmd £ Gpgm twdwl] yqunpuhw-
Jubinptb pppuwd hwugbunpbptpht: Qb «bwppwodbnnh» 1,2, ...,7
hwdwnbtipny «utipmbnbtiphg» ng Wthht syqunpuititiine hwjwbwlwbni-
[ejnibn:

97. n + 1 pbwlhs nbtignn pwnupmu hbs-np dtyp bnpmpynid k
huwtmd: Lw wyh hwnnpnmd £ wpwehtt hwinhwwdhi, nu E kY niphoht
U wynutiu pwpnibwly: Snipwpwbs jnip puyimd wpwehl wbqud bnpnieynih
hdwgnnp hwjwuwp hwjwbwuwbnpjudp Jupnn £ hwnnpnb wyn dwpn-
Jwighg jnipuwpwbsjniphti: boswyhuph” hwjwiwuinipyudp dudwiwlh
r dhuynpbtiph phpwugpnuy

w) Gnpmpymbp Ypyht sh hwubh wyh dwpnmb, npt wowehtiti
hdwghy nu,

p) dwpnyuighg ng uklyp sh Ypyth Gnpnipymip:

98. 1,2,..., N puquimpynihg yupwhwljuit yopghmd tbh e phyp:
ity lim p, npptin py -p - (a” =1) puh 10-h pudwbytyn hujw-
— 00
Owljubniymbb k:

99. bugh” £ hwjwuwp 1,2,...., N  pwquimpnihg wyupwhwlwib

Jtpgpwd phwlui pyh $hpuwd pwlub £ pyh pudwiybn p, hwju-
bwljubnipynibp: Qapbt A}im Dyt
—00

100. 1,2, ..., N pytph puquinypnibhg yupuwhwlwinptb ybipginod
L0 (Yepwnupany) = b y pytpp: Bogh b abd.

p2 = P(2% — y? pudwbymd k 2 — h),

Pt
p3 = P(z* — * pwdwbymi £ 3 — ) :
101. 1,2, ..., n puqunyejui pninp hp dbe Jupupynn wppuwug-
Jtpnuidttiphg wuypuwhwwbnptd ytpgomd B dGyp: Qapoty hplyw
wupuwhnypitph hwjuiwwimpmbbtpp



23

w) piyppwd wppuigupltpnudp 2 pupptiphg jnpupuibgmpp pu-
omu E 1-h,

p) ¢ puppb mbh mnhn & bwpiweugybp,

q) @ puppl wppuyupytpynd £ j gwpph gpa,

n) i1, 42, ...ix pupptipp (1 <75 < i < ... < ik < n) hwdwyupuu-
fuwbwpwp wppuwunpyipgmd Ga ji, jo, -, jr -h Ypu:

102. 1,2,...,n puqunpui thnpudhupdtp wppuwugpybpndp hp
Ypw wiubnd 6o n wugphdwbh ppinuthnpuniyegnia: Aninp 7 wuphwbh
tinuthnfunieynibiiiphg wunpuhwljumbnptb ytpgmd Gb dkhp: Qapbty
htplyw) wuypuhnypubph hwjwbwljuwbnmabbpp

1 2 ...
w) plppywd k onybwlywb phnuhnunipmb £ = ( 1 2 ... Z),

p) pbyppwd pbnuhnpumpynibp’ 1,42, .0, (i1 < i2 < ... < ig)
qupptipp phnuihnfumd £ hwdwywpuuppwbwpwp ji, jo, - Jk uip-
ptipht,

@) ¢ puppp phnutnpunud k i-hd, wyuhbipt’ @ —

103. n dwubhybbtipp puwopuymud G N poholitiph dhe: Lowbwlhip
pr = p(n, N) wjb pohoitinh pwtwlp, npniighg jmpwpwligjnipp pup-
utiinig htiypn uyupnibwjh ninhn r dwubhl: 9ol htplyw) wyugpu-
hnypitph hwjwiwlwbnpjmbbbtpp

1) po(n,N) >0, tpp n =N

2) po(n,N) =0, tppn =N +1
3) wn, N) =1, tppn =N +1:

104. Pudwbind th 52 pwnupwpptiphg punugud Juwniyp: bog-
whup’t £ hwjwiwyuwbngegnibp, np qpuubsnpubpnpn pupqp Yihth «dti-
Jubng»: bhsyhup” hwjubwuingejuip wpwehll «dtljubngp» nnipu

Ugqw qruubsnpubipnpn pwpph Ypw:
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Gpypuswthwljut hwjwiwljuinyeymbibp

NYhgnip -0 n-qunhwbh EYyhntuywd R qrupudnipyubd yepowynp
Ltptgh suth mbbkgnn Ghpwpwqinp)nd t: F-p Q-h pup Leptigh sunhtih
tbpwpwquinpnibtph o-hwipwhwohyb t: Ly, (+)-p Lapbgh sunht & R™—
ni: Bwbljugud A € F hwdwp tpypusuthwut hwjuwbwlubnigenbp
uwhiwiymd £ htplyw) pwbwating’

105. linhn gdh jnipwpwibsynp 15 dtph Yypuw pinuynpyud 6o hw-
Jupputuyht mudtitp, 3 dbypp jwybngeynid nubtignn qputyo popwbnd
E wyn ¢dhl ninnwhwjwg: bogwhuh'd £ puwigh wuypbnt hwjuiwljw-
tiniynibn:

106. Swppnipiniip pudwidwd £ hpuphg 2¢ hinwdnpnipyuid Yypw
qupiynn gniquhtin ninhnbtpny: Swppnpjud Yypu ygupuhwljuinpti
tpymud k7 (r < a) pwnunnny dhpununpudp: hogyhup’a £ Gpu ng
uh ninnh htp shwnpybnt hwjwbwwbnienibp:

107. Swhadunph wyting pwpnpuwyh ypw, nph pwnwynwuhbiph Ynn-
dtiph Gpyupnmpymbp ¢ E, wquypwhwuinpbb epdmd £ 2r (2r < a)
ppuiwgodony dhypunuinpudp: Gapot; htplyw; wuwgpwhnypitph hwjw-
Dwubmpynbbbpp

w) npuip wdipnnonyhti piqud Yihoh vkl pupwlmum dhy,

p) npuip Yhwgph punwynunt dbYy Ynnihg ng wybih:

108. Ytipp wunpuwhwubnptb tpymd £ R swnwynny opowtth Gtipup:
Quplity wyn Ytyph opowdhd dtipgdywd w) pwpwlniunt, p) Jubnbwynp
tnwbljwb ttpund qupybint hwjwbwlwuwbneymbp:

109. I tpyupnpynib mbtgnn O A hwpwdh Ypw yuwpuwhwljuwinpt
Opynud &b tpym B W C Ypbp, pin npnwd, hwppoh £, np OB < OC:
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Qupity BC hunpjwop OB hunpwdhg Jupd (hotne hwjubwluim-
[eynibn:

110. bugyhup” huquiwuimpjuip 22 4+ az + b = 0 punwlnup
hwjuwuwpiwh wpdupbbpp. w) ppuub b, p) npulub bo, beh a b b
qnpdwlhgiutiph wpdtipttipp hwjwuwpwhiwpuynp Gt 0 <a <1, 0 <
b < 1 puwnwlnium Ghpunid:

111. Qapity 22 +2ax+b =0 hwjwuwpdwb wpdunpibiph w) hpuww,
p) npuwluid hotm hwjuwiwywimpmbp, beb ¢ W b gnpdwlhgbbph
wndbipbbipp hwjwuwpwhtwpwynp Gb o] < 1, |8 < 1 pwpwlyniunt
Obpunuy:

112. | Gplupnipnih mbbgnn hugpyuwdh Ypuw wupuhwljubtnpbo
Opnid Gh Gpyme Ytp: Qapity pwbg dholt tnwd htinwyynpnipjub kl-hg
(0 < k < 1) thnpp (hotim hwjwbwlubnpnibp:

113. Gpynt bwy whypp £ Guowbytb onylh twjuwdwnpnyght: Lu-
ytph dudwbbim wwhtpp wiupu G b hajuuwpwhbwpuwynp opguw

nopwgpnud: hosyhuph” hwjwbwuwinpudp bwytphg dtip uphuywd
ihth vwyuul] twjuwdunpnygh wqunpiwbp, Gt wowehtt wyh Jubg
wnlbim dwdwbwyp dkY dwd b, huy Gpypnpnhop” Gpyne dwd:

114. (0,0), (0,1), (1,0), (1,1) ququpltp mbtgnn pwpwynunt Ghpup
Upqud & M (&, 7) Ytapp:
1. UQyugmgty, np 0 < 2,y <1 -h hwdwp
P<zn<y)=Pl<z) - Pn<y)=z-y:

2. 0 < z < 1-h hmdwp qupity

w) P(|§ —n| < 2), n) P(max(§,n) < z),
p) P& < 2), ) P(3(§+n) < 2):
q) P(min(¢§,n) < 2),

115, Munpwhwuinptt ybipgwd Gb Gpynt ngpujut z b y pybp,

npnighg jnipuipwitgnipp UGd ¢k 2-hg: Gty wyn pdbph 2y wppunpyu-
th 1-hg dtd ghubnt L % pwbnpnh 2-hb sghipuqubgbnt hwjwbwluw-
tnipenibp:
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116. Munpuhwlubnptt Yytpgbmd &b Gpym npujubt ¢ b y pybp,
npnighg jnipupuibgnipp Wkd ¢k diyhg: Gpbb wyn pytiph gnuiwph
utiyht ¢gbpuquibgtini, huly 2y wppunpuh 0,09-hg thnpp ghtim hw-
Juwbwlubnipynibp:

L

117. ununpp upnn £ oqupdty 77 W 7% phndhonudttipny hwenpnnn
tipynt tpeninhbtiph ppuwiywjotiphg: Minbnph Jubqueht dnmpbbwgm
wuwhp npnpnud G0 77 U 7% dhowlyuyptipnud tpyne @ W v Yapbipp, npnip
hutwyuypuuppnmbwpwp gniyg G pughu wyb dudwbwlp, nph pbpwg-
pmu ninunpp whbgp £ uguuh dhbgh g juyg Gpeniunm hwenpn (ppudywjp
quin: Ghpunntiny, np v b v wpdtipbtipp hwjwuwpwhbwpuwynp &b 77 b
T dhowljuyptinmd, qupity ubqunht dniptignn ninlinph ng witijh pwb
0 <t <min(7T1,Ts) dudwbwly vyuwubim hwjuwiwuinpnibp:

118. fymdpnup futinhpp: Swppnpyniop pudwiywd £ hpuphg 2a ht-
pwynpnipjul Ypuw qpiygnn gniquhtin nunpnbtpny: Nwppniyejud Ypu
wuwpwhwwinptt ggnud G 20 (I < a) Gplupniypyni niiignn wubinp:
Quplt] npu npuk mnnp htap hunpybpm hwjwbwlubnieymop:

119. Aipypputh pupudhypmpyniop: Gpowbh dhe «yunpuhwlju-
Onpkb» Yapgimd GO dh jup: Phgyhuh” hwubwubngg judp npu Gplju-
pninibp Yghpuqubgh opowttht tingdywd Jubtnbwynp inwblyjuwb Ynn-
vh bplupnipwip: Wpnyniopp uppdwd b, ph hbswbu yppudwpwibi
«gjupuhwlubnpbb» punp:

120. | Gplupnipnih mbtgnn hugpwdh Ypu wupuwhwljubnpto
tpmud b ipym Ytg: bogh” Ehwjuwuwp w) upugud bptip hwpjwidibphg
towiblymb jupngbjn hwjwiwubnp)nibp, p) thnppugnyb dwuh tp-
Jupnipynibp é—l‘l[l sqtipuqubgbint hwjwbwlwbnip)nibp:

121. R pwununhn nbtignn opowliugdh Ypw wunpuhwljubinptt tpynid
Lo A, B b C yypbpp: 9qpotp ABC towbljub w) unipublyynid, p) hw-
Juwuwpuwupnih thbobnt hwjwbwlubnie)niop:
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122. Qapbity yjmpupwbs jnipp a-hb sgipuqubtignn Gplupnipynid nbt-
gnn tiptip yunpuwhwljubnpbt yepgpud hwpywdtitiphg tinwblyymb ju-
pnighint hwjwbwlwbnie)nibp:

123, Swupunit wpwugnipjudp yyppynn ujuduowyh wesl gpp—
opynud £ 2h tpupneynid nubtignng hunpuidp, npp quuwynpjud
ujujwnwyh htiyp dhuonyb hwuppenpud ypuw wybybtu, np dhetwlytgp
ujuyunuyh YEbppnth htigp dhwging ninhnp nuinnuhwjwg £ hugpyudh:
dwiwiwih ywypwhwwd ywhhb opowbugdhg onpwthnnh ninnnipjuip
prsnd £ vh dwubhy: Qupdly dwuthyh hwgpwdh ypw puyobkne hwjuw-
twubnipynibp, bGet hupywoh hbnwnpmipymbp ujujunwyh Yabgn-
nnihg hwjwuwp k I-h:

124. 7 punuighn nibitignn gbnuale dwubhyp wuypuhwljubnptb nin-
nuahq Ytpwny pbyonud £ punwnuuh poheotiip niiignn phip dtipunuup
dwnh Yypw: Snphgnth htap dwnh uquigwd wilymbp hwjwuwp £ -,
dbunuquph ppudiwughdp hwjuuwn £ d-h, dbpunupupbph wnwbg-
pwjhl gdtiph vholt hinwynpnipynibp’ /-h: Qapbty dwubhyh dwnh dhony
wquup whgbbnt hwjwbwlwbnienibp:

125. Qapbty wgh wyuypbgiud hwjwbwjubnpniop ujubuthw-
Ungp dwpypuibghne nhiypniy, Gl wjubitpp puuuwynpjuwd b owppny
hpwphg L htinwynpnugjub ypw, huly Gwyh ninnnueyniop wuwbbtph gdh
htip Juqunud £ o wblyynih: Ludh nignmipyub hwpnuip wubbbph gdh
htip hwjwuwpwhbwpuwynp £ gubjugwd Gtapnd: Luydh jwybngeniap
hwjuwuwp k£ b -h, hul wwbdh ppudwghdp d -h:

126. Uniqubiunp v wpwgnipyudp swupdynd £ L jwjbnienih nubbkignng
btinnigh Gpupnyeyudp: Mwhwljubwyp Jupuwpmd £ doypuub npnbnad,
pwpdytny dtnnigh qujbpny v wpugmpyudp: Luh Ypw phnunpyud
hwjppbwpbpdwt gnpdhph gnponnmpEjui htinwynpmpEniop hwjwuwn
r -h (r < L) : bbgwhuh” hwjuwbwuwinpjuip gquhujuiwp jpugu-
hwjiph uniquibuyp, et uniquiuwgh b bwgh ninnnipnibbtph hwgpnip
hujwuwpwhbwpwynp £ dbinnigh guijugwd Ytpnud:
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127. bugwhuh” hwupnipynih wtigp L nidbbw dypununpuidp, npuybu-
gh Ynnh Yypu phyotnm hajubwuimpmbp hwmjwuwp (hoh %:

128. Wypnpniuh ubquehh jmpupwbsjnip snpu pnytib vy dnipbiinid
I A gdh wypnpnup b jnipuipwibjmip Ytig pnugkt dbl B gdh wjypnpnuup:
A gdh wyynpnwuh b B gdh wikbwdnp wfypnpmuh jubquehi dn-
tbwnt wwhtiph dhol duiwbwjuhupyuop hwjuwuwpwhbwpwynp
0-hg dhbslt 4 pnwti: Gk htpyw; yugpuwhmgpbtph hajuwitwubnie-
Jnibitpp w) wpwehtl Unpgnn wyynpniup A gdh k, p) tpyne pnwbh
nbhpwgpnud Yunipttw npuk gdh wyypnpniu:

129. Gapity ar’+bx+c=0 pwnwnup hujuwuwpiwb wpdwbbph
hpwlub hogm hujubwlubneniap, Gt a, b, ¢ gnpdwljhghtiph wp-
dtpttipp hwjuwuwpwhiiwpuynp i 0 < e <1, 0<b <1, 0<ec <1
unpubwupnnud:

MNupiuitujut hujwtwljuitnipynia
Mupuwhnyputiph b thnpatph wtjwhunipynup

Yhgnip (2, F, P)-0 hwjwbwuwiwht pwpwdmpmb t, B € F
L P(B) > 0: A wquypwhnyph yujiwiujud hwjuiwjuinpmit B
wuwpwhnyph hpwjwiwgdwb ywjdwinud npnpynd £ htplyw pwbw-
alny
P(ANB)
P(B)

Wn hwjwuwpmpymbp Jupbh £ gpby haplywy phupnyg
P(ANnB)=P(B)-P(A/B):

P(A/B) =

Jbtpoht pwbwalih pinhwipugnib £

P(AlﬁAgﬁ...ﬂAn) =

= P(Al) P(AQ/Al)P(Ag/Al ﬂAQ) s P(An/Al NAsN.. .ﬂAnfl)
puwlwalp:

A b B wunpuwhnypibpp wiwju b, bpb

P(ANB)=P(A) - P(B):



29

Ay, Ag, ..., Ay qupuhnypibtpp wblwh Gb pup hwdwhidpmpyub, bph
P(Au N Aig n...N Azk) = P(A“)P(Am) ce P(Azk) guiljugud k£ =
2,3,..,nbl<i<in<...<ip <n:

Bwijugwd A b B wuwypwhnypitph hwiwp ptnh noh htgqlgyug
pwlualp

P(AUB) = P(A) + P(B) — P(ANB) :

Linhwinip nhiypmy gubljugud A1, Ag, .. ., A, wuypuhmpitph hw-
dwp (n > 2)
P(U4) = Pa)- T PANA)+ T PUANANA-
i=1 i=1

i>7 i>5>k
n
ot (—1)n+1P <n Az>,

npp Yngynud £ jgdwh ZLL llupqlulpudul[l pwlwadl: Gohpunpkbp, np jmpu-
pwbgynip Gip uipugynid £ wnwidhtt thnpdh pbpwgpnd: el wnwbdhh
thnpahb ypupbpnn gubjugud yunpuwhnye wbuwhu k djna thnpdtpht
Ytpwpbpnn guijugwd yunpwhnyphg, wyw Juubip, np nbtiop wbwha
thnpatiph hwonpujubnienib:

Yhpwplybip Gpynt juiwyuljut G; b Go thnpabp b Gowbwlytbp
(Q1, F1, P1) U (Q2, F2, P2) npuig hwiwyunpuupuwinng hwjwbwuw-—
wjht pupwdmpnibtbtpp: Yhypupybbp twb (2, F, P) hwjuiwlwu-
Twyhl pupudnpyub «pupns thnpd, npptin 2 = 21 xQ-0 Q1 -h b Qa—
h nhjuppyui wppunpuit £, huy F-p dhohdwy o-hwipwhwhyo £
wowowgwd Fi X Fo = {B1x By : By € F1, By € Fo} mnnubljniubtiph
Yhuwhwbpwhwyhg:

Wund &0, np G b G2 thnpabpp wijuwpu 6o, bt guiugud By €
F1, Bz € F5 hwdwp qpinh nh

P(B1 X Bz) = Pl(Bl) . PQ(BQ) = P(Bl X Qg) . P(BQ X Ql) :

G1,Go,...,Gy thnpatiph wiuwpunmpmniop vwhiwbynd £ odwd auinyg
htiplyw) hwjwuwpnipyub shongny

P(Bl X 32 X ... X Bn) = Pl(Bl) . PQ(BQ) EE Pn(Bn),
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npptn B € Fr, (Q, Fi, Pr)-0 G, k = 1,2,...,n thnpaht hwiw-—
wuypuuppubnng hajubwubuwht pupuwdnipymoh t:

Q

130. Ltipnud &0 tipyne quun: Gapity Gpynuuh Ypwe ) «5» pugybtipnu
wyuyiwiuut hwjuwbwlubnipynibp, Gt hwppbh k, np pugyud vhw-
ynputiph gnidwpp pwdwinnud £ 5-h:

131. Llapnud &b Gpyne qun: Qapoly wnbjuqb dbl whqud «6» pug-
Ybint hwjwtwuwbnpynibp, Get hwjypoh £, np pugwd dhwynpbbiph
gnuiwpp hwjuwuwp £ 8-h:

132. Ltiypmd GO tptip qun: boswhup'd E ngpubghg wnbjuql dbyh
Ypw «6» pugybtiint hwjwbwlwbnyenibp, tpt quntph Yypw pugyby Go
qupptip bhuptip:

133. Wywgngti, np P(B/A) > P(B), tpt P(A/B) > P(A),
P(A) #0:

134. Qyugmgty, np P(B/A) > 1 — %, npptin P(A) # 0:

135, Wyugnighif, np tpt A W B wwpuwhnypbtpp wihwdwgtinbih
b W P(AU B) # 0, wmyu
P(A)

P(AJAUB) = 5op 5y

136. Yhgmp A b B yyupuwhnypibtpp wiwp b b A C B: Uugu-
gmghy, np P(A) =0 qud P(B) = 1:

137. Waqugnighi], np biph A wunpuwhnyph wilwju & hptbhg, wyw
P(A) =0 Jquui P(A) = 1:

138. %hgnip P(B/A) = P(B/A), P(A) # 0, P(A) # 0: Wywugnghi,
np A-0 b B-0 wiuju Gb:
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139. A U B wunpwhnypbtpp withwdwpbntih &b, P(A) # 0 L
P(B) # 0: Gwhyw] &b wprynp wyn wupuhnypbtpp:

140. A . B wupwhnypbbtpp wiluwfu G Gwhywi GO wpynp ht—-
nlyw; wuypwhnypbbpp w) Aw B, p) Al B:

141. Waqugmghy, np tph A wquypwhnypp wiuhe £ B; b By wi-
hwiwptinth wuwhnypitphg, wyw A-o b B; U By wbijwju Gi:

142. Ltpmud &b tpyne quin: Ympupytiip htplgyw) wunpuhnypbbpp
Ay = {wnwghll qunh Ypw Ypwgytkh qnyq pyny dhunjnpitip},
As = {tipypnpn quinh Ypw Ypwgytl Yty pyny dhun|npbtip},
Az = {pwgqwd hunnpltiph gnutwpp Yl £}

Wuugnighy, np Ay, Az, As-p qniyq wn gqnyq wilwfu bb, puwjg pup
hudwhipnieyut wtjuwju skb:

143, Lapmd GO tpyne quin: X5-0 ¢ -pnp quieh Yypw tipllwgnn dhunp-
ttiph phyt £ (¢ = 1,2): Yhypupytitp htplyw) wupuhnypbtpp

A1 = {X,-p pwdwdymd k 2-h, X,-p pwdwbymd £ 3-h},
Ag = {X,-p pudwdynud k 3-h, X, -p pudubymd k 2-h},
Az = {X,-p pwdwdynud t X,-h}:

Ay = {X,-p pudwdynud t X -h},

As = {X, + X,-p pwdwdynud k 2-h},

Ag = {X, + X,-p pwdwdynud k 3-h}:

Qb wijuwp yupwhnypbtph pninp gnygbpp b Gejwybtpp:

144. Unwohlt uwthnpp yupnibwynu £ 5 uyghypuay, 11 ule b 8 updhp
qbnhyotip, huy Gpypnpnp 10 uwhyppuy, 8 ult b 6 Jupdhp: Snipupwb-
¢jnip uunhnphg hwbnud &b dkjujut qinhly: @bt hmbwd qunhlbtpp
vhlonyb gnybh (hotne hwjuwbwubnienibn:

145. Uuthnpp wupnibwynud £ 2 uyghypuay, 3 ule L 5 jupdhp gnhlybbp:
MNupuhwluwbnptt hwimd G0 3 qnhYy: 9pbt] nhwbghg gnit Gpynwuh
ypupptin gnybh thotpne hwjuwbwuwbniymbn:
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146. Gpynt hpwaéhg, npntilg hwdwp phpwjuht nhystm hwjwbwlju-
Onipgnibbbpp hwdwyunpuuppwbwpwp hwjuwuwp Gb 0,7 b 0,8, ypuwhu

Lb dtjulwb Ypwyng: Qapity phpwiuht w) wenbjwgb Uty wiqud nhy-
shi, p) dhuyb dbl whqud nhyghine hwjwbwubnigembn:

147. btg-np dtp dnnwgtj £ hinwjunuh hwdwph Ybpohtt pyubpwin
L hwjwpnud £ wjb wuypuwhwwinptb: w) bogyhuh” hwjwiwwbnie-
Judp bw uphwywd Yihth quibgh) ng wyby pwb tpbp wiqud, p) hbswbh
thnjuyh hwjwbwlubnipyniop, Gt hwpnbh thotp, np yipohtt pyubpwbp
gt E:

148. Opwgph 25 hwpgtiphg nuwbnnp ghypp dhwyb 20-p: boswyhup”
hujuiujuinpudp tw juupuujpwbh hpbh wnwewnpud tintip hwip-

gtpht:

149. Jhtwluwpiwnh vty ppniuny swhtnt hwjwtwwbnieniop hw-
Juwuwnp £ 0,8: bboswyhup’t £ 2 qandu nbignnh pwhbtynt hwjwbwljubni—-
[ejnibp:

150. Jhdwlwjpuwnh n yndubiphg {-p pwhnn k: QG atinp E pipnud &
yndu: bogwhup’t £ opubghg gnit ukh swhnn (hotpn hujwbwljubn-
[eynibp:

151. Qyugmgty, np A b B wbhwiunpbinbih wupuwhnypibph hwdwp
hwuwiwlubnienibp, np wiuh thnpabpnd A wunpwhniep hpulju-
twbhw B-hg wnwye, hujwuwnp k

P4
P(A)+ P(B)

152. Yhgnmp A1 N Ay C A: Qyugmghy, np
P(A)> P(A;)+ P(A2) — 1

153. Cpowbht OLpgdYwd t pwnwlynwh: busyhuh” hwjwbwlubn-
pjwip opowbdh dhe wunpuwhwluinpbb btyppywod hhtig YEptphg dbyp
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YgupinJh pupwynum Ghpumy, huly nwbbpp daiuiub jnipupubsjmp
utigutilnpnuu:

154. Eitypppuub onpwh fugnudp upnn £ qbinh nuobkbwy &5, ¢ =
1,2, 3yqpwppbiphg dtiyh 2wpphg nnipu quipnt wwpdwnny: Swppbpp 2wp-
phg nmpu &b quihu hpwphg woupe: Lowbwybbp pi-ny, @ = 1,2,3,
i-pn rupph pwpphg nnipu quine hwjuwbwlwinpyniap’ py = 0,3, p2 =
p3 = 0,2: Qapiity onpuh pquwb hwjutwubneynbp, tet pupptipp
vhugywd th w) hwenpnupwp, p) qniquhbn, q) k1-p hwenppupup,
huy k2 U k3 qniquihtin, n) wpweht tpynt puppbipp gmquhbe Gppnpnh
htap:

155. Gpiynm piunugnn hwenpnpupwp tpnd G0 Wbypunuinpuip: Gw—

hnud £ wjb hownwugnnp, nid dnp wybh onup Ypwgyh qbppp: @qoby
swhbtim hujwbwlwbnyembp jnipupwbs nip ppwnugnnh hwdwp:

156. Gpbip ppunuignn hwonpnupwp biypmd G dtypununpuidp: Cw-

hnud £ wyl ppwnugnnp, nud dnyp wybh pnup jpwugyh gbippp: Sqbty
swhbtin hwjwbwlwbnye nmbp jnipupwbs np ppwunugnnh hwdwp:

157. Uwthnpp wupnibwynd £ ¢ ughypuly b b ule giinhyotp: fJownh
tpgnm dwubwhgbtp hwonpnuwpwp hwbtnid G uunhnphg dkuljub gpo-
nhy, jmpupwbsjnip wbhqui Ytpunupabtny wyb bGyp: Gwhmd £ wyh
fownuwignnp, npp wybith onup £ hwtnd vyl qiinhyp: St owhtpm
hujubwubnpmbp jnipupwbsjnp pwnugnnh hudwp:

158. Gpiyn hpwahg hwenprpupwp Ypuynd G phpwjpuht dhosh winw-
oht nhuynty Ypwyngn: Bhpwpht nhwshint hwjwbwlwinipnibp wnw-
ohli hpwahgh hwdwp hwjuwuwp k£ 0,2-h, huly tpypnpgh hwdwp' 0,3-h:
higuyhup” hwjwbwubnpjudp wnwehl hpwdhgp Yyupuph wtih pugp
Ypwyng, pwl tpypnpnp:

159. Lutnpymbp hwenn hwbdbtint hwjwbwlwbniyeniop tiptip nuw-
Onnbbtphg jmpupwisjniph hwiwp hwdwyupuuppwbwpup hwjuwuwp
L 1/5, 1/4 L 1/3: Swpybtyp hwjwbwwbnipynibp, np phbmpniip hwonn
yhwbatkb wyn 3 muwbnnbtphg gnbk Gpynuup:



34

160. Uwthnpp wupnibwymd E 12 qbnhy, npniighg 4-p uyhypuly
Lh: Gptip juwnugnnitp hwonpnupwp wowbg Ytpunupdh hwbnmd G
dbuub qinhly: Swnpmd £ wyb punugnnp, nd wybjh pnup jhwbh
ughyppuy gnhyp: 9apbty pwhbnt hmjwbwubnipnbp jnipupwbs jnip
hnwnugnnh hwdwp:

161. (Fuquynpp 2 tipkjowbtiphg punugwd piyqpwbhphg E: bhgyh-
up” hujubwlubniyeudp djnu Gphjuwb opu poyph k:

162. Npnpwh hwdwjbph pypwbhpubph 36 yinynup onih £ yyuhmad,
onill nitignn pputhpbiiph 22 wypininup wwhnd £ twl jupne: APugh
wyn, wyn hwdiwjbph piyputhpttiph 30 ynynup wwhnd £ ugpne: bogh”
L hwjuuwnp.

w) hwjwiwwbnpniip, np yupuhwuwinpbd pippywd phgu-
Ohpp nubh W onih, W Guunt,

p) wuwyiwiwwid hwjwiwwinpinip, np yupuwhwlubnpbb po-
npjwo piypuihpp wwhnd k omb, Gel wyd wywhmy £ jugn:

163. Npnpwijh pnitish nuwmbnnbtiph 52 ynlnup hquijub ubkinh Gtip-
Juyugnmighstitipn tt: Wu pniioh nmuwbnnbtiph hhtig yinynup dwubwgh-
nuibnu £ hmdwupgswiht ghynyejud vbe: Qtuwbnnbtinh tpynt yaninup,
npnbp unynpnud B0 hwdwuipgswhtt ghyppnieymb, wnohlbttin Gt Qapty
wyuyiwiuud hwjubwlubnipynibp, np wuypuhwljubnptb phippdud
nuwbnnn

w) hquiuwd utinh b, hwpyh webdbny, np bw dwubwghypuimd L
hudwljupgguihtt ghypnipywb dtg,

p) dwubwghputnd £ hwdwuwpgswhtt ghgnipyuib dbe, hwpyh wn-
obtny, np bw hquuwb utinh k:

L

164. 00, 01, ..., 98, 99 pytinny hwdwpwluwd 100 puppptinphg ww-
puwhwljubnptb ploppnud G0 dkyp: “hgnep € b hwiwyupuupuwbwpup
pUppwd pwpph pYwbipwitiiph gnudwnb £ U wpypunpyuip: Spity P(§ =
i/n=0):
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165. Qpuutinuimd twiwlh qpoygbnt hwwbtwlubnmpniop hwjw-
uwp £ p-h, pbn npnud hwjuwuwp hwjuwbwjubnipjudp wyt jupnn k
(httip utinubh mp nupuibtphg gubjuguwond: Uipnigud jnp nupwl-
Otipnud wdwiyp sh hwppbwpbpyby: Phsyhuh” hwjwbwubnpjudp wjh
Uqungh 8-pn nupulynud:

166. Wyugnighy, np ph A, B, C yuypuwhnypbtpl wiljup Gb pup
hwiwhdpmpjul, wyw w) AW BUC, p) A B~ C wiuwju bb:

167. Rtipty ophtwy, npp gnyg E quihu, np P(A4; N A N A3) =
P(A1)-P(Az)- P(A3) W P(A3) > 0 wwyiwihg sh pumd P(A1NAz) =
P(Al) . P(Az) N

168. Ltapymd E Lpynt quin: Lowbwlkhp
A; = {wnwohli qurh Ypw tpliwgnn dhwynpbtph phyp pudwiymd
[-h},
By = {tpypnpn qunh Ypw tpliwgnn dhwynpbbtiph phip pudwingnd £
l-h},
C; = {tpynt quetph Ypw tplwgnn shwynpbtiph gnudwpp pudwignud
Ll -h}:

Wiw’fu GO wprynp htiplyw) wwpwhnypibph qnygbpp w) A;, By
guilugwd [- h & k-h nbwpn, p) Ag, Ca, q) Ag, Cy :

169. (0,0), (0,1), (1,0), (1,1) ququpbtp nbtgnn pwpwyniunt dhy
wupwhwlwinpbb tpymd £ M Ytapp: “hgmp (1, €2)-p wyn Yaph Ynnpphiunpbibtpt
tb: 7 -h nf wpdtipbtiph nbwpmd A, = (|§ —&| > r) u B, = (& +& <
3r) wuypwhnypubpp Yihtth wijwhu:

170. Cuyp bwhinpn fubnph wwydwbbbph, nhgmp A; = (& < 3),
Ar = (& < 3), A3 = ((&1—3)(& —3) < 0): 8nyg quy np A1, Az, Ay
wuypwhnyRbtpp qnyq wn gnuyq wbuwhu G, puyg puyp hwdwpidpnipjub
whuwju skb:

171. Lonhwipwgbtyny putnhp 170-p gnyg qwy, np guijugwd wi-
pnno 1 > 4 hwdwp gnynipymbd mbh wupwhnypbtiph {41, Ag, ..., Ay}
hwdwhudpnienil, npb mbh htplyw; hwupynuenabbpp
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w) Aj, Az, ..., Ay, quypwhnypibpp udpnyht wiwju ¢k,

p) A1, Ag, ..., A, hudwpuipnipniihg gubugud wyupuhnyp ht-
nwgbbinig htipn dwmgwd yuypwhnypiutpp puyp hwiwpdpnipyub 4p-
1htkl wbljuju:

172. Unwohti uunthnpp wwpnibwymu £ 2 uyghypuy b 3 ul ghnhyobp,
tpypnpnp’ 2 uyhypuy b 2w, Gppnpnp’ 3 uwhypuy b 1wl ginhyobp:
Wnwohli umthnphg tpypnpnp pnuithnpuymd £ yugpuwhwljubnpth gbp-
gppwd ukl qinhy, tpypnpnhg Ytipgpwd qinhyp” tppnpn, wwyw bppnp-
nhg wnwehli uunhnp: w) Apngtp wpwghtt uuwthnph wikwhwjwiwwb
wuwpnibwympynbp, p)hbsyhuh” hwjuwiwyuwimpudp pninp uwthnp-
Obph yupmbwlnpnop jubu withnihnhu:

173. Uwubwghpwlub gpuubnienid npnbbjhu, niuwbnnp npnatig
wyghit tiptip gpunupuib: Snipuwpwbsnip gpunupuih hwdwup hwjw-
uwpwhbwpuynp £, np wyn gpujubnpnmbp guqpoynud £ wypbin, Jud
sh qpymd, hul Gpt qpiymd £, wyguw hwjuwuwpwhbwpuwynp £, np
qruntignud k wjb wy) pbptngnnh Ynnihg, pt ng: Oht £ wybih haubw-
qub 4qupbh ntuwbnnp wyn gpuljubnigmap, ph ng, tph gpunupubbbpp
hudwpymud G dthp dyniuhg wbuju:

174. Wywgnghp, np tpt A1 NAsN...NA, C A, wyu
P(A)> P(A1))+P(As)+...+ P(4,) —(n—1):
175. Wyuwgnighy, np guiugwd tpym A b B wunpwhnypibph
huiwp ypinh mbh hplyw; wnbsmpnup

1
|IP(ANB)— P(A)- P(B)| < 1 :
176. Wywugnigh;, np gubuguwd A U B wunpuwhnypibtph hwdwp
ybnh nuith htiplyw) withwjwuwpnipymop

P(AUB)-P(ANB) < P(A)-P(B):

177. ibbkbp tpbip qnuyg we qnuyq wiljwp ywypuwhnypitp, npnbp
huwdwnptin hwinmbiu qup s6b Jupnn: Gopwnptip, np bpwbp pninpb g
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nibbkl vhtnyt z hwubwluwimpmbp: Gapbt] z-h dtowgnyb hbwpw-
Unp wipdbpp:

178. R pwununhn nbtignn qiinh Gtpund wunpuhwljubinptt b hpuphg
wiluwfu tpwd G N Yaphp:

w) high” £ hwjwuwp Yainppnth b bpu wikbwdmp Ytgph dhol tnwd
htinwynpmpjub r -hg ng yuwu thotim hwjuwbwmubnpjnian,

p) bogh” & hwjuuwp w) -nud upugduwd hwjwiwubnpyud uwh-
dwbp, tpp R — oo L % — %77)\:

179. Unitiynyp, npp £ = 0 wuwhhb pwpudty E djnmu dniiyniht b dhigh
t wwhp sh mbbkghy ng dh niphy pwpunud, A A t40(A t) hwjubwlwinie—
judp (t,t+ A t) dudwbwludhongmy Ymbbbw Gnp pufumd: Qpbby
«wuqup yugph» t-hg utd (hotm hwjubwlubmpmbp:

180. Fumudpp punugud k & phtighpujub dwpdhbotphg, npnbghg
Jmpupwbsynipp wbuhn yynuubtinphg hwyypbowptpmd £ nwnhninughnt
Jquyubny p hajubwuinpudp: Uupdhbbbph ppnudpp nhpynd £ hpu-
nhg wbwju gnponn m nwnhninughnt Juywbbtpny: bty udph ng
pninp dwpdhbbbph hwpypbwpbpbine hwjwbwlubnieyniop:

181. Npuk hwdiwwnpgh hntuwihnyenit o wijwinwd hwuqpugpyud
dudwbwluwihongnid npu wthiwthwd wyhuwpuwiph hwjuwbwwubnien-
bp: Epyppuuib snpwl punugwd £ w) gmgquhtn, p) hwenpnupwp
dhugywd 21, 22, ...,2r nhiwnpnipnbitphg: 3mpwpwbsjnp nhiw-
npnipjwh hntuwihmpjmbp hwjwuwp £ p -h: Gqibby onpwih hntuwhm-
[eynibn:

182. Uwithnpp yupnibiwymd £ a uyghquay, b ule b ¢ yupdhp qhnhyobp:
Uunthnphg dtyp dmuh htaipthg hwbnmd G0 opw dbe qupinn pninp
qunhybtipp, bpkny bpwbg qnuybp: Spdty vyhgpuy ginhyh ubthg 2nup
tpliwnt hwjwbwwbnye nibp:

183. Cinpptiiny uunhnphg qunhyotiph pnipu hwitin hwdwwyupuu-
huwbh vputidwl, wpmgly htplywy Onybmpmbbbtpp
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184. Uunhnpp wupnibwynud £ tpym qinhy uyhypuy b ul: Uw-
thnphg hwind Gb dtujub qinhy dhboshe ult giinhh nnipu quip, pong
npnud, uyhypulyy qinhyh hwotine nbypmyd wyb tp £ yopunupaymd
wytjugymd E bu 2 uyppuy qinhly: bosyhup” hwjwbwubnipjudp
wnwohli 50 hmbwd qinhyiotpp Yhbkh vyhypuy:

185. Uwthnpp wupnmbwymy £ n 4 m dhwbdwb qbnhly, npntighg n—n
uyhypuy k, huly m-p’ ule (m > n): bpup htiplhg wowbg Ytpunupah
n whqud hwind b Gpnuuuitt gbnhYy: bt with wbqud pupptip
gnybh qinhfobp hwmbbm hwjwbwljwbnie)niop:

186. A1, Aa, ..., Ay yunpuhnypibpp wijwp G0 pup hwdwpidpm-
pjwl W P(Ay) = py: buswhuh' &

w) Ag, Ag, ..., Ay, wuypwhnypbbphg ng dkhh pbnh snubbbwgn,

p) A, Ao, ..., Ay wupuhnypbtiphg gnit dtlh pbinh nibbbwn,

q) Ai,As, ..., Ay wuypuhnypitphg dhwyd dthh pbinh nbbbwm
hujuwbwubnpmnbnp:

187. %hgmp A, Ag,. .., Ap-p wiuwpu quypwhnypdbp th b P(A4;) =
pi, © = 1,2,...,n: Qyugmgh], np wyn wupwhnyplbtphg gnit dkyh
tpllwint P hwjwiwuinpynmbp pujwpupnd

n n

- > pi
g pi>P>1—¢ izl
i=1

wihwjuwuwpmppmbbtphb:

188. bhg-np dtip » hwugbwptiptiphtt twdwyotp £ gpj, npniighg
jnipupwbgnipp nptp £ wnwbaht dpwph dte L jnipupwibsnip dpwph
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Ypuw wunpwhwluwbnptt gpp » hwuglitiphg dtyp: bt gniob by
bwdwlyp Shoyp hwugting mnupybnt hwjwbwljubnip)nibp:

189.1,2, ..., n pytpp nuuwynpwd Gh yupuwhwlub jupgny: bog-
whup’t t pytiphg gnii dtYh pp ptinmd gypidbne p, hwjuwbwljubn-
pynilp: Qapiby ILm Dnt

n—oo

190. Muypuhwlwbnptb pyppymud £ n-pn qupgh npnpsh Jbppm-
onipjulh wihnudbtphg dtyp: bogwhup” p, hwjuwbwluinmpudp wib s

wupnibwyh guwynp wblynbwgdh pwpptipp: Gapat li_>m DPn:
n—oo

191. Qwhihénd Ju n pbin: Sndutipp hwdwpuwuiwd G b pnjnpp
Juwnywd: Swinhuwptubbipp yuypuwhwluinptb qpuntignd b k-
nbpp: Gapibp hpbywy wuypuhnypitph hwjwbwluwbnienibbbpp.

w) dhwyt m (m < n) hwinhuwgpbu Guwd Yhokd hptog pbntpnd,

p) ng uh hwinhuuwnpbiu tupud sh 1hth hp plinmy,

@) qubty p)-md npnoywd hwjwbwubnieyud uwhdwbp, bpp

n — 00 :

192. n Jwgnbbbtphg punugwd Ltjppuqbwugp b pupapubnid
k (k > m) ninunp, npniighg jmipupwbsmpp wunpuwhwubnpbb ply-
nnud £ Jugnbbitiphg dtiyp: bty jnipupwbsnip Jugnh wnbjuqb by
ninunp pupdpubwn hwjuwbwuwbnipnibn:

Lphy hwjwiwljuinipyut b Awjkuph puwtwalitipp

Yhgmp mbbkbp (2, F, P) hwjuiuuiughlt qpupudnipymb: Gph
Ay, Ao, .oy Ay qupuihnypbpp Juquimyd Gb (phy punuwdp bW P(4;) > 0,
1 =1,...,n, myu guijugwd B yuypwhnyph hwdwp ptnh mbh phy
hwjuwiwluimpjub pubwalp’

P(B) =Y P(A;)- P(B/A;):
i=1
Lphy hwjwiwuwimpjubd pwiwalp ptnh nibh twle hwoyth pYny

wwipwhnypitph hwiwp® tpb {4;}°; wwypwhnypitph hwenpuljw-
Onpyniib wybwyhuhtt £, np
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1)A; mA =g, i#j, P(4;) >0,
2)B C U A,
wyw gul[lllulgulb B wyuypuwhnyph hwdwp

ZP P(B/4;) :

Puybuh pwbwabp: Gt pujupupjuwd b phy hwjuiuubnipub
pwbwalh pnpnp yuwydwbbbpp & P(B) # 0, wyu

P(A,/B) = f(A’f)'P(B/A’“) Ck=1,2,...,n:

;P(Ai) - P(B/Ai)

Puyjbiuh pwbwalip phnh mbh dwb hwpytih pyny {4;}5°; guypu-
hnypttph hwdwp:

Q

193. dnuihtingh 28 pwptiphg yunpwhwwbnptb ytpgnud &b tpynuup:
bogyhuh” hwjubwlubmpudp Gpubp Jugqutb snpw’ hudwaw;b w-
nh Jubnbbtiph:

194. Gpynt vwithnp Wupmbwymd o hwdwyuwpuupwbwpwp mg
L mo ughypuly b n; b ne ult qhnhybbp: mpwpwbsnmp uuhnphg
wuypuhwlwbnptb Yytipgnud Gb vkjuljub qinhly, wyw wyn tipyne gpo-
nhyiutiphg yuipwhwwinptb pyppnud G dtyp: bosyhuh’o £ wyng qbnh-
yh vyhmpuy (hokm hajwbwubnienbp:

195. n qinul wuwpmbwlnn uvwthnph dbe qgyby £ dby uyhypuwy
qbnuly: Gpbt; vuthnphg uvyhpuy qinuy hwbbn hojuwbwuwbneym-
Op, Gpb pninp hbtwpwynp Ghpwnpnieynibbbpp uyhypuy qinuybtiph
uljgpiuut pwbwmyh Yypuwpbpjuw; hwjuwuwpwhbwpuynp Go:

196. bpbip uuthnpbtiphg jnipupwbsmpp Wupnibwymd £ 6 ub b
4 uyhyppuy qonhyotin: Unwehlt uwthnphg wyuipuwhwwinptd Yytpgpwo
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qunhyp plnuthnfund £ tpypnpn vwithnp, wuyw wynptinhg wugw-
huwijubnptt yipgpwd qinhiyp pinuithnfuynud £ Gppnpn uathnp: Sapbty
tppnpn vwthnphg yupwhwuwbnpbh hwiwd qunhyh uvyhypuy thotm
hujuwbwubnpnbnp:

197. n uunhnpitiphg jnpupwbsmpp wupnibwymd £ ¢ uvyhypuy b
b ult ginhlitp: Wowohli uwhnphg wuypwhwuwinpth Ytpgpud dky
qunhy pnuihnpuymd t tpypnpn uwtnp, wwyw tpipnpnhg bppnpnp L
wyb: dbpowybiu Ytipohtt uuthnphg hwimd b by qonhly: Snbt) pw
uyhypuy hotnt hwjwbwwbnyeynibp:

198. Muwbnnp ghyh ng pnpnp phiwub pndubipp: O nhypmd sh-
dugwd ypndu Ytpgbnt hwjwbwlwbneymbp Yhth thnppugnyb, Gpp
niuwbnnp Ytipgbmd £ qindup uygpnd, pl Jtipenid:

199. Wpwohl uwthnpp wupmbwymy k¢ ughipuy b b ul (@ > 3, b >
3) qnhyitip, tphpnpnp’ ¢ ughypuy b d ul qinhyatip: Woweht uunhnphg
wuypuwhwliwbnptb ybpgpwd 3 qunhl ppinuthnfunud G Gpypnpn uvwthnp:
Qi tpypnpn uwthnphg wuwypwhwluwinptb Ytipgpuwd qinhyh uwh-
iy (hotm hwjuwbwubnembnp:

200. Upynnud Ju phbhuh 15 qbnwl, npniighg 9-p Gnp Gh: Wowehl
howunh hwdwp wupuhwlwbnptt yepgmd b 3 qinuly, npnbp aownhg
htipn tpp G0 Jtpunupatnd wpn: Gpypnpn jpwnh hwdwp nygbybu
wupuwhwluwinptb Yyipgnd G0 3 qhnuly: boswhup’a k& Gpypnpn fawnh
hudwp ybpgpwo qbnulbtph soguqpugnpdywd thbbnt hwjwbwljubni-
[ojnibin:

201. Wpjwb thnpubbpupiwi dwudwiwly wtpp £ hwpdh wntt) nn-
Gnpp U hhyuwinh wpywb fadpbpp: IV judph wpynh mbbgnn hhywbnhb
Jupbjh £ thnpubbipupyt; gubugwd fudph wpymb, 777 judph wpynb
mbtignn hhwonht' 7 Ywy 777 fjudph wipymb, 77 fudph wpynit nilbgnnht’
I ywd 77, huly I pdiph wipymb nuitignn hhJwibinht' * dhuy@ 7 jodph wpymb:
Puwlsmpjwb 33, 7%-p mokb 1, 37,5%-p 11, 20,9%-p 111, 7,9%-pn
IV padiph wpym:
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w) biswhuh” hwjwiwwinpuip yupwhwuinptb pyppuwd hh-
Juwinhtt qupbih £ thnjubbipupyty gupuhwuinptb pgpud gninph
wpynih:

p) biswhuh” hwjwbwubniyeudp Juptih & hpugnpdt) wpjub thnpu-
Obpwpynudp, Geb bGtpu tb nninpbtiphg Gpynwup:

202. Gpynt hwuying wpyunpnud G0 hwbdwb dwutin, npnbp niquipy-
ynwi G pnhwinp wwhbuy: Unwohtt hwuyingh wpypunpnnquijubini-
pinLhp tpynt wbqud Utd £ tipypnpnh wpgunponnujutingenibhg: Unw-
ohti huwupngh wppunpuiiph 60%-p pupap npubh k, hul tphpnpnhah’
84%-p: Mwhbtiuphg wunpuhwlwinptb Yipgpwd dwup pupap npulh k:
bhigwyhup” hwjubwuinyeyudp wjbh wppunpjud t wnwehh hwuypngh
Ypu:

203. Ntinjniu wpypunpnn gnpdwpwih A, B, C hmuypngbbpp wpgpun-
pnud GO wdpnne wppunpuiph hwiwwwpuuppwbwpwp 25%, 30% W
40%-p: Lpwbg wpypunpubph funpuibtp Jugund £ 5%, 4% W 2%: Mupuhwlub
Ytipgnwd htinynwup umpuitwd £ bosyhup” hwjwiwuwinpudp wyb
wpypunpjud E A hwupngh, B hwugpngh, C' hwupngh Jpu:

204. Bptip ppipwpwbwlbbphg jnipupwbs mpp yqupmbwynd £ 10
dwu: Luynpul] dwubtiph pwbwyp wnweht, ipypnpn b tppnpn jpdpwpw-
Owlbtipnut hwjwuwn £ hwiwyuwypuupwbwpwp 10, 7 b 4: Mugpuwhw-—
Juib fudpwpwiuhg yupwhwwb Yyipgpud dwup juynpuy E: Wb
GO Jyhpunupdabnd b onyb ppdpwpwbwhg Gpypnpn wbqud ybpgomd
th dty dwu, npp tnybwtu juynpuy k: Gk wyn dwuh Gppnpn udpw-
pwbwht yunpubbnt hwjwbwljubnie)nibp:

205. Shiug ntipuyiitiphg punugud fudphg wupuwhwljuinpth ytpg-
onud G0 vkhp, yupgymu £ np wyb umputdwd £: onputdwd nbiypu bb-
nh pwbwyp hwjwuwp hwywbwuinieyudp Jupnn k hiot gudugus:
Qb pnyputywd niypubbph pwbwyh Yytpwpbinpuy Ghpunpnipnib-
Obphg wikwhwywbwljubp:

206. Swyypbh E, np pnpnp pnudwpnuig 5%-p W pninp Jubiwbg
0, 25%-p gmuynyp Gb: Mupuhwuinpbt pyppjud Jwpnp punw-
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wnud £ gnibwympnipyudp: bosyhup’a ' hwjubwubnipymbp, np nu
pnuiwpn £ (pnuiwpnuig b jubwbg phyp hwiwpl) hwgwuowp):

207. Haipglitywb wipnigmuiny pnpwpnpuynph dn pnpwpuy hwjp-
bwpbptm hwjwiwuinpymip hwjuwuwp £ 1 — S-h: Wonne dwip-
nnih hhywinh ptn ponnubtyme: hwjuwbwuwinpnip hwjuwuwnp k a-h:
“Yhgnip pnpujupuynpbtipp juqund G wipnne pbwsnipjub v dwup:
w) Qapbbp dwpnne wenng (hbne wwjdwiwyuwi hwjuwiwywingegnbp,
bpb upnqiwd dwdwiwl bpwi hwdwpb) G hhJubn: p) Swoyt) hw-
Juwiwlubmpjui wpdtpp dwubwynp nhypnud, tpp 1 — 5 = 0,9, =
0,01;vy =0,001:

208. Uwubwghypugyud hhywinuingnu thohtt hwoyny 50%-p pu-
npuwynd £ A hhjuinmpjudp, 30%-p° L hhjubnnpjudp, 20%-p M
hhyubnnmpjudp: K, L, M hhqubnmpymbbtphg |phy pnuddbm hwjw-
Owlubniyeynbbbpp hwiwwwypuupwbwpwp hwjwuwp B 0,7-h, 0,8-h,
0,9-h: Anidynnibphg dtip wnnnowgwd nnipu k gpymu hhywbnuiinghg:
bogwhup"d £ hwjwiwwbne nibp, np bw pupwymd tp K hhjubnm-
[ejuup:

209. Uunthnphg, npp wwpnibwymd £ m > 3 ughypuy b 7 ult ghnhy-
otp, Ynpbp £ wbhwpp gnybh dty qbnhy: Opybtugh npnpktt uvwthnph
wupnitbwnpymbp, yupuwhwuinpth hwimd o Gpyne qiinhly: Qapbty
Unpwd qinhyh uyhypuy (hotim hwjwbwlwbnyeyniop, Get hwuppoh E,
np hwiwd qbhnhybtpp vyhyuly thi:

210. Uty Ypwyngny phpwjpuhtt nhysbint hwjuwbwuiniemnibbtpn

tiptip hpwahqbtiph hwdwp hwdwyupuuppwbwpwp hwjuwuwp Go %, %,

% : NSwiwquiply uygnt piypmy tptip hpwahqbtiphg Gpyniup nhwgmd G
Rrhpwhuhti: Gty Gppnpn hpwagh Yyphwbint hwjwbwlwbnye nibp:

211. Gpbp hpwdahg Ypuimud &b, pbn npmd Gpynwp nhwysnd Go
phpwiuht: Gty tppnpn hpwagh phpwuht nhygtne hujubwlu-
Onipgnibp, Gpb nhysim hwjwbwlwbnyenbbtpp woweht, Gplypnpn
W tppnpn hpwahqbtph hwdwp hwdwywpwupwtwpwp hwjuwuwn Go
0,6-h, 0,5 -h & 0,4-h:
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212. Wypnitiphin wpypunpnn - gnpdwipubp nippwp optiphtt wip-
punpmud E ywpwpwlut wppunpynn wfypnitiphbwbdbph 12%-p, huy
tpynipwpphhg hhtiqoupph’ dhwgwd wpypunpnipynitp hwjwuwp pw-
bwympjudp: Wppunpuiph funpubp nippwp opp juqumy k4%, tp-
ynipwpph W hhugowpph optiphtr' 2%, huy tptipowpph W snptipywpph
optphtr’ 1%: Upmquiwd hwiwp Jepgyuwd wypnibtiphbwd mbh gnpdw-—
puwiwhb phpmpynil: hosyhup” huwiwuingeyudp wyn wypnitipb-
Uwl wpyunpyty £ hhtigoupph opp:

213. Fnmip hubinpnud p hwpliwth, npytiugh tw oph atip dwnhyobpp,
tinp nnip qwp hwiquypubwne: Wowbg opbynt dSwnhlobtpp Ysnpuwbwb
0,8 hujwbwwinipjudp, hul optiiny snpubwnt hwjuwbwwbnipnibp
hujuwuwn t 0,15-h: 90 (pnynu hwjwbwuiiniyeyudp nnip Juipwh tip, np
atin hmplwbp sh Unnwbw opty dSwnhlbtinp: “+hgnip dSwnhlotinp snpuglyp
th: boswyhuht F hwjubwlubnigembp, np hwplwbp dnnwghy tp only
npuibp:

214. Upynnut Ju bptip dbquununpud: pwbdghg dtyh tpyne Ynnup
«gbpp» E, Yyniu dbpununpudp ubnbwynn £, hul tppnpnh dwbpnie-
Jub Jappnbp 2nguwd £ b 75 ypingnuny pwmgymid k£ «gtipp»-p: Wplnhg
wuypuwhwlmbnptb phyppnud Gb Wk dypununpud b Ggnud, nph Yypu

pugynud k£ «gbpp»-p: Posyghuh hwjwbwuwbnyejuip nu Gpym «glipp»
wupnitbwlnn dhypununpudb kp:

[L

215.1,2,3,...,n pytiphg hweonpnupwp yuipuhwuinptb pbyppnud

th tpynm phy: 9pbt; wnweohtt L Gpypnpn pYtiph dholt inud qwppbi-
nnipjul m-hg (m > 0) thnpp s;hun hwjwbwluwbneymbp:

216. t dudwbwlwihongnid htinwpunuwlwywimyd & Jubs upubwgn
hwjuwbwywinyemip hwjuwuwp t P (k) -h: Swdwpbiny, np gubugud
tinynt hwpliwt duwdwbwuwdhongbtipnud Jubskiph pytpp hpwphg wo-
Yuwhu &b, bty 2¢ dwiwbwuihongmy s ubs upubwne Poy(s) hw—
Juiwwimpjnbp: bogh” E hwjuwuwp Py (s) -p, tph P(k) = ()}:’!)k e M




45

217. “hgnmp mbbbp wpypupht phupny dhwidwb 7 uuthnp, pon
npnd 7-prp uathnpp wupnibwnud £ 7 — 1 jupdhp b » — 7 ughpuy
qinhybotp: Mupuwhwui pppyuwd uvunhnphg yugpuwhwlwuwbnptb hw-
onpnupwn wnwig Yyipwnundh hwtmd Gb 2 qinhly: Qapbb) 2-pn hwb-
Jwd qinhyh uyghypuy hobnt hwjwbwwbnye nibp:

218. 5 ={1,2,3,..., N} pwquinipjub pninp tipwpwqinipmbibph
hudwhipnieynibhg ytpunupdniny pyppnipjubd vpubdwyny pbyppnd
th A1 b A puwqimpynibbbpp: boswhup” hwjwiwluwinpudp A1 N
Ay = &

219. Gnpwd hbpbwphnh npnbdwd hwdiwp wnwbdbwgpt G0 10 mn-
nupehn, npniighg jnipupwibsnipp jupnn £ ogugnpdytiy npnbdud hw-
dwp tpym hbwpuynp ppowbibphg dtimd, npptin hopbwphep ju-
nnn £ qupidty 0,8 L 0,2 hwjwbwubmpymbbtpny: bohsybt wtpp L
pwfub mnnuphnbbpp puyp npnbidwd opewtttiph, npytiugh htpwpheh
huypbwptipbnt hwjwbwlwbnip)nibp hoh dtdwgnyb, bGpb jnipupwb-
synip nunnuhn hwypbwptipnud £ npnbidw opowtinid qupiynn hopbwh-
pp 0,2 hmjuwbwubnipjudp, hull npnbnuip upupynmad k jnipupwbs jnip
ninnupheny wiujpu dnwbbphg: Qpot] hopbwphep hwppbwpbiptm
hujuwiwubnpmip npnbdwd jujugnyb pupptpuyh nbypnid:

220. Muwbnnbtph funudpp punugwd £ ¢ ghpuqubghybtphg, b
wy b ¢ pny] unynpnn muwbnnbbphg: Lubnmpud dadwbwul ghpu-
quibghiyp wiputinud £ dhwyt gipuquig qowhunpujubitp, juy unynpnn
niuwbnnp hujwuwp hwjuiwljuimpuip gipuquig b juy ghwhw-
pwlubbtp, pny] undnpnn nuwbnnp hujuuwp hwjuwbwubngpudp
1wy, pujupunp b wmbpujuwpup qwhunpujubbbp: Lobnyenih b hmba-
ond wyn fudphg yupwhwlwinptb phyppwd bptip nuwbnn: bogsyhup”
hujuiwuinmpuip tpubp jupuiwb gbpuquibg, juy, pujupun
quwhuwpuluiibp (guijugwd Jupgny):

221. Npno Juypmu Y jwy opjw tinubwyp bwpunpn opdw wtu (hokijne
hwjuiuubnieniiop hajwuwp k£ p-h, Gpb bwnpn opp waapluwyhb Ep
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W ¢-h, tpbt wyn opp whapbwjhti skp (p <1 Yud ¢ < 1): Qupbby n-pn
opp whapluyhtt thbtn p, hujubwlubngeymbn: Swpyty lim py,:
n—oo

222. A L B huwunugnnbtphg jnipupwbsjmpp hbppwpiwunp swhbin
nhypnd upubmy k uky dhuynp: A-b hippwuwnp swhnd £ o hujw-
twjuimpudp, B-U f hwjuwiwuimpudp, pbn npnud, o > 5, o +
f = 1: Wipnng uwnp hwnpnud £ wjt fuwnugnnp, npp hwuwewynpnhg
wpwy £ wigmy 2 dhwynpny: w) Gupbby jnipupwibgnip fpwnugnnh
wdpnng fuwnp puithinm hwjwbwwbniymbp, p) nht L wtijh swhwybip
A pounwugnnh hwdwp, jpwnwy Uk hbippwjuwn, ph wipnne fuwnp:

223. A L B pownugnnbbp, npnip nidbh hwdwounpuupuwbd o W b
npuiwgnipubtipn, ppunmd G Unibjuwn, npp punugwd L wnwbahb
htippwpiwntphg: Lpwbghg jMpuwpwbsnpp htppwhiwnp Jwhmy k %
hujuwbwuwbnpyudp: 3nipuwpwbsnip htippwjuwunhg hbippn ywpnpynnp
Yswpmu £ hwnpennht 1 npud: lownp swupnibwynud £ vhish bpubghg
dbyh ubbugnuip: Sapoly B puwnugnnh ubbuwiwnm hwjwbwljuin-
[eynop:

224. Gopunntip bwhnpn pinpmd A ppwnugnnp pwhmd £ p > %
hwjuwiwuinpyuip b wumpynd £ ¢ = 1 — p hwjuwbwlubnipyudp:
Qupiby Gpypnpn ppunugnnp vbbubwnt hwjwbwlubnie)nibp:

225. (N +1) uunhnpitiphg jnipupwibgjnipp wupnibwynmd £ N ugh-
quy b ult qinphyotip: Sonhydtph pwppunudp puyp gnybh ypwpptip k
pninp uunthnpbtipnud, hull yuypwhwud pppuwd vanhnpnid wthuyp
E: Muypuhwlub vunhnphg yunpwhwlubnpbb Yytpgbnud Gb ikl qonhy
U ptnuithnfunud G Wby niphp uwthnp: Wn vathnphg Jepgpud qinhyp
mtnuthnpuynud | dbl wyp vwthnp b wynutiu pupnibwly: Stnuthnuni-
pynutttpp Jupupnud G (N + 1) whqud wybybiu, np jnipupwbsjnip
uwthnp dwubwlgmy £ dhwyb gy woqud, pong npmy (N +1)-pn phnu-
thnfunieyniip jupupynud £ wnweht pippud uwithnpp: bty jnupu-
pwbg nip vwthnpmd uyqpiuut yupnibwynyeyjud ywhwywiybint hw-
Juwbwlubnipynibp:
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226. N hpwdahqubtpht upbih £ pudwbty snpu fudph’ a1 gipuqui-
ghy hpwéhg, a2 (wy, az dhowly, a4 Juup: ULy Ypwyngny phpwiuhl
nhystim hwjwitwubmpnibp ¢ -pn fjaiph hpwahgh hwdiwnp hwjuwuwn
E pi-h, ¢ = 1,2, 3,4: pym wuqpuwhwljub pyppud hpwahqbtipp Ypw-
nud G dhubiny b phpwhuhb: Gapbby gnot vk nhyny jpulyngh hwjuwbw-
Jubnipynibp:

227. 2npu a, b, ¢, d Jwpnuighg a-b unpugty L qbintynipynid, npp
«uyny» Jud «ng wgnubipwin] hwnnpnmy £ b-hb, b-0° c-hb, c-0 d-hi,
huy d-0 hunnpnnd £ uipugud pbintnipymop tnyt abny, hbswtu
dynuubitipp: Swygpbh £, np oputighg jnupupuwbgjmpp wund £ Godwpypni-
eymbp tptip ntypbphg dknud: Npnokp wnweht dwipnnt dpdwpypnienih
wubiint hwjwbwlwbnyenibp, Get hwppbh E, np snppnpnp Sodwppni-
pynb £ wuby:

228. Wohwpp gnybh n qinhybtp wupnibwlynn uuthnphg hwbnd Go
utl] glnhy, npp vwhyruy £ Gpoty Gpypnpn hwtqud ginhyh uwhyuy
thutin hwjwbwluwinipniop: Uuthnph ulyqpbuut qupnibwnipjub
dwuhb pninp Ghpwnpniembbtpp hwdwpl; hajuwuwpwhbwpuwynn:

229. Uonhwjp gnyth 7 qunhlbtp wupnibwnn vuthnphg hwbmd o
ity qbnhy, npp uyhuwy £ Wo typ Jbpunupabtineg htipn hwimad Go
uti] ginhy hu: Qaptty wyn qbnhyh uyhypuy (hon hwjwbwljubnie)ni-
op, tpt uyqpiwulyud yupnibwyniyeyjud dwuh pninp Gbpunpnip)nibbb-
np hwjuwuwpwhbwpunp Go:

230. Ppwphg wiljwhu wppiwpnn gnpu pupptiphg punljugwd uwpph
qupptiphg tpgmup ppwthwinty Gb: 9ok wewehl b tpypnpn rupptiph
hnuthwi Gpnt hwjwbwjubniembp, Gt wjt woweht, ipypnpn, Gppnpn
L snppnpn pupptiph hwdwp hwiwyupuupwbwpwp hwjuuwp |
p1=0,1, p2=0,2, p3=0,3, p4=0,4:

231. Mumuibwpwimy unynpmud &b 7 muwbng, npnbghg ng-b (k =
1,2, 3) unynpnud kb k-pn qpupht: Gpynt wupuwhwub pppud nuw-
Unnbbphg vtyp dynuhg onup £ pbnmbgb: Qapot) wyn ntuwbnnh Gppnpn
ypupht unynpbnt hwjwbwlwbnyenibp:
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232. Guyh gdny hwunnpnymy ko AAAA, BBBB,CCCC hwgnp-
3

nulwiniypymbbbpp hwiwywypuupwbwpwn pr, p2, ps (> pi = 1) hw-
Juwiwlubnmpymbibpny: 8mpupwismnip hwnnpnnn A, zB 1lluui C ypun
Showp E pipmbymyd o hwjwbwwbnpjudp, hul %(1 —a)l %(1 — @)
hujuwiwuwinyeynbbtipny pbnnioynud £ dynmu Gpyne puntinh thnpuwnpbio:
Gopwnnynud £, np uuntpp wnuwyuwnynud G0 hpwphg wiupu: bosuyhup”
hwjwbwuinpjuip hwunnpnud t nty AAAA-b, tpb ponpmbdwd k
ABCA-:

Ptpumhh pwbwabp

Gpt 7 wiwju thnpdbphg jnipupwbgjnipnud A wwypuwhnygph Gpluwne
hwjuwbwywinpymip hwjuwuwp £ P(A) = p (Rtinbnyhh upubidwd), huy
n-n A wunpuwhnyph h hwpp quim phyb £ 7 thnpabpnud, wwyw

P(pn =m) = Py(m) = Cp™(1—p)"™", m=0,1,....n

Rtinumhh pwiwahh panphwipugmdp: Yhgnip Jugpupmd Gb 7 wbuju
thnpakp, npniighg jnipupwibsympmd Jupnn £ ppuubwbw; A;, Ao, ...,
Ay w[lhulduuphthh wwipwhmjpitphg npuk dtyp: Lowbwytbp P(A4;) =

pi,t=1,...,8, Z p; = 1: Nwjubwljubmpynmbp, np 7 wiuju thnpabpnid

Ay uluupulhm][an Yhpuwuiwbw Shoyp My whqud, As wunpuhnypep
Shoyp mo whqud b wyl, As wupuhnypp Shap ms wiquy, hwyynid
bl htplyw pwbwaling

|
n: mi_ms

m.
Pn(ml,mZa-..,ms): m|p1 Do " 'pssv

m1!m2
tpp my +ma + ...+ mg = n b Py,(my,ma,...,ms) = 0, ipp my +
mo+ ...+ mg # n:

Wb m-p, npht hwdwwywypuwupuwbmy £ P, (m)-h dedwgnyb wpdbpp,
gngymud £ A wupwhnyph h hwypyp qum wdkbwhujuwbwlub phy L
Opwbwlynud £ my-ny:

—(I=p)<my<np+p:
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I';]ahp:pn:%,npmhq)\n—))\(0<>\<oo)hppn—)oo,ululul

Shoyp E htiplyw) wpbsmpymbp (Mnuuwunth phnptd)

lim P(u, =m)=—e

, m=0,1,2,...:

Unuyp-Lwyjuuj nljup vwhdwiiwghtt plinptidp: Gpt p = const, 0 <
p <1, q¢g=1—p, wyw hwjuwuwpwswih puyp wyt m-tiph, npnilg hwdiwn
T_ZP yhdnpymbp uwhiwbwthwy k, (qpinh mbh

N
lim <P(un:m): ! .¢<m—np)> =1,
n—00 NG NG

22

npptin ¢(z) = Z=e” 7 pnblghwyh wpdpbinp plipdwd b fubnpu-
gnph wnnuwly 1-nud:

Uniuyp-Lwyjuup htnptigpujughtt uwhdwbwht phnpbtivp: Gpt
p =const, 0 < p <1, ¢ =1—p wyu hwjuuwpwswth z1-h L
To-h Gupiwdp (Vaop, 2 € RY)

Pz < Hn = 7P 22) W — X P(x2) — (1),

Vg
X u2
npptin ¢(z) = \/% f e~ 2 du $mblghwjh wpdtpbtipp pipuwd tb fubnpu-
0
gpph winnuwy 2-nud:

Q

233. Qunp btapynud k£ 5 wbqud: basyhup’o £ tptipht pugqiuwugphly
RrYh Gpym wiquud pwgybint hwjwbwlwbnieyniop:

234. Qunpupmu kb hhiig wbuju thnpatp, npnighg jnipupwbs jm-
pnud dhwdwdwbwl Gpnd Gh Gptip quin: bogh” £ hwuwuwp thnpatiphg
tpgnmumd Gptipwlut dhudnp vipubwm hwmjubwubnmpnbnp:

235. bhgyhuh” huubwuwinipjudp 52 jupwnupnptphg punjugud
Juwniyp snpu ppwnuignnbitiph dholt pudwitint dwdwbwly bpwbghg vb-
h dmp tptip wbqud wipbnibe «dtijuing» sh pulybh:



50

236. R ownwyhn mibgnn opowbh dbe OtingdJwd b Jubnbwynp
tnwblyynh: hagyhup” hwjuwiwluinpjudp wn ospeowbh dhe wjupu-—
hujubinpbb p)wd 4 Ytapbpp Ygpoybb towbljub dty:

237. | bpljupnipymb mbtgnn AB hunpyudp pudwiynud £ C' Ytapny
2:1 hwpuwpbpmpyudp: Wn huypjwoh Jpu wupuhwljubnptt otapmd
bl 4 Ytp: Qi npuighg ipymuuh C Yphg awpu, Gpynuh’ we qupiy by
hujwbwwbmpnibn:

238. Putimfuh jubinhpp: Uh dwpebtdunphinu hp dnpp nibh mglnt
tipynt ypnuth: Wdth wmbquid (nughh hwtijhu btw yunpwhwwbnptb Yytpgp-
Onmd £ wyn ynuwhtiphg dtyp: Opny dudwbwl wig tw dljugpmd E, np
pnuhtiphg Wblp nuywpy B bogh” Ehwdwuwp wyn nbwpnd Gpypnpn
yinuthh dbe & hunphlyy gipiyne hwjwbwubnipynbp, Gpb ujgpnid jm-
pupwbgjnip pinuthh ke Jup » hwphly:

239. Munpwhnyph gnib vty wiqud tplbwn hwjwiwuwbngeynibp
snpu whuju thnpatipnd hwjwuwp t 0,59-h: bugyhup™a £ by thnpand
wuypuwhnyph Gphwm hujuwbwubnienbp, Get jnipupwbsjnip thnp-
anud wyn hwjwbwlwbnyeynip bnybb E:

240. Gupupmd kb 20 wbwh thnpd, npnibghg jnipupwbs jmpnid
thwdwdwbwly bbypmd G0 3 dbpununpud: Qapot gnbt by thnpéand
tiptip «gbipp» pugytm hwjwbwuwbmpjnibn:

241. GYupwpynud £ hpwagnipnid dhigh wnweht nhwniyy pwingp:
Uty ypuingny phpwjuhtt nhyshm hujuwbwubnipynip hwjuwuwn k
0,2-h: Qapbty dhwyt 6 Ypwlyng puwint hwjuwbwubnienibp:

242. Ut ypuyngny phpwuh «10»-p jungbijnt hmjwbwubnieynip

hwjwuwn t 0,2-h: Lwih” wiwu Ypwlng £ wytipp Jupupti, npytiugh
0,9-hg ng yquljuu hujuwiwubnipjulp «10»-p jungyh gnok vkl wbquu:

243, Lwip” whquu E wytapp Otaply Gpyne quiep, np gnit Wkl wbqud
«6, 6» pugytiin hmjwbwwbmpnibp thboh dto %—hg:
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244. Upqunpuitiph 5%-p fumpub £ Npnptp upuhwwbnptit yipgp-
Jwd hhiig wpqpunpubpbtiphg gnoit Gpynup pnputwd |hbom hwyw-
Owljubnieynp:

245, Upypunpuiiph 90%-p qwynpuy £, 9%-p nuth yipugbbih wpug,
1%-p’ winjtipugbbtjh wpup: Qb yuypuwhwuinptb Jepgpud bptip
wnyunpubpbtiphg gnot dkh (uynpuy b gnok dtyh Jipugbih wpugp
nibbiwum hujuwbwubmpmbn:

246. Qapity 30 wbatph hwdwp pupgu 12 wdhubitiphg 6 wdhubtipnid
Gpnmuub dtbnywb op, hul Ymu 6 wihubtipnid Gptipwljub dthbnyub
op puybtym hwjwbwwbnmpEnbn:

247. Guinuynp dbpununpudp ogpnd Go 10 mbqud: bogwyhuh
hujuwiwuimpudp yquipuwhuub hpugnpdnip Jud Juliugh 3 hw-
onpnujub «gbippny», ud ujupypyh Gpynt hweonpnujubl «ghpny»:

248. Ghpwnptip pypubhpnd dbwd tptjuwbbpp, wbjuhn phgu-
Ohpnud wpntit wnu Yynmu tpbjuwbdbph utinhg, hwjwuwp hwjwbw-
Jubnipjudp Jupnn Gb (hbob] wnohly Jud ypnu: 5 tptjuwbbp mbtgnn
piogpubtub gniygh hwiwp hwpyly htgplyw; yupwhnypttph hwyw-
Dwlubnpymbbbpp

w) pnpnp tpkjuwbbpp Gnyb uboh bo;

p) tpbip Ubd tpbfuwbtpp pnubtp Go, huy Ymubbpp wneohytip;

q) tiptijuwbtiphg hoy 3-p pnuibtp Lo

1) bipym dbd tptjuwbbpp wnehlubp bi;

ti) tptijuwbtiphg gnit dkyp wnehl E:

249. NSwjwiwlwbnipynbp, np hwupngh Ypu wpgunpud dwup
4thth pumpubgwd, hujuuwn £ 0,1-h: Swpyly wupuhwljubnpkb po-
ppjuwd 10 wppunpubpbtiphg wikbwpunpp dtih unpubwod thbotm
hwjuwbwluwimpmbip (hwpyt) Atintnyhh pubwating b Mnuwunbh dn-
puynp pwbwadliny):

250. Ghpwnptim|, np gpph vkl toh ypw wpdwd pujugpujud upuw-
btiph phyt mbh A = 1/2 wwpwityppny Mmuwunbh pupfund, hwoyby
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nyjuy Eonmd wnbjuqb dby pyugpujub vjuwy thobm hwjuwbwlju-
tnipnibp:

251. Sunpwdp pudwbymd £ dwubph 1: 2 : 3 4 hwpwpbipnigyudp:
Ypw Yypw wuypuwhwwbnptb bynud Bb 8 Ytyp: Gtk wnwohtt hunpjwdhtb
3 Ytap, tpYpnpnhd’ 2 Ytap, hul viwgwd Gagpbpp 4-py hwgwdht wagp-
Jubtint hwjwbwlubnipnibp:

252. F’ogh £ wdbh hwjwbwlub wpubay gnil Ukl «6» snpu qunh
Otypnuiny, L gnbt Uk «6, 6» tpym quntinh 24 btpnudbtipny:

253. B’igh £ wbijh hwjuwbwlud wipubwg
w) gnbt UkY «6» qunh Ytg btpnudny,
p) gniit tpym «6»° qunh 12 Gtpnuing,
@) gnt tiptip «6» qunh 18 Gtipnuiny:

254. SYjwy pwultappnihuiph hwdwp qunuyp by qpnoing qud-
pynun ggbm hwjwbwuwbmpniop hwjwuwn k 0,4-h: Guqpupyty k10
Otapnud: Qapbly hwonn thnpatiph witibtwhwjwbwluwb phyp b tpub hw-
duyunpuuhiwbnn hwjubwlubnieynop:

255. 8mpuwpuwbsmp thnpdmd yunpwhnyph tphwn hwjuwbww-
Onipyniip hwjuwuwp £ 0,8-h: Opnpty wbwhu thnpatiph n phyp, npnig
nbypnd wupwhnypeh h hwuyp qune wikbwhwjwiwwub phyp hwjw-
uwn Yihth 20-h:

256. Utipununpuip dtpynud £ 20 wbgqud: Qpbby «qlipph» h hwygp
qunt witibwhwujubwlwub phyp:

257. Qupiitp A wunpwhnyph 2400 wilwpu thnpabpnd 1400 wbgud
tplwnt hwjwbwlwbnyeynibp, Geb hwymbh £, np thnpatiphg jnupupw-
sjnipnd wyn yupwhnyph hwinbu quint hajwiwubnieyniip hwjuw-
uwn L 0,6-h:

258. Ukl jpwyngny phpwpuht nhystint hmjuwbwubnipynbp hw-
Juwuwp £ 0,8 -h: Qaptitip 100 Ypwyngutiph nhypmud phpwhuhtt 75 whqud
nhystnt hwjwbwlwbnyenibp:
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259. 200 wblwpu Ypwyngbtiphg 116-p nhwyt; b phpwpuht: ULy
Ypwlngny phpwiuphb nhwyshint hwjuwbwuiniyeub nh wpdbpb £ wybih
hujubwlub % Ph % bt dhigh thnpd Gupupbp wyn Ghpwnpm-—
pymbttpp hwjuwuwpuwhiwpuwynp Gb b dhwly hbwpuwynn:

260. Quinp ttynud £ 80 wmbquid: 0,99 hwmjwbwubmpjudp qupbtg
wyb vwhdwbbbpp, npptin Ygupgh «6» -h ipliwgne m phyp:

261. Ubjwfu thnpatiphg jnipwpwibgjnipnd wywypuwhnyph tplbwne hw-
Jubwubnyeniip hwjwuwn £ 0,2-h: Qb thnpatiph thnppugny
Rrhup, npph ntiypnd 0,99 hwjwbwlwbniejuip htwpwynp thth wonk,
np yunpuwhnyph tpliwm hwupwptpujub hwtwhiwubnyenibp Yotinyh
hp hwjwbwlwbnieymbhg pugupdwl wpdbpny ng wybih, pub 0,04-ny:

262. Mupwhnypeh tipkwnt hwjwitwubnieniop 900 wajwpu thnp-
atiphg jnipupwignipnud hwjuwuwn k 0,5-h: Poswhuph” hwjwbwlwini—
pyuip wunpuwhnyph hwpupbpujut hwtwpwubmpmop Gotngh hp
tipbwm hwjwbwlwubnye niihg ng wytihh, pub 0,02-ny:

263. Sthubhjuwub ytpuhuynnnipyub pwdhop uyppmaquiwb £ Ghpup-
g 475 ntypuy: Yapwh ppmputwo (hbotne hwjwbwlubnyenbp
hwujwuuwn k£ 0,05-h: 0,95 hwjwbwlwbnipjudp qpibt] wjt vwhdwbbbpp,
npuyitin Yqupindh fungrutiud g btiph m phyp:

264. vunwuignnp pwhnd £ 7 npud, Gpb qunh ypw pugynid £ «6»-p b
Jdwpmd k£ 1 ngpud” hwjuwnwl nhiypnud: 0,999936 hwjwiwjubnipjudp
htg vwhdwbbbpnd Ygupingh opw pwhwd gnudwipp, Gt quop by nd
L 8000 whquu:

[L

265. Luyyuuijultapn ngbswimd k, Gpb Gpwd nhysnd GO jLpupwn-
sjnipp 120 Yq Yohn niignn tpynt wjhwenudp, Jud 200 4q Yohe nibtignn
Ut whwnnuip: bupbwphep jupnn £ piniyty ng wgth, pwbd 1200 Yq
nonhwinp Yohn niitignn guwbjugwd dhwptiuvwly wyhwoenwiptpny: Oh
yhuh wjhwenuiptiphg £ dtnypm ptintitp hopbwphnp, Geb hwppbh E, np
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wnwohli phyh whwenudph nhystpm hwjubwuubnpymbp hwjuwuwp
£ 0,06-h, huy tipypnpnhtp’ 0,08-h:

266. k hwbgnygubphg punugwd gnpdhpp wopuwnty k¢ dudwbwly:
Snipwpwbgmp hwbgnygh hnuwihmpiniip (wipwthwd wyhuwguiph
hwjwbwwbnipnip) ¢ dwiwiwuwhwpuwdmd hwjwuwn £ p-h: ¢ dw-
dwbwly wig gnpdhpp Jubg £ wpbnwi: fwubynpp ugpnignud bk thnpuwphinid
L owpphg nnipu GBwd hwbgnygbbpp: UG hwbgnygp thnpuwphbbpn
huwdwp bw dSwpuunud £ 7 dudwbwy: Sapbt Jubq webtinig 27 dudwbwly
wibg gnpohph wouwpnibwy thobnt hwjwbwlwbnieyniop:

267. Guwh A Ympp dshugyuwd k10 wpnbbinp mbtgnn B Yph htap:
Snipwpuibigjnip wpnbtilip qpuntiginud £ ghdp dheht huwpyny dwdind 6
pnub: Swblugwd tpynt wpnbtiinptiph Jubskipp wajuwju Go:

w) bogwhuh” hwjuwiwuimpjudp wpnbbipbtphg dGhp Gupubw
dtipdmu (ghdp qpunyud k):

p) Qi) wijpuhwd vyuwuwpiwd hwjwbwubnpnibp, tpb ghdp
wunnibwynd £ 4 jubwy:

263. Guyh A Ypp whpp £ vhwughty 10 wpnbting mbbgnn B Yhgph
htip: 8mpuwpwbsnip wpnbbbyp qpuntighnud £ ghdp dwdnmud 12 pnugk:
Swijugwd tpnt wpnbtpbbph Jubstip wbuhn Gh: Gabb; wbpow-
thwl vyuwuwpyiwd hwjuwbwwbnyenibp, Gert ghdp yupmbwynd £ 5
Jubwy:

269. bptip puiynp hptitg hwupngubiph Ypw wppunpnud G dhwyt
gtipuqubg b juynpuly dwubip, poin npmd, bpuiighg wnwehtip b Gpypnp-
np wppunpnd B gipuquitg npuyh dwutp' 0,9 hwjubwuimpudp,
huly tppnpnp” 0,8 hwjwbwwbmpjudp: Auinnpitiphg dhyp wpypunp-
nhp £ 8 dwu, npniighg tipynup jugnpuiy Gb: hoswyhuh” hwjwbwljubni-
Rywdp Unyb pwbynph wppunpud hwenpn 8 dwutiphg Gpynwup Yhotb
(wy, huly 6-p° gtipuquilg npwyh:

270. Qunpupmy G0 4 wiwpu thnpd, npniighg jmpupwbsjnipnud A
wuypuwhnyph hwinbu qum hwjwbwuwbnpnop hwjwuwp k 0,3-h:
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B yjunpwhnypp ppnh L mobimd 1 hwdubwubmpudp, tpp A gqu-
pwhnypp hwinbu L Ghb ng yquiwu, pub 2 wbhquy, sh Jupnn |pbinh
nbtiiwg, bpp A wunpwhnypep hwintu sh Gy W pbnh £ mbbbnod 0,6
hwjuiwubnipuip, tpp A wuypwhnypp hwinbu £ b gl whqud:
Qapity; B wunpwhnyph ptinh nudbbwine haubwubngendap:

271. (hpwjuh wnwybtjugnyl dhwynpp 10-0 E: Qapbilty phpwjpuht
tintip Ypwlngny 28-hg ng wwlwu shwynp vpuwiwnt hwjwbwlwbni-
pymbp, Get 30 dhwynp vpubuwm hwjuwbuuinpymip hwjwuwp k
0,008-h: Swypbp £ Gwly, np dky Ypuyngny 8 dhwynp uypuiwne hwjw-
twlubnipymbp hwjuwuwp £ 0,15-h, huly 8-hg wwliwu dhwynp™ 0,4-h:

272. Gpint jumnugnnbtinphg jnipupwbs jnipp bypnud £ npudp 4 wb-
quui: Swnpend £ wyb fuwnwgnnp, nph dnp pwgdud glipptiph phyp
wybih Ubkd E: Qapbty pwhbijnt hwjwiwlwbnipjnibp jnipupwbsnip uw-
nugnnh hwdwp:

273. pym pwultappnihunpbiiphg jnipupwbsmpp tiptip wbquy ob-
pnud £ qunuyp nbyh quipmin: Snipupwbsnp tpdwb dudwbwy
qinulp quipjninh vte poyotm huwjwbwlwuwbneymbp hajwuwp £ hw-
duyuwpuujumbwpwn £ 0,6-h b 0,7-h: Qapbity htaplywy wupuhnypbtph
hujuwbwubmpmbbtpp.

w) pwulbyppnihupibpp upupty G0 hwduwuwp pyny hwenn G-
nudbtip,

p) wnwght puwuytppnihupp Yupupt £ wibith 2w hwenn ttipnui-
btip, pwb tpypnpnp:

274. Gpym pownpbytpbbphg jnipupwbsmmpp 7 wbqud bigpmd k
dtipununpudp: Qo) tpubg dnmp dhubnyb pyny «glipp» pugytpm
hujuwbwubnpmbnp:

275. bpynuup juwnnmd b dhosl hwnpwbwyp, pbn npnud wbhpwdtiom
L, np wnwohtip hwnpwiwyp pubdh m htppwiwntpmy, huy Gpypnpgp
n htppwpiunbpnd: Swijugwd htippwpiunnd pwhtnt hwjwbwluw-
Onieynip wnwehl ppunugnnh hwdiwnp hwjwuwp t p-h, huly Gpypnpnh
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hudwp ¢ = 1 — p: Qi wpwohll fuwnwugnnh hwnpwiwl pubbin
hujubwubnmpmnibnp:

276. tpynt hhwnugnn wwydwbwynpymd G, np pwhnudp Juypubw
Ow, ny Yowhh hbtppwpiuntph npnpuyh pwbwly: fownp pinhuwgpyty
tipp wnwohll uunugnnhtt dhosh hwnpwitwyp dowgt) £ hwnpt m, huly
tpypnpnhtt 7 hbppwhiunbpmy: hogybh pudwil] punugmuwnp, bpb
guijmgud hbppwhiunnid puwhbint hwjwbwluwbniembp Gpint punu-
gnnh hwdwn £ hwjwuwp £ %—h:

277. 8mpupwlsymp thnpand A wwypuwhnyph hwinbu quni hw-
Juhwlubmpniip hwjuuwp £ p-h: Qapip 7 woup thnpabpmd A
wupuwhnyph qmyq pYny hwinbu qum hwjwbwubmpnibn:

. 278. Uhounph £ ant wdtint hwjwbwlwbnipnibp hwjwuwp £ pr =
),‘C—!e_)‘, k = 0,1,..., huy ayhg dhowp qupquibwin hwjwbwljuinm-
pmip p: Qupbly dheunph ! ubipnibn mobbuwm hwjwbwwubnmpe;nbp:

279. Uty jpwyngny buquipuuybiphtt nhystiint hwjwbwlubnipjni—
Op hwjwuwp £ p, huy £ > 1 nhymdbtbpng tywpuljuytpp pungbne
hwjwbwlwinpmop’ 1 — g bogh” £ hwjuuwp 7 Ypuyngny buyyugpu-
Juytp pungtym hwjwbwuwbnienibn:

280. m JOhwuyjwopbtiph ntiypnid vwppp tnpngiwb Jubgbtghbnu
wihpudbppnpjut hwjuiwuimpmbp npnpynd £ Q(m) =1 — (1 —
%)m pwbwauny, npptin w-b dhosh vwppp bnpngiwb Jubqbtgbbp yp-
Uwuywdpbtiph dhoht phyl £ Wuyugnighy, np 7 wpgunpujub ghltiphg
htipn tnpnquiwt wthpwdbypnipywt hwjwbwlwinyeynitbp npnaynid k
Wy =1— (1 - E)" putwatny, npyptin p-b dbl wppunpujub ghyh
nipugpnid Jowuywodp uppubwm hujubwjuinmpmibb t:

281. Uniquiwyp gpnhnud £ wp, wpdwytiiny hwenpnupwn b dtyp
Uyniuhg wiluwpu n pnpybin: Snipupwbsnip (pnpubin nphysmy £ oughb
p hwjwlwluwinpjudp: Snpybtinp nhwskim ntiypnd % hujuwbuuw-
Onipjudp opuuniqynud £ bwgh m dtynuwdwubiphg dkyp: ity bwygh
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funprppuiwt hwjuwbwubmpymbp, Get ngpw hwdwp wihpudbtnp E
opwunijq wbk] Gplynmuhg ng Wqujuu vEnmuuiwu:

282. buplhwphep ghnundymd £ n wiuju fpuyngbtpny: Lpubghg
Jmpupwbgynipp p; hwjwbwluwbneyjuip nhwysnmd £ wyb dwuhb, npptin
wyh whdhowwtiu jungmu £ hbpbwphep, p2 hwjwbwjubnipjudp nhwy-
snid £ Juntijhph pwphtt b p3 hwjwbwluwinpjudp ponhwipuwbu sh
nhugmd hbphwphehb: Jwebihph pwpht nhywd wpyp dbnp b pugnud
Opw db, npuptinhg vty dwdnd wppuwhnund £ & (hypp Junbjubgnige:
Unpgityny M (hyp Juntjulynie, htphwphnop nuninud £ wbdwpgpnibwul:
Qnit] qunuyndmpynibhg by dwd wibg hbphwpheh widwppnibwly
1httnm hajuwbwubninbn:

283. Upgnipjub dte Gh uipty £ hpwahqbtp, npnbghg jnipupwibs jnipp
n wiqud Ypwymd £ phpwjuht: ULY Ypuwyngny phpwjuht nhugtim
hwjuwbwuimpjnip i-pn hpwagh hwdwp hwjwuwp £ pi-h (0 = 1,
2, ..., k): Upgnipymbp swhmd bt wowty punp nhymdbtp Jupuipnn
hpwahgp: bog hujubwuimpudp dpngnudp Ghwnph hpwdhqbtiphg
ukiln:

284. Ptinhinihh ujuiduwymy jnipupuwbs jmp thnpdh hwennnipyjub hw-
Juwiwlubmpymop hwjwuwp £ p-h: bogwhuh” hwjuwiwubnpudp £-pn
hwonnnipjnibp pptnh Ynmbthw /-pn thnpanud:

285. Rtininihh vjuidwymd hweonnnipjud hwjwbwlwbnipyniop p t:
Qupib 2n wynuhuh thnpatipnud m + n hwonnmpymbdtp L pninp qnyq
huiwpbtip nbtignng thnpatpnmd wyb wypubwnt hwjwbwljuwbnienibp:

286. Atininithh upubivuynd p = % : Qyugnigtig, np
1 1 .
287. Uwubthyh owipdnuip wnwtgph wdpnne Ytaptipny nhijudjupynid
E Rtininhh uputiduyny, npptin «1» Giph Gplouyne hajwbwubnieymbp

p t: Uwubwyhgp hp nhpphg ptinuihnfuynid £ hwpliwt we Ytpp, tpk
yJjw thnpam bpliughy E«1»-p, hwjupwl nhuypmyd” awpu Gopp: Qb
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0 ytaphg dwutthjh n pwyitiphg htiypn m G pinuhnpuypne hwjuwbw-
Jubnipynibp:

288. p hmjuwbwmubmpjudp jnpupubsnp Jujpljjud wduwh dw-
dwiwlyh dynu wuwhtiphg Swiwuuphng wighnd £ ufypndbptiow: Nb-
mhnpohtt Swbwywphp wbgotin hwdwp wothpwdbtop £ 3 Juypljub:
buswyhup” hwjwbwubmpjudp dGwbwwuphhh dniptignn htypphmpbp wi-
nguwmwmmhwmmmmmmwuquwmmhm3qmwm4mmw
@) 5 Upy.:

289. Atintni hh upubidwynud p-0 «1» Giph hwjwbwuwbnipndb £, ¢ =
1 —p-0° «0» typh hujwbwlubnipymbnp: Gpdty 00 (kpym hwenpnuwb
qnn) onpuwjh wytih onmyp pwi 01 snpwi hpwlubwbwine hwjuiwyu-
Onueynibp: Swoyty wyn hwjuwiwyubneymip wyh dwubwynp nhwypniy,
tppp =5 :

290. 289-pn fubinph wwywbbbpnud gty 00 (kpym hwenpnuwb

qnn) onpwjh wybh myp pwid 10 onpwi hpuwlubwbwine hwjuiwfuw-
Onueynibp: Nwpyly wyn hwjwbwubngembp p = % nbypnud:

291. Yhypupytip wbwpu thnpatph hwonpnuwbnenib, npuptin jm-—
pwpwigmp thnpap queh bgpnwit b bogyhupf” hujwiwubnipunip
«6»-h bptip hwonpnujut hpuwbwgnuip pbnh Ynubtibw wybith onup,
pull «I»-h tpynt hwonprujub hpuwljubwgnidp:

292. Yhpwpytitp wbywha thnpédtiph hwenpnuijubineniop, npniighg
jnipupwiligjnipnud npik wunpuhnyp (<hwennnipniti») pbinh E mbbinud
p hwjwbwyuinpyudp, huly hwiunhp yuwypuwhnypp («wbhwonnni—
pl») ¢ = 1 — p hwjuwbwuinpeuip: Koy hujuiufuingpudp
a hwonpnujui «hwennnipymbbtinp» Yhpwuiwdwi b hwonpnuwi
«wbhwennnipnihtiphg» wybith onup:

293. S = {1,2,..., N} puquinypymbhg wuwpuwhwiwinptd b dhi-
Jubghg wilwpu Ybpgynd G Gpynme A7 b As Ghpwpwuqungenibbbp
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wybytiu, np S-hb wwpubng puppp woljuhu 4y puppbphg p hwuju-
twuinmpuip tipmd £ 4; pugimpjui dbo b ¢ = 1—p hujwbw-
Jubnmpjuip domd £ wjn puqimpmihg nmpu: bigh” £ hujuuwp A1 N
Ao = @ wupwhnyph hujuiwlubngenion:

294.5 ={1,2,..., N} puquinipjmbhg thipupuqdnpmbbtph plp-
pnpyub bnybh uppbdwyny, npp pipwd £ pubnhp 293-nud, hpwphg wb-
Juhu pippynud G0 A1, Ao, ..., Ay, 7 > 2 hbpwpuqunyenibibp: ity
pnippyud tipupuqinmpmbbtph qnyq wn gnyg shupybpm hwjubw-
Jubnipynibp:

295. Y%hgmp P-u b P'-p n b n + 1 wiuh thnpatipnud hwdw-
wupuufunwbwpwp A wupuhnyph Gpbwm witbwhwjuwbwlub pyh
hwjubwuinpmbdtph tb (gmpupwibsymp thnpand P(A) = p): Ququ-
gmghy, np P’ < P, pon npnud, tpb (n + 1) - p-0 wipnne phy sk, wuyw
hujuwuwpnipjub tpwbp pugunymy k:

296. Gwuwh qony hwnnpnnud G 100 Dpwh: NSwnnpniwb phpugpnid
Jmpupwbgynip bpwb Jupnn £ wnujunytp wbujp dynubtiphg 0,005
hujubwubimpuip: Gnbb tptiphg ng wyby tpwbbbph wnuyunyud
(thttm hujuwiwuimpub dnpuwynp wipdbpp:

297. 130 Ywbw; mibbgnn Juwh ghdp dhwghmd £ A Ytpp 1000
wpnbtinp mbtgnn B Ytph htigp: Wpnokpbbiphg jnipupwbisjnipp oguyn-
ynud E htinwpunuhg dhohtin dwdimd 6 pnyt: 9apbl; wpnbtipbtiph wb-
houthwh vyguuwupiwt hwjwbwljubnieynibp:

298. 2100 wiwju thnpatphg jmpupwigjnipmd yuypwhnyph tpb-
Juwint hwuwiwuwinpyniop hwjuwuwn £ 0,7-h: hosyhuh” hwjubwu-
mpjuip wuypwhnypp Yhpbw  w) ng wuuu pubd 1470 b ng wykih
pwl 1500 whquy, p) ng wuwlwu pwbd 1470 wiqud, q) 1469-hg ng
wybiih wbquu:

299. Wbjw}fu thnpatiphg jnipwpwibgjnipnid wywypwhnyph tplwne hw-
Jubwlwuwimpniip hwjwuwp £ 0,8-h: Lwih” whqud wtypp £ Yploty
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thnpép, npytiugh 0,9 hwjwbwuwinpjudp htwpuynp thoh wonk, np
wuypuhnypp jipbw ng qqujuu, pub 75 wbhqud:

300. @nhsph vt dwdjw phpwgpnid wumuwh htg phtgbpwbwyh
pufuiwd hujwiwwinyeyniip hwjwuwn £ 0,001-h: bty prhsph bptip
wiujw pipwgpmy (hmbhuh 1-hg dhigh ognuyinuh 31-p) wynwhuh
wunyh htgp pwpunmdttiph pYh Jupuhtjh vwhdwbbbpp, Get gnpdtw-
Jubwybu Jyuypuhnipjub hujubwlubnyenibp yyju; nhypnd hwju-
uwnp £ 0,995-h:

301. 1000 yptinubng pwypnip mbh Gpym puppbp dnuppbp: 3m-
pwpwbsjnip dnupph dmp Ju hwintipdwpwb: Lwbh” qtin L wihpudtop
jnipupwbgnip hwimtipdwpwind, npytiugh dhohtinud 100-hg 99 ntiwy-
pnd pninp hwinhuwptiubtipp upnnubwb oqupytiy wyb dnupph hwb-
nipdwpubth dwnwynipyniihg, nmpbinhg ttipu Go dnby:

302. 9apb; wybyhuh € > 0 phy, nph phypnd 0,99 hwjubwlju-
inipjudp wuwypwhnyph hwpwptpuut hwtwhwuwbnyeyud L pu
Gplwnt hujuiwuubnpub stndwb pugupdwl] wipdtipp sghipuqubgh
e-hti:

303. Wuwbnud fu 2800 phulhs: Lpwbighg Jnupupwits jnipp wduwuh
dnyp 6 whquu qbwgpny dkljind £ punwp, mnbnpnipyub optipp vtiyp
Ujnuhg wtjuwjpu ppptiiny yunpuhwjutinptit: 9apity gwgph wyh thnp-
nugny i pupnnnipjnip, nph nhiypnud wyt wdpnnenipjudp Yigyh dheht
hwoyny 100 opnud ng wtiih, pwb Ukl wiqud (qhwgpp gbnud £ opwljwi
ukl whqu):
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MNunpuhwljui dfEdmpymbt b pupjuiwt $miljghw

Yhgnip ppywd (2, F, P) hwjwiwwbwhd pupwdnipeymbp: Q-h

Ypw npnpwd b hpwlub wpdbpbbp pigniing sanhbijh € = §(w) nbily-
ghwt wijuimy kb wupuhwub dtdmpymb: Wuhuph'

£:Q =R, B ={w:&w)eB}eF,

VB € B(RY): P{w : £(w) € BY hujuwbwlwbmpynilp, nputu $nibil-
ghw B-hg, B € B(R'), 4ngnui L ¢ yunpuhwljui dhdnpyui hudu-
bwluwinmpnbbbph puppumd ud € yunpuhwiui dGdnipjubd puofund
U bpwbwlymd t Pe(B)-n

Pe(B) = P(w:{(w) € B}, BeB(RY:

Uwubwynp niypmd, tpp B = (—00,2), P(w : &(w) € (—o0,x)) =
P(w : ¢(w) < z) hajubwuwimpymbp, npybu $mbyghw z-hg, = €
R, wijuind b ¢ yunpuwhwiuwi dGdnpjud puppudwd $mohghu
bpwbwynu &b Fe(z)-nf

Fe(r) =Plw:&(w)<z) =P <x):

Pwphudwb $nibyghwt odpud £ htplywy hunpynipyniabtipny

1. Fg(xl) < Fg(.%’g), h[lp r1 < X9,

2. xglzloo Fe(z) = Fe(—00) =0, :EEI—&I}OO Fe(x) = Fe(400) =1,

3. Fg(x - O) = Fg(x):

Uotilip il F¢(2)-h dymu Juplnp hwgpympynibbtipp, npnbip plunud
Ll 1.-3. hhdbwlu@ hunpymipynibiiiphg

w) 0 < Fe(x) <1,

P) Pla <& <) = Fe(b) — Fela)

q) P(§ =) = Fe(z +0) — Fe(x),

) Fe(z)-p Qupnn £ mbbbw) ng wtih pwb hwpytih pyny fuquwb
Ytaptin:

1.-3. wuydwhbbpht pujwpupnn guiugud F(z), z € RY $mbl-
ghw hwinhuwtnud £ npuk £ yupuwhwuh dEdmpywd puwofudwld $nibly-
ghw' Fe(z) = F(z):
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& wupuwhwljub dbdnipynm b niih nhuptap puppund, bt wyb phnni-
ol £ Jtipownp Yud hwyytih pyny wpdbpbbp’ 1, 9, ..., Tk, .. hunfu-
wupuupwbwpwp pr = P(§ = k), k = 1,2, .., hwjuwbwuimpjni-
bbpny, > pr = 1: Yhulpbp £ wupuhwlwb dEdnipymbp phimpugpyniud

k

L htiplywy win ynuuwynyg

f I i) e T
>0, k=12,.., =1,
Plipi|p|...|pe|-.. Pk = %pk
npp Yngymd £ -h pupjudwle optilip:
Wu ntiygpnud Fe(z)-p waphfwbwal b, bpuw juquub Yapbpd bo
T1, T2y .oy Tk, --., QUl Jnipupwlbgnip zgx, £ = 1,2, ..., uqiwb Ytpnud
hugquwb dtdnmpnip hwjwuwnp k

Fe(op +0) — Fe(ar) = pr -
Yhulptp € quypuwhwud dEdmpjud puofudwud $nibhghwd mbh hb-
plywy pupp
Fe(x)= ) pi:
kixp<z
¢ wquypuwhwliwd dtdnmpmbb mbh pugupdwl wipbnhugp pwohund,

bt gnynipgn mbh ng pugwuwlwi pnpbpjwb fe(z) dmbyghw wyb-
whuht, np gubjugwd pnptjjubt B € B(Rl) puqunipjwl hwdwn

Pg(B) = P(f € B) = /fg(x)dl‘,
B
npptin [ fe(z) dz = 1: fe(x)-p wijwinu bb € wupuhwlub dtdnie—
R
Julb pogpnipyub $mbyghw Jud € yugpuhwlub dhdnipjub popnienih:

Uwubwynp nbiwypnud, ipp B = (—o0, z)

Fee) = [ fetwu,

nptn [ fe(z) de = 1
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Swbljugwd f(r), z € R, $milghw, npii ohpud E htaplyuy
hupympynibbbpm|
L f(z) >0,

oo

2. _f fe(x)dr =1

hwinhuwimd £ nput & yupuhwluwb dedmpui fppmpymb fe(z) =
f(z): Auptbp vh pwbh hwppbh pwppinuibbph ophbwybbp:

“Yhulptyp pwohuniiubip

1. Ahtndwlywd pwpumy p, n wuwpwditipptpng  (n-p phwlyud phy L,
0<p<1y

PE=k) =C**Q—p)"* k=01,2..n:

2. Mnuuunth pupfumyd A > 0 wwpwdtppny (€ ~ TI(A))

3. Bpypuswhwub pupfumy p wupudtppny (0 < p < 1)

PE=k)=(1-p " p, k=12

4. Shybiptpygpusuhuud puppund n, M, N wwpwdtapptipny (n-p, M-,
N-p pwuib pybp L)

k ~n—k
B CuCN_u

P¢=k)= on k =max(0,n — N + M),...,min(M,n) :
N

Pugupbul] wipinhunp pupumdikp

1. Swjwuwpuwswth puphund [a, b dhowluypnut

0, r<a 1
Fx)={%8,  a<az<b, f(w)Z{b‘“’
1, x>0
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2. 8nigswhtn pupfund A > 0 wwpwdtappny

1—e >0
0, <0’

F(x) =

o) = {)\6_’\9”, x>0

0, x<0:

3. Unpiwy (QGunwh) pwppumd (a, o) wqupudtyppbpny' —oo < a < 400,
02 >0, (£~ N(a,0%))

1 _ 2
f(z) = exp —% , —00< T < 400:
oV 2T 20

¢ ~ N(0,1) upuwhwub dtdnpmbd wiuimy b upubnump dnpdwg
wyuypuhwliumb dEdnipynih:
4. Unphh pwphumd (@, o) qupuwdtipptpny —oo < a < +00, o > 0

g

m, — < r<o:

1
flz) = .
Upubnupy Gnphh puppumd

fla) = ——

=—— —0<T<00:
0+ 22 00 < < 00

5. Quuidw pupfumd (o, A) wupwdtapptpny o > 0, A > 0, (§ ~ T'(a, A))

OL)\ — —Qxr
flz) = Wm‘)‘ lg—oz x>0
0, x <0,

[ee)

npiptin T(A) = 2 e~ dz-p Ejjiph quddw $niblyghwi £, 7 phwlwd
0
pytiph hwdwp D(n) = (n — D w I(3) = /m

Q

304. Ubmpuwnunpuip dpynud £ Gpyne wbqud: Guwonigly gbipph
hwintiu quint pYyh pwphudwb optiipp: Gnbby pwohudwt $nbljghwtn b
Qupmghy npu gpudhyp:
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305. dhgnip 10 dwbpuybtiphg 8-p upubnump to: Munpuwhwjubnpbb
Ytpgnd kb Gpyn dwbpuly: Guqut] yepgywd dubpuybtph dbe uipub-
nupy bwbpuyiotph pyh puphudwb optipn: Gpbt] pupjudwb $nibljghwin
U Yunmghli npu gpubhiyp:

306. Wpypunpuitiph 10%-p unppuitt £ Mupuhwljuibnpti yapgonud
Ll snpu Jwbpuwl: QGapbt npubg vk jumpub dwbpwybbph pyh pupju-
dwb opkbpp:

307. Shig uwppbiph hnwwwihnipynibp wpniglne hwdwp Jugquipnud
G0 hwonpnujut wbjwhu thnpdwupynudttip: 3nipwpwibsnip hwennpn uwp-
pp upniquwd £ Gipwpyynud dhwyd wyb nphypmd, tpp dwjunpnp hnwuwh
E: Guqut] upniqgyud uwpptiph pyh pwohudwb optiipp, tiph thnpawpyni—
up wbgbbnt hwjuwbwuwimpmbp npubghg jnmpupwbsgmph hwdwp
hwjwuwn £ 0,9-h:

308. Uipunuinpunip otapnud 6o vhigh gipph wnweht wbqud tipb-
Juyp: Yhgmp £-U bmpmudbtiph phyt £ Guqut] € yuypuhwiub dbdni-
pjwl pwppuiwb optibipp, gty P(€ > 1) hwjwbwlwiniyeymbn:

309. Npwagh dkl Ypuyngny phpwpuht nhwshine hwjubwubni-
pymip hwjwuwn £ 0,8-h: Spwdhgp Ypuynd £ dhigle wnweohtt Yyphwnudp:
Qwquty ypuwyngbtiph pyh pwppudwb optipp:

310. Gpym puuytgppnihuyp hwonpupwp otpnd B0 qipuyp nyh
quipjnin vhigh wnweohl hwonnnmpymbp: Ywpmgt] btypnudbtph pyh
pupjuiwll optiipp jnupupwibsjnip pwutappnihuph hwdwp, Geb hwen-
nnipjub hujubuuinpmbp wpwehh puultipppnhunph huniwp hwjw-
uwp k£ 0,4-h, huyy tpypnpnh hwdwp' 0,6-h:

311. %hgmp F(z)-p wopinhwy puppudwd $mbyghw b Wyugmghy,
np

[e.e]

/ F(a)dF(z) = | -

—00
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312. Wyugnighy, np gubugwd wipinhwy F(z) puppudwd $mby-
ghuyh hwiwp b gubljuguwd phwljub » b k& pytph hwdwp ptnh nbh
htplyw) wnbgnipymbp’

[e.o]

/ P (2)dF"(z) =

—00

n .
n+k’

313. £ wuypuwhwluh dtdnipjul pusfutwd $mbyghwb hujuuwn k

0, <0,
F(z) = 22, 0<xz<1,
1, x>1:

Qupity snpu wilwju thnpdbphg bpbpnd € wuypuwhwlwd dbdnipjwub
ponnuud  wipdtipbiiph [0, 25; 0, 75] dhowluypnd qupitnt hwjwbw-
Qubnieynibp:

314. Spywd E hbg-np wupuwhwjubd dbdnpjud pupjudwd $mbly-
ghwt

0, <0
1/2, 0<z<1
Fla) = 3/5, l<ax<?2
4/5, 2<z<3
9/10, 3<z<3,5
1, x>3,5:

Qb wyn wuypuhwljub dEonpjub puphuiwb win jnuuwlp:

315. Y%hgnip ppyuwd k€ wupuhwljub dEdnipjub pnipud $moly-
ghul
c(1 — x?), -l<z<1
flz) =
0, Whwgwd ntiyptipmu:
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w) Qapiiby ¢ gnpdwlhgp:
p) Qi F(z) puppuiwb $mbayghwb:

316. Nowpwyhp £ wpnnp pipply ¢ hwupugnidd wybwbu, np ez~
P$niljghwt hptithg bObpluyugbh hwjwbwlwbnyenibbtph puphuiwb
fugpmpymt htiplyw) puqimpymbdtph Jpw' w) [1, 00) dwnwquyph p)

[0, 00) Swnwquyph, ¢) [—2, —1] huypwdh Ypu:

317. £ yuypuwhwljwb dtdmpyjult hauiwubngenibtbtph puppudwh
hopnipymad £

f(ﬂﬂ)zﬁi

Qb w) a gnpdwlhgp, p) F(2) pwohudwl $mbyghwh, ¢) P(—1 <
¢ < 1) hajubwljubmpjnibp:

318. & wunpuhwlwh dtdnipjuit hwjwiwlwbnipynbibph pusludwb
hopnipymbd £

1
flw) = (1 + 22) :

Swpytip w) P(§ > 1), p) P(E] > 1):

319. £ yunpuhwlub dedmpjuit hwjuiwubnipymbibph pugudwub
hugpnipymbd £
a
o= =ra
Qupity @ gnpdwlhgp L Gpynt wiwp thnpabpmd ¢ yupuhwlub G-
onipjwl vtlhg thnpp wpdtip phnnibbint hwjwbwljubnie)niop:

320. £ wupwhwlwi dEdmpynip puppujwd k «ninnuidlymb towi-
Wwb optiipny» [0, a] thowluypnut

2) = 0, x ¢ (0,a)
/@) {c(l—z), z € (0,a):

Qapiitip w) ¢ hwupupnibp, p) F(z) puppidwi $nibyghwt, q) Pla/2 <
¢ < a) hwjuwbwlwbnpymbp:
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321. £ wupuwhwlwb dEdmpnip puphujud E Uhdwunbh opbbipny’
«hunuuwpuupnm @ bowblyjub opkbpny» [—a, a] thewluwypnud’

c(1+§), x € (—a,0)
fz) = c(l—g), z € (0,a)
0, z ¢ (—a,a),

Qapiitip w) ¢ hwupupnibp, p) F(z) puppdwt $nibyghwt, q) Pla/2 <
¢ < a) hwjuwbwlwbnpymbp:

322. £ wupwhwwb dtdnpynmbh pnhnnibnd E ng puguuwljut wdipnne
wpdbtpltipn: Wyugnigly htiplyw wonnuitbph hwdwpdbpmpniip’ w)
&-0 nubh hwjwiwluwbmpymbibph Gpypuswthwljub pupuniy,

p PE=n+k/§>k)=PE=n),k=0,1,2,...,n=0,1,2,...:

323. ¢ wunpuwhwluwbd dednpymbt mbh A = 1/3 wwpwdbppny
hwjwbwlwbnipymbdbph gnigswiht pwpfumd: Gty w) P(€ > 3), p)
P(§>6/§>3)q) P({>t+3/{>t), npptin ¢ > 0 hpwluwb phy k:

324. Yhgnip -0 gmgsuyhl pupfunud niitignn wugpuhwljub dtdnip—

jnib b, huly ¢ > 0 hpwlwi phy b Qapiby (€ —©)-h pwoudwb $niblyghwb
¢ >t wquydwbh nhwpnud:

325. Yhulptin € yunpuhwlub dEdnpnidh mbh htplywy pusfudwi
onpkbpp’

cl2T-1To 12
Plo1]o2]03]03]0,1

Qupity w) 71 = €2+ 1, p) g2 = |¢| wupuwhwlub Wkdnip)nbbtph
puwjudwtl opkiiptitipn:

326. £ wuypwhwlub dbdmpjud F(z) puudwd $mblyghud wb-
noanhunp £ 0 Ytypnud: bosyy'bu | puphujwd

gy tph £#£0
77:
1, tpt £€=0
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wuypwhwlwb dtdnmpymbn:

327. & yuwypwhwwb dEdmpynbp hwjuwuwpuwswih £ puppujud [0, 1]
thewljuypnui: Qqiby w) n = €2, p) n = 1/€, q) n = €& Wupuhwljwb
utonpymbbtph hajubuuimpmbbtph pupfudwb ppnieynibbbpn:

328. & yuypwhwlwb dEdmpynbp hwjuwuwpwswth E puppudud [0, 1]
dhowljuypnud: Gty w) 7 = &1, p) n = In(15%), ) n = —§ In(1-€)
(npyptin A > 0) wuwpuwhwlywh dEdnpnibttph hwjwiwuwinpnbbbph
pwohudwll popninibbbpp:

329. £ yuypwhwlwb dkdnipniip hwjuwuwpuswith b puppudud [—7/2,
7/2] dhowluypnui: Gty w) 7 = sing, p) n = |siné| uwpwhwyub
utonpynbbtph hujuiwuinmpmbbtph puppudwb hpnieynibbbpn:

330. £ yupwhwlwb dtdnpymip hwjwuwpwsuh E puphugwd [—1, 1]
dhowuypmy: Gty 7 = |£] yupuhwlub dEdmpjui pupjuiwb Snibly-
ghw:

331. & yuypwhwlwb dEdmpymbp hwjuuwpusuth E puppudud [0, 2]
dhowluypnud: Gapiy 7 = |€ — 1| quypwhwluwi dbdnipjui pwopuiwb
Pnlyghwi:

332. £ yupuwhwlwb dedmpmdd mih wpubnupy Ynohh pusfunud

1
=——, (~o<z<
f(x) A+ (-0 <z < +00)
hupnipyjut $mbyghwyny: Gl n = 1/ wupuwhuwd dadmpub
hopnieyniop:

333. [ iplupnipynib nbbkgnn annp wugpuwhwiub Ytpny puduigwd
L Gpynt dwuh: Gt wyt nipnuibyyud dwtpbuh pugfudwt nibjghwi,
nph hwdwp Ynndtp G hwinhuwtmd annhg upugyud dwubipp:

334. [0, a] dhowwyph Ypw yupwhwlwbnptl tpmd G Gpyne Yo
wjuhbpl, wyn Ytptiph wpughulitpp hwjwuwpugwth Go puppudwsd [0, af
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dhowuypnid: Gpbitip wyn Japtph vholt inuwd hinwynpnipjwb pupjudwb
Pniljghwtt b hwjwbwlwbnienibbtph puwphudwb pppnieynibn:

335. [0,a] dhowlwyph Ypw wunpuwhwluwbinptbt tpmd b 7 Yhgp:
Quplby dwfuhg k-pn Yaph wpughuph hwjubwubngenubbtph pusfudwb
fuypniynibp:

336. (0, a) Ytyphg OY wnwigphti ¢ wiljjubd gl pupdwd E mnhn
ghd: Qi wyn mnnp OX wnwigph htiyp hwgpdwd Ytph wpughup
pupfuiwl $nibyghwdt b puphuiwb juypnipynbn, bpb ¢ walymbp hwjw-
uwpwswth b pupfidwd w) [0, 7/2] showuypnd, p) [—7/2, 7/2] dhow-
Juypnud:

337. Opnhtwp@tiph wpwbgph (0, 0) b (0, R) Yptiph dholt upupu-
hwlubnptb Goywd £ dh Ytap: W Ytgpny OY wnwbgphl mnnuhwjwug
pupyud £ 22 + y? = R? jpowlugdh qup: Qpbiby quph bpljupnipyub
hujuwbuubnmpymbbtph pupjudwb hpneymbp:

338. R pwnwynny b (0, 0) yabuppniny ppowtiugdh Ypw wpuypuihw-—
Jubnptb bpnud Gb vh Y, wyn Yaph plbnwjhtt wbyyniop hwjwuwpu-
swih £ pupfuJud [—7, 7]-nui: Qapbky Gpdwd Ytph wpughuh hwjubw-
Quinipynibbbiph pwojudwb fjupnienibn:

339. Yhgnip € wuypuwhwuwbd dEdnpjuwd pupludub $nblyghub hw-
Juuwnp £

0, <0
x/4, 0<z<1
Flz)=<1+%2,  1<az<2
11/12, 2<x<3
1, x> 3.

Quiity P(§ =), i=1,2,3 1 P(1/2 < £ < 3/2):

340. Wyppnpnwubitipp, npnig wppuupuitipwhtt dwdp ujuymd £ wnw-
Yympyub dudip 7-ht, Jubqueht G0 dnpbbnd 15 pnyt pbnihenudny:
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Wuhbpb bpwbp swpdynd G dwdp 7-htb, 7:15, 7:30, 7:45 b wyb: Ghpun-
ptny qubqunhtt dnplibwnt yuwhh hwjuuwpwsunth pupjujudnienibp
duwdp 7-hg 7:30 dhowluypnmd, hwpyti hwjwbwlwbniyembp, np w
Quuwuh w) ng wytih pwi 5 powk, p) 10 pnwjtihg wytih:

341. Yhgnip € qupuwhwlub dtdnmpmniip hujwuwpwswih £ puofu—
Juwd (0, 10) dhowuypmui: Swoyly € < 3, € > 6,3 < € < 8 wunpwhnip-
Obph hwjwbwwbnmpEnbn:

342. d%hgmp £-0a = 3, 02 = 9 wupuityptipny Gnpiwg puppuywd
wupuhwlub dEdnipmib k: Swoyty P(1€ — 3| > 6):

343. Ahgnip £-0 a = 10, 0 = 36 wwpwitapptipny tnpdwy pushugwd
wuwypuwhwlwbd dedmpynid k : Swptp w) P(€ > 5); p) P(4 < € < 16);
9) P(€ < 8); ) P(E < 20); b) P(€ > 16)

L

344. Yhgmp -0 L n-0 dhubnyb (Q, F, P) hajuiwluiwihd qu-
pwoniejwlb Yypw npnpjuwd yuypuwhwluwb dkdompymbbtp Gb: Wygugnighy,
A =A{w: (W) <nw)i-b B=A{w:{w) =nwibC={w:
¢(w) < n(w) -0 yupuhnypibp bb:

345. ¢ U n wuypwhwiwb dGdmpynabbpp npnpywd G0 dhebnyh
(Q, F, P) hwjwiwwiwht qpupwdnpjuid Ypw: Wuyugmgti, np
w) {+n,p) -1, 4) 1, n) max(§,n), &) min(§,n) yupuhwlub
ubonipnibbtin Gb:

346. Yhgmp &1, Eo, ..., &p, ... qqupuhwlub dGdnpynbbbpp npnpYud
tb dhubnyt (2, F, P) hwjuwiwluiwihd pupuwdnpiub ypu: Wywugni—
ghil, np

inf&,, sup&,, lim &, lim én
n n n—00 n—00

wuypuwhwlub dtonpymbbtp Go:
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347. %hgmp &-0 yupuwhwlub dtdmpjnib E, huy f(z)-p pnpbjwb
dnilyghw k: Qyugmgty, np 7 = f(§)-0 wuypuwhwlubd dGdnpymb L

348. Qupupwd thnpdtph € phyp Mnuwunth pwfunmd nibbgnn
uupuwhwlubl dEdniemb £

)\k
PE=k)= T e, k=0,1,2,..:

Snipwpwbigjnip thnpd p hmjuwbwuinpjudp Jupnn £ hot; hwonn L
(1—p) hwjuwiwwimpjudp wihwenn: Wupmgh) hwenn thnpatph pyh
pwpfudwll optibipp:

349. %hgmp F(z)-p pwphudwd $nilighw b Wyugnighy, np

z+h

z+h
Gl(:v):% / Pu)du, Gz(x):% / Fu)du

z—h
dnityghwdtipp gmbjugwd b > 0 nhypmd hwinhuwbnd b pupudub
P$nilyghwbrttip:

350. V“hgnip F(z)-p pwpudwb $nibyghw E, pip npmyd F(0) = 0:
Wwywgnigti, np

Glx) {g(@ - F(3), o

P$niyghwdt hwinhuwbnud £ pwojudwd pnbyghw:

351. Ugugmghy, np Gpb pupjuiwt $nmibyghwd wbptnhwgp £ mnnh
Jmpupwlsjnip Yhypnd, wyu wyb hwjuwuwpusuth wbpbnhunp £ unipnne
ninnh Ypuw:

352. Uyugmghy, np gubjugud pupjudwd $mbyghw Jupnn E ndb-
wy ng wybith, pub hwpytih pyny fuquwb Yaptp:
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353. YGuphn t wprynp puppudwd $mblyghwjh uqiwb Ytaptph pug-
unipynibp 1hot] wdtimpbip juhgp ninnh Yypu:

354. Y%hgmp F(z)-p & unpuhwliubd dtdmpjubd pupudwb $mbly-
ghwb E: Qupbity %({ + |¢]) wuypuhwlui dbdmpjud puphuiud $mbl-
ghw:

355. dhgnip F(z)-p £ wupuhwlubd dbdmpjud puppuiwb $mbly-
ghwi L: Qb 7 = aé + b uypuwhwlwd dhdmpjub puoudwd $nibly-
ghw:

356. “hgmp & quypwhwluh dedmpub F(z) puofuiwb $nitiljghwb
wiptnhwy B Qo 7 = F(€) yupuhwiub dtdnpjub pupuiiwb
P$nilyghwi:

357. Spowbh punuwyhnp sathywd £ dnypuynpuybiu: Qpbty ppowdh
duwtiptiuh puwohudwt $mbljghwt, hmdiwnptyng swpwyhnp hwjwuwpuw-

sunth puppuqwd [a, b dhowljuypniy:

358. Wywgmgt], np onpdwy puwphunid nibignn wuypuhwyjub db-
onipjniihg qdwjhtt $mdyghwt bu bnpdwy k:

359. ¢ wupwhwljuh dEdnipynihl mih tnpiwy pwppunud (a, 02) -
pudtipptinny: Qpity signé yqupuhwub dtdmpjub pusfudwb dncdly-
ghw:

360. thgnip £ ~ N (0, 1) upubnupy tnpiw) yupuhwlub dhdnip-
ymb k: Qi n = £2 wuypuwhwlub dtdnipjut hwjwbwlwbnyeynibbbph
pupjuiwll hpnienibp:

361. ¢ qupwhwlwh dEdnipynihl mih tnpiwg pwpunud (a, 02) -

pudtappipm): Qi w) 7 = €2, p) n = £ wupuhwlwid WhdnpE-
Jmbbtph hwjwiwuwbnyeynibbbtph pwojudwd popmeynubbbpp:

362. £ wupuwhwlub dtdnipynihh mbh gnigswyht puppund A = 1
wwpwuitiyppny: Gk n = e¢ wuwypwhwlwb dednpjuid hwmjuiuju-
Onipjnibbbph puwphudw jugpmeymbn:
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363. Yhgnip ¢ wuypuwhwlwd dtdnmpjui hwjubwuingembdtph
f(z) pwphutwb fopmpymbh £

)0, zx ¢ (—1,1)
fe) = {;(:I:—i-l), ze(—1,1):

Gapiti) ¢ hwuypuypnmop b p =1 — £2 wupuhwliub dEompjuid hujw-
bwljubnipymbbbph puwphuiwh jugpmieynibn:

Puqiwswth yuypuhwljui dEdmpina b pupjudwt $mbljghw

Uhlbnytb (2, F, P) hwjuiwywiwiht pupudnipiub ypw npnpdud
&1(w), &2(w), ..., & (w) upuhwlwh dkdmpymbbdbph &(w) = (& (w),

& (w), ..., &(w)) hudwhdpnipymip Yngdmd £ n quthwih wupuhw-
Juib dtompn jud yqupuwhwwb ytyypnn:

Pe(B) = Plw: &(w) € B) = P(w: (61(w), &2), .., &u(w)) € B) —

B € B(R"™), wbjwbmu &b £ = (&1,&2, - .., &) yquypuhwlwub Julpnph

pwpjunid:
Uwubwynp nhiwypnud, ipp B = (—00, 1) X (—00,22) X ... X (—00, Zy,)

Feigorn (@1, @2, ., 0n) = P(w: & (w) < 21,6(w) <2,
gn(w) < mn) = P(gl < 1'1,52 < T2,... 7£n < fL’n)‘D Tk € Ra
E=1,2,...,n, wbjubnd &b £ = (£1,&2,. .., &) gqupuhulud Jal-
ynph puwofudwh $niighw Gud €1, o, - - -, & upuwhwluwb dEdnpnid-
Obph hmiwbn puppudwb $mblghw:

Puqiwswth puwopudwd $nibljghwtt odpjwd £ htplywy hunpyni-
pymbbtpny
Lo Fey o, h 1€t rn (T1 T2, oy Thm1, They Tht 1, - - -5 Tp) <
S Py oo gt (T1 0255 Tl Ty Tk 1 -5 T
tpp v < 2, k=1,2,...,n:

2.im Fe ¢, ¢, (x1,22,...,2,) =0, tipp 2;-hg qnbt dtlp aguynud
L —ocol

xll—i>m+oo Fe go g0 (@1,20,...,20) =1

To—+00

Tn—r—+00
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3. Fey i1 g 1o (T1, 825+ -+, Th—1, T — 0, Tpp1, ., Tp) =
= Fei 01,60t 110 (T T2 oy Tl 1y Ty Tht L - -5 T
k=1,2,...,n:

4, Bwiljugwd a = (aj,as,...,an)-h Wb = (b1,be,...,b,)-h hwdwp
akgbk,kzl,Q,...,n

Aa1b1 e Aanbn F&’&’m’gn ([El, T, ... ,.Z‘n) > 0,

npptin
AakbkF&,52,---7§k—17£k,§k+1,---én (T1,T2, .« o T 1, Ty Tht 15 - -+, Tn) =
= Fey o1 6pobpg1omn (T1 82 o Tl 1, Dy Tt -+ ) —

= Feitosstimvi6uiisnioién (T1,225 -y T 15 Ay Tho 15+ - -5 Tn)
Ungynud £ qpuppbipujub owtipwnn:

Lotilp Ol Fe ¢, ¢, (21,22, .., 2,) dmbyghuyh dmu Juplnp
hupympynibbbtpp’
w) F§1,§2~~~,§i,~~7§j,~~-,5n (T1, 225y @iy 1Ly , Tp) =
= Feyojrinn (T1, 02, Ty Ty oo, T) (hundwguthmpywil
hwynipynil)
p) F§1,...,§n_1,§n (mla L2,y Tn—1, +OO) = F§1,£27...7§n_1 ($17 L2,..., xnfl)
(hwiwdwjibgywdnipjul hwpynipnid):

1 - 4 qwydwbbbpht pujuwpupnn gubuguwd  F(z1, 22, ..., Ty)
dmbyghw, z; € R, k = 1,2,...,n hwinhuwbmd k npukt € = (&, &9,
<o v &) quypuwhwlub Yalppnph puppuiwt $niblghwr

Felgo en(@1,22,...,20) = F(21,22,...,2p) :

§ = (61,62, -, &) wuypuhwlub Yuhypnpp nhulptip b, tpb jnipu-
pwlgmp &0, £ = 1,2, ..., n nhulptp wuypwhwlwb dGdnye)nb k:

Gpt £ = (&1,&, - - ., &,)-0 nhulptup £, wyu guijugwd B € B(R™)
hwdwp

,Pﬁ(B) = P(€ € B) = Z Diyia,... ins

nmptin
Disiysin = P(&1 = ki, &2 = kiy, ..., &n = ki),
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huy k-0 &5, 7 = 1,...;n qupuhwjud dtdnipjud htwpuynp wpdbtip-
Otiphg vty k:

§= (&1, &2, .., &) qupuhulub Juyypnpp pugupdwy wopbnhwg
L, tpb gnynipynih nibih ng pugwuwlwb papbpwb fe 6 e (T1, 22, .., Tn)
dmiyghw wybwhuhl, np gubugwd B € B(R™) hwdwp

Pg(B) = P(f c B) = /f&’&’m’gn(wl,xg, R ;-Tn) dridzs . . .dxn,
B

wjuptin

/f517£2,-~~7£n (a;l, To, ... ,a:n) da;ldxg . da;n =1:
Rn

Uwubwynp nhypnud, tipp B = (—00,21) X (—00,22) X ... X (—00, Tpy)

Fegoen(@1, 02, .. 2n) =
1

Tn
f ce f f§1,£2,...,§n (ul, U, . .. ,un)duldug e dun,
—o0

—o0
o0 o0

wyuptin [ ... [ feenen (Ui, ug, . un)durdus . duy, = 1:
—00 —00

Jer o, 60 (@1, 22, .., 2p) Sbyghwl Yngyma k n-guthwbh € = (&1,
&2, ..., &) qupuhwlub dEdmpjui fopmpymb:

Bwiugwd f(z1,z2,...,2n), 2k € R, k = 1,2,...,n mbyghw,
npp pujwpupmy £ htplyw) hwugpynipymibbbpht’
Lf(x1,z2,...,25) >0,

2. [ ... [ flxr,mo,. .., xn) derdey . day, =1

hwinhuwind £ npbt yuypuwhwuwb yapnph popnieynia:
Uotilip, np
[e.e] oo
feo(we) = [ .o [ feigonen(@, @2, an)dey .. deg_1depda,
—00 —00
Phtptbp huppbh puquusuth puppudwl ophbwy.
Enlswith inpdwy (Swnwh) pwound aq, ag, o1, o2, 7 (01 > 0, 02 > 0,
| < 1) wwpwdtpptpny
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—a1)?2 2 — —
f§1,§2($1,$2) — me){p (_2(1i7~2)[(x1 31) _ 2r(z1—a1) (w2 a2)+

o1 0102
(za—a2)?

o2 ])3
MNunpuhwljut JEdmpymubtph wajujumipynia

&1, &9, ..., & qupuhwub Ubdnuye nibitpp Ynsynud Gh wbljuipu, bt
B; € B(R) ,By € B(R), ..., B, € B(R) hwiwp

P(§1 € By,...,& € By) = P(§1 € B1)P(& € B) -~ P(&, € By) -

&1,&, ..., & qupuhwuh dGdmpynbbtpt wiu o wyb b Shwyh
wyb nbiypmy, Gpp

F§17£27"'3£7L (:E17 :L‘2’ R 7$n) = F§1 (xl)Féé (xQ) o an ('1"’!7,) :

Yhuypbyp upwhwud dGdmpymbbbiph wbiunput hwdwup wb-
hpwdtpy £ b pudwpup, npytiugh

P& = ki, 60 = ki) = P& = ki )P(&2 = kiy) - - - P(n = ki) -

Pugupawl] wipinhwun wyuypuhwijumb dGdnpymbbbph witupunipub
hwdwp wbhpwdtion £ U pujwpwn, npytiugh

f§1,§2,---7§n(x17$2a cee a$n) = f§1 (xl)f& (1‘2) T ffn($n)’
r, €R, k=12,...,n:

MNuydwbuuid pupfumdttp

2Y%hulptiyp nliyp. Gpt £-0 U n-0 nphulpbiyp Wyuwpwhwlwh dGdnyeymbbtp

G0, wyuw & yupuwhwljub dbdmpjub puofunmd 7 = y wuwydwbh nhypnid
uwhdwinynud k£ htaplywy pubwabing
PE=xzn=y) _plxy)

pep(®y) = PE=a/n=y) = —po— 5 = P(y)
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y-h pnpnp wyb wpdbpbbiph hwdwp, npptn py,(y) > 0: § wupuhwlwb
ttonpyul yqujiubwljub pupjuiwb $mbhghwd n = y yuydwbh nbu-
pmd uwhdwbynmd £ htplywy pubwabng

Fepplw,y) = P(E<x/n=1y) =Y pemlaly)

a<z
y-h pninp wyb wpdbiptiiph hwidwp, nppbin py (y) > 0:

Qoapinhunp nbyp. Yhgnip € b 7 wupuwhwlub dGdmpymbbbph
mbbi hwiwptin f(z, y) ppmpyub $nbyghw: € yuypuwhwlui dtdm-
Pyl yujiubwlub ppnyeynih 7 = y wuwydwbh nbypnd vwhdwbynd
L htaplyw) pwbwalng

f(z,y)
fn(y) ’

y-h pninp wyb wpdtipbtiph huwdwp, npptin £, (y) > 0: Vwubwynpuwtu,

fem(x/y) =

Fepmla,y) = /a fepn(x/y) da

Q

364. (£,1) quypwhwlwb Yulppnph pwopudwd fjupnipymbp hwjw-

uwp Lk .
T@) = Ge @)

Quplty -0 b F(z,y) puphutiud $nibyghwb:

365. (£, 1) wupuwhwlwb Ytppnph pwopudwd $mbyghwt hwjwuwp

1—-27%—-279 4 27%7Y, x>0,y>0
F(z,y) =
0, uhwgwd nhiyptipmu:
1) Quoty (§,7) yupuwhwub Yaph 2 = 1, 2 = 2,y =3,y =5

ninhnbbpny vwhdwbwthwywd nnnuiljuipn wgupubdbint hwjubw-
Jubnipynibp:
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2) Qpiby tplguh puphidwd f (2, y) faopnpyniip:
3) Gty (€, 7) wwpwhwlwd Ytaph A(1;3), B(3;3), C(2;8) ququp-
Obpny Gowblyjubp quppuitkinm hwjubwwuwbnyenibp:

366. (£, 1) yupuhwljub Yaypnph hajuiwubnpmbbtph puhu-
dwlh ppnipgnibp hwjuwuwn k

a
Sl a? iy taty?

f(z,y)

Quplbby a gnpdwlhgp: @it € b 7 wupuhwlub dtdnieymbitph gkl
swithwih pwohudwh fupnipymbbbpp: Waiw'fu G0 wpynp -0 U n-0:

367. (£, 1) yqupuhwlub Yalppnph hwjuwbwubnp)nibbbph puphu-
dwl pppnpynidp hwjwuwn k

ze~ (1Y) z>0,y>0
flz,y) =
0, dhwgwd nhiypbpnud:

Swoytip w) £ wuwypuwhwlwb ddnpjwd hwjwiwwinpnibbbph pwoiu-
dwil fuypnpynibp, p) 7 upuhwuwd dedmpjut hwjuiufubingenb-

Obph puphuiwl fugpnieynbn:

368. (£, 1) yqupuwhwlwb Yalppnph hwjuwbwubnmpnibbbph puhu-
dwl pupnupyniop hwjuwuwp £

) 24zy(1 — x)2, 0<z<1,0<y<1
x, =
Y 0, dhwgwod nhypbpnud:

Wwuwgmghy, np €-0 b -0 wiwju Go:

369. (£, 1) yupuhwlub Yalppnph hwjuwbwubnp)nibbbph puptu-
dwl pppnpynidp hwjwuwn k

) 242%y(1 — z), 0<zx<l,0<y<l1
z,Y) =
Y 0, dhwgwod nhypbpnud:
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Wuyugmgty, np £-0 U -0 whwfu Gh:

370. Ltipnud G0 2 quinbwynp qupe: Qapibp € b 7 yupuwhwlwib
Ubdonpymbibtph hwiwptin hwjwiwuimpnibbbph pwshunudp, bpl

w) £-0 tpyme quotiph Ypw pugdwd dhwynpibphg dtdwgnybb L,
hulj 7-0 Gpynt quntiph Yypw pugwd dhwynpbbiph gmuiwnb E:

p) &-0 wowehli quoh Ypu pugdwd dhwynpb b, hul -0 Gpym
quntiph ypw pugywd dhwynpbitinphg dkdwgnybb t:

371. Uwthnphg, npp wwpnibwynmd £ 5 uyghypwy b 8 updhp qhnhy-
Otip, wnwig Yytpunupadwt hwimd &b 2 qinhly: hgnip &-0 phmond
E 1 wpdtipp, tipt piyppywd -py qnhyp uyhypuy k, W0 wpdtipp” hwijw-
nwl] nbiypmu: Gapbt) €1 b 2-h hwdunptin hwjwiwuinpub pusuni—
up:

372. Yhgnip &, n U (-0 wijwhu yupuhwub JGdnyenbbtp Go,
non npnud (-0 ponpnuomd k1 Jud 0 wpdbpbtip hwiwwwipuwuppwbwpwp
p . ¢ hwjwbwuwbnipymbdbpny, p+¢ = 1, £-0 b -0 bbb hwiwyw-
puwupiwiwpwp F(z) b G(z) pwppuiwd $niblyghwitip: Gty htiplguy
yupuwhwub dudmpmbabtph pujudwb $mbhyghwbbpp

w) ¢€+ (1=,

p) ¢€+ (1 —¢)max{¢, n},

@) (€ + (1 = ¢)min{{, n} :

[L

373. Qgqugmghj, np yupwhwlub dtonyeynihh wbwju k htpb hpb-
Ohg wyh b dhwyh wjb nhypmdy, Gpp wyb 1 hwjwbwljubnipjudp hwu-
ugpnb k:

374. %hgnmp -0 b n-0 Shunptivwy puppujwd wifwhe yupuwhwwb
dtdmpymittp &b b P(§ > 0) = P(n > 0) > 1/2: 8hyp °E wipnynp, np
P+n>0)>1/2:

375. %hgnip £-0 b -0 wuypuwhwwb dGdmpymbbbp Gh, phn npod
P >0)=Pn>0)=3/4u P +n>0)=1/2: Ugugmgty, np
é-0 L n-0 whuwju kb
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376. “hgnp € b 7 yunpuwhwlwh dEdmpmbttpp 1 hwjwiwljw-
nmpyudp hwjuwuwp sbb hwupupnibbiph, pip npd P(§ < n) = 1:
Yupnf) G -0 U -0 (hOh wbuwju:

377. Yhgmp &, 1, ¢ quypuwhwlwd dGdnenibbbph wybyhuht G, np
§-U whwhu k(17 +¢)-hg: Wawhu £ wpnynp §-0 77-hg b (-hg:

378. Yhgnip &, 1, ¢ yuypuwhwlwb dtdnyeymbdtpt wybwyhuht G, np
¢-U whwhu £ 7-hg L ¢-hg: Wolupu £ wpnynp £-0 (7 + ¢)-hg:

379. Qnynipynih mbE’h wpynp wybyhup € b n Yupuhuub db-
onipynilbbip, np 1 hwjuwiwuimpyudp £-0 b 7-0 hwupugpnibbtp sk
) €0 (€ +7)-0 wiljwhu GG, p) &0 b (€ -7)-0 wbijwhy b0, g) &0,
(&+n)-0u (€ n)-b pup hwiwpudpmpyub wijwh Lo

380. “hgmp ppywd E htuplyw; hwjuiwluiwhd pupudmpmop’
Q0 =1{1,2,3,4}, F-p Q-h pninp thpwpuqimpmbdtph nuub k, P(1) =
P(2) = P(3) = P(4) = 1/4: GWunmgh] wyn pupwdnipjul Yypu bpyne
whuwp yuypuhwlub dtdmpnbbtp, npnip 1 hwjubuubnipudp
hujwuwp ghbkb hwuypunpnibbbtiph:

381. Yhgnmip £-0 b 7-0 wiwh wupwhwlwih Jadmpymbdtp Go,

f(x)-p W g(z)-p pnpbpyub $mbhyghwdtp to: Wyugmgty, np f()-0 L
g(&)-t tnybybu wiwhu bb:

382. Yhgnip &, 77, ¢ uypuwhwlwd WEdnpnibabpd puyp hwiwpdpnip-
jwl wiuwp Gb: Wohwp Yhot't wpynp € W (n 4+ () gupwhwlwb
dbonipymbbtpp: Whnpuh” wuypuwupiwbnp, et &7, ¢ |hokh gnyq wn
qnyq wbluju:

383. %hgnip &1 U &o-p dhlbnyb Gpypuswthwlub puppund mbbkgnn
wiup yuypuwhuwub dtdmpnibdbp Gh: Wuyugnighy, np

1
P& =k/&+&=n)= " k=0,1,2,...n:
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384. “hgnmp &1 U Eo-p hwdwyupuupuwbwpwp A b A2 wupwdtp-
nptipny Mnmuwuntih puphunid niiignn wijupu yunpuwhwljub dtdonipnib-
Obp Gz Snyg ypwy, np

P& =k/& + & =n)=CFpf¢" % k=0,1,..,n,
npbin p = A1 /(A1 + X)), g =1—p

385. %hgnip & W -0 n U p Wuwpwditipptpny wiup phindwub
wyupuhwliub dbdnpymbbbp Gh: @bt € + 7 = m wuwpdwbh nhwypnid
& yupuhwlwb dGdnipjub pwpundp:

386. Ltpmd tb ipynt quin: Lwpwgnpty puppujub yunpuhngp-
Otiph pupwdmpynip: Hhgmp -0 wnwehhl qunh Ypw «6» pugybint
phyl k, n-U «6» pugytym phyt k tpypnpn queh Ypw: apaty € b n-h
hwdwntin puwpfunuip: Wyugmghy € b 7 yupuhwliub dtdnenibbbph
wbwhunipynibp:

387. Ltypmd b bpynt quin: Lwpwgpty puppujub yunpuhngp-
Otiph pupwdnpnibp: Yhgnip £-0 wnweohlt qunh Yypw pugyud dhu-
Unpbtiph phyt t, 7-0° tpypnpn queh Ypw pugqwd shwynpbbiph phyp:
Qo (§37) Ythpnph pupputwd opklipp: Wayugnighy § b 7 wupuhw-
Jub dtonmpynbbtph wiwhinipynibn:

388. (£,1) quypwhwlwh Yulppnpp hwjwuwpwsuh b pupfuud
A(-1,0), B(1,0),C(0,1), D(0, —1) ququpltpny punwlniun bhpunud:
Qi fe,(z,y), fe(z) W f(z) hpnuyeymbbtpp: Wohwiu 60 wprynp &
L 7 yqupuwhwuub dtdniembdbpp:

389. (&, 71, ¢) wunpuwhwluwb Ytpnpp hwjwuwpuwswih £ pugpujud
guuind, nph pwpdpmpymip hwjwuwp £ 2H, hhdph swpwphnp R,
Ytbyppnnip gupiymud £ Ynnpnhtbwpbtinh ujqpowytiqnid, huly dtnpnp gni—-
quhtin £ OZ wnwigphti: Gapbty wyn Yblppnpp jmpupwubsjnip wpnyty—
ghuyh puwphuiwd fpnipymbp: Wawh 0 wprynp wyn wpnybyghwbbpp:
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390. (&, 7, ¢) wupuwhwiwb Yupnpp hwjwuwpwswih £ pugpujud
r oununinny S qinh dbe: w) Quplity wyn Yhynph jnipupwibisjnip Yni-
wnbbtph pwphidwl fupnipgnibp, p) h'og hwjwiwuinpyudp (£, 7, )
wuwypuwhwluwb Ytgp Yqpigh S-h htp hwdwybigppnt 7/2 ywnunny
qbnh bbpunud:

391. Wuqugmghiy, np tiph Fe(z) b F)(y) pupfudwb $mbyghwbtipp
wipinhu GO hwmiwyunpuwupwbwpwp g b yo Yhgptipnd, wyw tply-
sunh F ;) (z,y) pwpputwh mbyghwt wipbnhunp k (2o, yo) Yhypnu:

392. Gunmgl] wjbyhuph tphswth puwopudwt Pmblghwyh ophbwy,
npp (hoh wopinhuy (2o, y0) Yhypnud, vwluyb dbl sahwbh Fe(z) L
F,(y) pwppudwd $miyghwibtpp hwiwwywpuupnwbwpwn o b yo Y-
mtipnud |hokh hugynn:

393. Y%hgnmip F(z)-p & qunpuhwluwb dtdmpjubd pwpudwd $mbly-
ghwlr & Gupbity w) (£,€), p) (& [¢]) wuwpwhwywd Jaypnph F(z,y)
pwpfudw pnibyghwi:

394. %hgnip € b n uypuwhwub dEdnipynibitph hwiwgbin pnie—
jub $mbyghwb £

6
f(iv,y)z?(a:2+$2—y), 0<z<1,0<y<2:

w) Swinqyby, np wyb huuwbu ppnpyut $mbyghw t:

p) Swoyt) € wuypwhwlwb dtdmpjul upmpjud $nbyghwi:

q) Qapdiby P(€ > 7):

1) Sty Py > 5/€ < 3):

395. Yhgnip &1-p b E9-p Unphh upubnupp pwpfund nibtignn wi-
Juwjh yupwhwlwh dedmpmbdtp Gh: Wyugnighy, np n = 1%215522 wuw—
puwhwlub dtdmpinibp bnybybu nmbh Ynphh pwphunid:

396. Yhgnip &1, &2, .., &y, ... wijuwp Shwupbuwy pwludud ww-
puwhwlub dbEdnyeymbitp b, npnip 1/2 hajuwbwuubnmpmbbtpny po-
o

nnumy Gl 0 Jud 1 wpdbpbbip: Qpotpn = g—fg wunpuwhwlub dtonip-
k=1

Jul pupjunidn:
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397. Yhgnip &1, &a, . . ., & wluu, hupbuwl puphuduwd yugpuhw-
Jub dtdnpymbdtp Gh, pbn npnd
P&=1)=P&=-1)=4%, i=12...,n

n
Qi 7, = [[ & gupuhwlub dbdnipjub pwphunuip:
=1
398. Yhgnip ppwd k (€, 7) phsuth qupuhwlubd dednpub hw-

dunptin pwppunudp’
p(1,1)=0,5, p(2,1)=0,1, p(1,2)=0,1, p(2,2)=0,3:
Qupib & wuwpwhwlwh dbdnpjuwd pupunwip 7 = 1 wuwydwih nhuypnud:

399. Y%hgnip ppud (€, 7) phswth qunpuhwui dednpub hw-
dunpbin ppniyut $nibljghwut

f( ) C(y2 - 'IQ)e_ya ) S X S Y, 0< Yy < oo
x,y) =
Y 0, dhwgwd nhiyptipnud:

w) Qapiiby ¢ gnpdwlhgp:
p) Qb £ b 7 gupuhwlub dEdnmpymbitph opnipub $mbly-

ghwbtipp:

400. “hgmp ppdwd k (€, 1) bphsuh gupuhwlub dednpjui hw-
dunpbtin popnieyut $nibyghwt

e~ (@) 0<zr<oo, 0<y<oo

f(z,y) :{

0, ubwgwd nhiyptipmu:
Qi P(§ < n) b P(§ < a), npiptin @ > 0 hwuqpuypmb phy E:

401. “hgmp ppdwd k (€, 7) bphsuth wupuhwiub dednipjui hw-
dunptin popnipyut $nmblyghwut

ze— (1Y) x>0, y>0
fla,y) =
0, dhwgwd nhypbpnud:

w) Qiby £-h upmpyuit $nibyghwt 7 = y wuwydwih phypmy L
n-h hupnipyub pmbyghwbd € = xr wuydwbh nbiypnid:
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p) Qi ¢ = £n-h fupmipyud pmayghw:

402. “%hgmp ppdwd k (€, 7) bphswuh gupuhwlub dednipjui hw-
dwpbtin puppunuip’
p(L,1)=1/8, p(2,1)=1/4, p(1,2)=1/8, p(2,2)=1/2:

w) Qi 7 = 4,7 = 1,2 wuydwdh nhypmd § yuwpwhwlwb
utkonipjub puphunudn:

p) Wohwju 5’0 wprynp &-0 W n-b:

q) Nwodty P(§n < 3), P(§+n > 2), P(§/n>1):

403. “hgmp ppdwd k (€, 1) tphsuth gupuhwlub dednpjui hw-
dunptin opnieyut $nibyghwt

f( ) C(:EQ - y2)e—x7 0<z< 00, —x < Yy <z
xT,y) =
Y 0, dhwgwd nhyptipnud:

Qupit) € = z yuydwbh nhypnd 7 yupuhwub YEdmpjub puofunuip:
Nupuwhwljut WEdnipymuttphg $niuljghwgh puwofunudip

UYgnp € = (€1.€, ..., €)-0 n-wihwh yupuhwlwl SEde-
bk, Fey e, e, (21,22, Zn)-p pw pupfudwln $mblghwi E, huly 7
= (n1, 2, -, Pm)-0 m -suhwbh Wunpuhwlwbd dGdmpjnib k, npiptin
Nk = fk(§17€27 s 7571)) k= ]-7 25 co,ml (I)nl,...,nm(ylu Y2, -, ym)_[l
Opw puppudwd niilyghwtn £: W nhypnd qpbnh mbh dbpjuyugnod

Dozt (Y1, Y25+« Ym) = / . '/dF£1,£2,...,£n (r1,22,...,2n),
D

npuptin
D = {(z1,22,...,20) : fj(z1,22,...,20) <y;,j=1,2,...,m} :

Gpb n-quthwbh £ = (&1, &, . . ., &) uypuwhwlwh dkdnipymbh mbh
Jer6o,tn (@1, 22, ..., 2p) pupludwl iy, wuyw

(1)7]177727--~777m (y17 Y2, ... 7ym) —
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:/---/f§1,§27...,§n(x17$27~'-,$n)d$1d$2---dxn:
D

bpt § = (&1, &2, - -, §)-n n-swhwbh nhulptap Wupwhwlub dk-
onipynih k, wmyu

(1)771»772a~~~>77m (ylv Y2, -, ym) = Z DPivia,..sins
il,iQ,-~~,in7
Fi (ki skigseskin ) <yj,
1=12,...m
nptin
Piyjig,csin = P(§1 = ki17€2 = kizv N k'ln) :

404. dhgmp &4, &o, ..., &, wiljwu wwipuhwljub dGdnenbdtph
mObh dhubingd F(z) puphudwud $mbyghw: Qapiby

gzmin(£1a€25-“a€n) L n:max(glag%“'vé—n)

wuypuhwlimb dtdnmpymbbtph pupjuiwb pnibyghwdtipp:

405. “hgmp &1, &9, ..., & qupuhwub dEdmpymbibpd wiwp Go
U mbbh hwiwyuwguwupwbwpwp Ag, Ag, ..., Ay, wqupudbppbpny gnig—
swjht pwofunud: Qapiity 7 = min(&y, &, ..., &) Wuypwhwlwb dEdnpjub
pupjuiwl pnibyghwbs:

406. “hgnip hwpth G € U 7 wijwp yuypuwhwlwd dGdnpmbbb-
ph pwpfudwb optilipitipp’
E1—-11 0 1 n| 0 1
P10,2]0,3|0,5 P |0,4]0,6

Quity €+ 1, € —n, &7 gqupuhwlulh JEdmpbdtph pwoludwi
opkbpbtinn:

407. %hgnip ¢ U 7 wiuwn yupuwhwluwd dGdnipymbtbtpd ndkh
htuplyw) pwohudwb optibipbtipp’
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El o0 1] 2 n] 0] 1] 2
P|0,2]0,4]0,4 P10,3/0,3]|0,4
Quity € + 1, € —n, & n gqupuhwlulh dEdmpbdbtph pupudwb
opkbpbtipnp:

P

408. & L & wijwp wuypuwhwluwb dtdmpymbbbpp puppuduwd Gh
dhtiny tpypwswthwlwb opkipny (P(€ = k) = ¢*p,k = 0,1,2,...):
Yhgnip 7 = max(&1, §2): bty n-h pwphunidp b (7, §1)-h pwpfunuip:

409. “Yhgmp &1, &9, ..., &p-p vhubnyl F(z) pupludwd $mbyghuyny
wiuwhn yupuwhwluwh dhonypmibibp Gh: Lowbwytip

é.:min(glag%“')gn) L U:max(ﬁl,f%mafn) :

Qnlity) (€, 7) wwypwhwywi Yelpnph pughidud $niblyghwd b ogpugnp-
otiiny hwdwntin pwofudwl $mblghwi, qupity € b n-h Jhwswth pwppu—
b $mblyghwbbpp:

410. Yhgnip & U & wijup wguipwhwwb dtdnpymbbtph nidbkh
hwdiwwywpuupnwbwpwp A1 b A2 yupwdtipptipng gnigswihtt pugfunid:
Uyugmghy 71 = &1—& b e = min(&1, &) quypuwhwlub dkdmpnibbb-
nh wtuhunipmniop:

411. Yhgnip (&1, &2) yuipuwhwlwb Yhpt mbh hwjwiwwbnpnio-
ttph hwjwuwpwsunh puppunid {(z,y); 0 < =z < a, 0 < y < a}
pwnwlmunt Gkpunud: 8nyyg puy, np & — & b min(&y, &) yuypuhwlub
utompymbbtpp bbb dhubny b pupjumd, wjuhbpl, gubjugwd t-h hwu-
dwp P(& — & < t) = P(min(&1, &) < t):

412. Yhgnip &1 U Eo-p wbpinhwg puppudwb $nibyghwbtipny whljwfu
wuwpwhwuh dEdmpnbbbp 6o b n = & + & Wayugmgh, np
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p) tpb & U & yupuhwluh dedmpynibitphg dtht mih hwjubwyw-
Onipynibbbph puphudiwd fugpnipynid, wyu

/fil dF£2( v) Quu fn /fiz dFél( )

q) iphk U &1-p, U £2-p mUbkt hwjwiwuinipymbbbph puphudwb fpnip—
Jmbbtipn, wyu

/fg1 v) fe,(v) dv = /fg2 —u)fe, (u) du

413. Yhgnip &1 U &o-p wipinhwg pwyhudwd $nblyghwbtipny wiljwfu
wupuwhwliwb dtdnpymbdtp 6o W n = & — &: Qyugnighy, np

[e.e] o

w Fyfe) = [ oot o)dFe(o) = [ 1L Falu-)dF; o)

—0 —00
p) tpt & L & wgupuwhwlwh dEdmpymbdtphg db4t nbh pwpiiwb
hopnieynih, wyuw -0 bu mbh hapnieymb b

/f§w+vﬂ&x)lwdh /f@u—wm&x)
q) tiph U &-p, U &-p nibkil pwphudwll fapnipynibithp, www

/mwwm m—/m ) e (1)

414. Yhgnip & U & wijup wupuhwlwb dtdniupynibbbtph nudbkb
wipinhunp puppudwd $mbyghwibp b n = & - & Wyyugmghg, np
0 oo

w F) = [ [1-Fa (2)]dFa + [ Fo (%) ara .

—00 0
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p) tpb & U & yupuhwluh dedmpynibitphg dtht mih hwjubwyw-
Onipynibbbph puphuiwl fugpnipynb, wyw n-0 bu mbbbu hwjuwbw-
Jubnipymbbbph pwohudwd pppmpymt b
[e.e]
1 x
fue) = [ e () dFe (o) b (o ‘ e () P )
—00
q) tpt & L & wupuwhwywh dGdMpMbbtpt mobh fupmpymbbbp,

wwuw
o0

x
—00
415. Yhgnip & L & wijup wupwhwlwb dtdnpymbbtph nidbh
wipinhu puppudwd rmbghwitin b n = %: Wwwgnighiy, np

0 [e'e)
w) Fy(x) = / 1 — Fe, (ve)] dFe, (v) + / Fe, (vz) dF, (v),

p) tiph &1-0 mbh ppnpynid, wwyw -0 bu Ynibbbw opngpynid
o0
fo@) = [ 1ol fes(va)dFes(v),
—00
@) tpb &1-p W &-p nubkl fugnipynubibp, wuw
o0
@)= [ 1ol 00 fea(w) do
—00
416. Yhgnp fe, &, (2, y)-n (§1,&2) wupuhwlud Ytlppnph hujw-
bwluwimpnbbbph pwohudwh fopmpymibd £ Wyugnighy, np & + & L
&1 — & yquppuhwub dEdnipymbbbph nbbh htiplyw; hauwbwlubnge-
juibph pupudwd fupnpymbbtp’

o0
w) fe e, (2 /f&,&z —z)dr = /fgl,gz(z—y,y)dy,
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p)f§1 fz /f£1§2Z+yy dy—/f&fz —z)dz:

417. Yhgmp fe, ¢ (2, y)-n (&1, 62) gupuhwlwud Ypnph huyw-
bwluwimpnbbbph pufudwb pogpmpymdt £ Qyugmgbl, np & - & L
% wunpuhwljub dtdonipynibbbpt mokh htplyw) hwjubwlubnyegymb-

bbph puwohudwi [ulpmp]mﬁ[lhp‘

) fe/e,(2) /ffl,sz 2y, y) - |yl dy -

418. Yhgmp ¢ b n wijwp yupuhwlwd dtdnyeymbitnh phnmianad
th 0, 1, .., n wpdtpbbpp, pbn npnwd P(§ = i) = P(np = i) = n%rl,
1 =0, ...,n: Qb £ + 7 yqupuhwlui dtdnpejud pwpluiub opkbpp:

419. &1 b & wiuw yunpuwhwlwi dGdmpnibdbph ndtb Mniwunbh
puofunid hwdwyupuuuwbwpwp A; b Ay yupuwdtppbpny: Wywugn-
gtil, np n = &1 + & quypuwhwlwd dtdnmpymin nbh Mniwunbh puwpunud
A1 + A2 yupudtppny:

420. “hgnip € U -0 wiuhu, Shunptiuwly puppujwd wipnne wpdtip-
Obp ponmbnn wuypuwhwlub Jedmpymbodbp G, p; = P = i), i =
0,+£1,£2,...: Wyuwgnghi|, np

PE-n=0)= ) pi:

1=—00

421. %hgnip £ L n-0 wiuwu yuypuwhwlub dtdmpnibbbp G0 dJhbny b
f(x) opmpyut $moyghuyny: Wuugmgty, np

fen(0) /f2
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422. Yhgmp & b €2-np [a, b] dhowluypmy hwjwuwpwswih puwouud
wupuhwlub dhdmpymbibp Gh: Qi 7 = & + & yunpuhwlub
dtonipjul hwjwiwluwbnpnbbtph pupjudwb hgpnipynibnp:

423. Yhgmp £-0 b n-0 [—a/2,a/2] dhowuypmi hwujwuwpugwih
pwoijwd wiwh ywpuwhwywh dedmpnibbbp Gb: Qb w) n =
&1+ &2, p) 1 = & — & wupuhwlub dhdmpyjui hwjubwuingemb-
Obtph pwohudwl fuypnipnibn:

424. Yhgnip &1 b &o-p [0, 1] dhowuypmy hwjwuwpuwsuth puppudwd
wuwipwhwlwb dEdnipymbbbp Gh: Qib w) n =& + &, p) n =& — &,
q) n = [§&1— &l n) n =& &, B) 1 = §1/§ qupuhwlwb dEdnpyn -
otph hwjwiwuwinpmbbtph pupfudwb pnieynbp:

425. Qi € b 7 yupuwhwlwb dtdmpjnibbtbph (€ + 1) gmuidwph
hwjwiwywinypymbitph pwohudwd popnieymbp, tpt -0 [0, 2] huyp-
Juwonmud hwjuwuwpwswith puppujud yunpuwhwljub dkdnyenb £, huly n-o
hwjuwuwpugunh E puppjud [—1, 1] hugpudnud:

426. Yhgnip &1-p U &o-p wblwfu, shwpbuwl punpuuwd wwpu-
hujul WEdneymbitp Gb, npnilg huwjwbwlwbnyeymbbtph puopiwb
fugpnipymbp hwjwuwp k f(z) = %e"“”‘: Qi 7 = &1 + &2 quypuhw-—
Jub dEonpub hwjubwluimpymbbtph puwpjudwb pinie)nibp:

427. Yhgnip € U 7 wupuwhwluwd JEompymbibtpd wiljuju Go, pon
npnud £-U nubh gnigswyh pupfund A wupwdtippny, huly -0 hwjwuw-
puwswih £ puwppudwd [0, a] dhowuypnud: Qapbty € + 7 yupuhwlwub
ubonpjul hmjuiuuinpymbbtph puofuwmb hpnieynibp:

428. Y%hgnip & ~ N(ay,0?) & ~ N(ag,03) wijwhu wupuhwlub
dboneynibbtinh nbkh bnpdwy pwplunitbp: Quugmghy, np n = £ + &
wwpwhwlwb dtdmpmip bu mbh N(a; + ag, a% + 05) onpiwy pup-
Junuu:

429, Yhgnip &1 b &2 wiwu yuypuhwlwd dGdnpymbtbpd ndkh
F-pwpfunud hwdiwyuwpuupwbwpwp (o, 51) b (o, B2) yupudbtyppbi-



92

nny: Wuugmghy, np n = £ + & wupuwhwlwb dGdnipmip bu mbh
C-puppunud (o, f1 + B2) wupudtapptipny:

430. Yhgnip &1 b &2 wiwu yuypuwhwlwd dGdnipymbtbpd ndkn
gmgsuyht pwpfund A wwpwdtappny: Opnoby w) 17 = & — &, p) 7 =
€1/&2 qupuwhwlub dhdmpymbbtph puppuiwh fupmpynibp:

431, ¢ W n yupwhwlwh JEompymbdtpd wiljuwpe GO, phn npnud
fe(z) = 122°(1 — ), @ € (0,1), huy fy(y) = 2y, y € (0,1): Yty €7
wuwypwhwlub dGdnpjub hpnipjud nibljghwib:

432. Yhgnip £-0 b -0 wiuwp, N(0,0) tnpiw] pwlumy mbbkgnn
wupuwhwub dedmpmbitp Gh: Wyugnighy, np ¢ = £/17 wupuhwub
utionipniip puwojujwd £ Unphh optiipny:

433. (&1, &2) wupuhwuwb Ypp hwjuwuwpusunh £ pupfugud 7 = 1
pwnunnny opowbh dbe: Qi) 7 = &2/& quypuwhwlwh dhdmpub
hujuwbwuwbnpymbbtph pupjudwb hpneymbp:

434, £ yyunpuwhwub dEdnipynidh nih Ynohh puppunid: Wuyugnigty,
_¢3
npw) 1/£, p) 13552, q) f€3§2 wwpuwhwlub dadnpjnip bu mbh Unohh
pupfuniu:

435. Quiit 7 = S22 upwhwlwh dEdnpywl pwphiiwh il

&1

ghwi, bpt & U & wupuhwuljub dEdmpnibdbtpd wiup Gb b mobh
hwjubwluwimpmbdtph gngswyht pupumd” f(x) = e %, = > 0:

436. Qapbby n = 51262 wuwypwhwlwb dtdnyeyuwd hwjuiwubnie-
mnibbtiph puphudwb pogpnueynip, bpt € U & yupuhwljub dkdnienib-
Ubpb wiwfu Gb b Mok hwjwiwwbneymbbbtph gnigswht pwund

flxy=e",2>0:

437. Qapby n = gfjl& wupuhwljub dtdonipjud hujuiuubnie-
Jniibbiph pwppudwb pugpnignip, bet & U & yuypuhwljuwb dtdnipnb-
Obpt wiuwpu G0 b hwjwuwpwsuth pwphugwd [0, 1] dhowljuwypnud:
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438. (&1, &2) yupuwhwlwb Ylypnpt nioh

r4y, 0<x<1,0<y<l1
0, uiwgwd nbiyptipny

f§1,€2 (.CL‘, y) = {

hwjuwbwluwinpymbdtph pwludwb fopnipmop: ot n = & + &
yuypuhwliub dEdnpud hwjubwluwbnyeymbitph puphudwb hapnie-
Joibp:

439. (£, 1) qunpwhwlwb Ytypnpb mbh

) 24xy(1 — x)2, 0<z<1l,0<y<l
T,y) =
Y 0, dhwgwd nhypbipnid

hwjuwbwuimpnbtbph pupfuiwb fuynpymbp: Gty (€ -7) yuypu-—
hujub dtdnipjud hwjuwbwljubnipnbbbph puphudwb pugpmipynibn:

440. (£, n) yupuhwlywh Yaypnph hwjuiuubtngenbbtph puphu-
dwl popnieynibp hwjwuwp

ze *(1+y) x>0,y>0
fla,y) =
0, Wiwgwd ntiyptipmu :

Npnotyy (£-7) yupuhwlwb dEdmpjud hwjwiwubnypmbibph puhu—
dwl puopnipynip:

441. Yhgnp &1 U E2-p wpubnupy tnpdwy N (0, 1) pwppunud mbtignn,
wiuwh quypuwhwljuh dtdmpmbbbp th: Quugnghy, np & — & L
&1 + & yqupuhwlub dEdniypymbbbph wijwfu bo:

442. ¢ L n quypuhwlub dEdnyenibibpt wijwp Gh b mbkh gnig-

swyhl pwfunud A = 1 wwpudtippny: Wugugmghy (§47) W &/7 wunpu-
hujub dtdnipymbbbph mbuwhunieynibp:

443. dhgmp &1-p b Eo-p wiupu uvputnupy Gnpdw; N (0, 1) pup-
funid niiignn wupuhwlu dkdnpynibbp b Swoty P(EF + €3 <
R?):
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444. Yhgmp &1 U E2-p wpubnupy tnpdwy N (0, 1) pupfuwd, wijuju
wunpuhwlub dEdnpenibbbp bo, hul -0 hwjwuwpusuh b pushuud
[0, 27r] dhowuypnud: Qapbity & cos 0+ & sin 6 yuypuhwljub dhdmpjwub
pupfunudin:

445, Yhgnmp &1, &9, ..., & wllwly, dhupbuwl puppujwd wuguhw-
qub dbdmpymbdtph mboth gnigsuyhll puppunid A > 0 wupudtyipny:
n
Wwuwgmghy, np S, = & wquypuwhwuwd dEdmpjuwd hujuiwu-
k=1
Unipymibbbph puwopuiwd fpmpymbb nuoh htplywy phupp

(Ax)n_l)\ef/\a% x>0

fSn(x) — { (n—1)!

0, z<0:

446. Yhgnp &1, &2, ..., &n-p upuibinupy tnpdwy N (0, 1) puwpfuqud,
n

wijuwp yuypwhwub dtdnipjnibbtnd Gb: Wywuwgnigly, np X2 = > fg
k=1
wuypuhwliub dtdnipynibp nibh

felw) = 2T (E)
0, xz <0

hujuwbuubmpymbbtph pupjudwb agpnpnib:
447. Yhgmp &, &1, Ea, ..., & qupuhwljub dEdnenibitpt wbljupu
G0 b mObkh uvpuinupp npdwg N (0, 1) pwpfunud: Wywgnighy, np

§

pe &
NED=
(=

wuypuwhwliub dEonpud hwjubwlubnyeymbibtph puphudwb haypnie-
Jnbp hwjwuwp k

) = F(HTH) 22)-
fﬂ( )_\/TTF(%)(I—F )
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MNupuhwljui Jftdmpjut pYuyhtt pimpwuqphsttpp

¢ = {(w) gupuwhuwd dhdmpjud dwpbiwyphiulud uywunod
Juu dhohli wpdtip wijwinu b htiplyw) phyp

E¢ = g(w)P(dw)a
/

tiph we twund gpyuwid Laptigh homplgpuip gnjnipynih nibh: W&o hwdpoy-
onud £ z-h Ugphpyytiuh hoptigpugh htig

o0

E¢ = /xng(x),

—00

tipti hinpigpup pugupdwly gqniquitan k:
Yhulptip & yupuhwlub vEdmpud dwptdwphjuuid vyuunidp
hwjwuwp £

BE= apr, bpt Y |aklpr < oo
P k

Pugupawl wipinhuyp & yupuwhwljub dGdnmpjul duptduphljuljub
unyuunuip hujuuwp £

[e.o]

E¢ = /xfg(x)da:, tipt / || fe(x)dx < oo :

—00

g(z) wiptnhwy mbyghuyh hwdwp

o

Eg(¢) = / 9(E(w)) P(dw) = / 9(x)dFe(x) :

Q —00

Yhulyptp € wuwipuwhwljub dGdnipjub nhypnid
Eg(&) = gl@r)pr, Rt Y |g(zk)lpr < oo :

k k
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Pugupdwl wipinhunn & wuipuwhwljud dGdnipjud nhypnid
o

B9(©) = [ s@)feo)in, Wt [ lgfe)lfelo)ds < oo

—0o0

v, = FEF phyp wiquind bb ¢ yupuhwlwh dtdnyeub k-pn Gupgh
ulgpiwlwh dndbinp (k-0 hpuwt phy £), ue = E(€ — EE)* phip
wijuwbnd &b £-h k-pn upgh Yabgppnbwyud dndtig (k-0 hppuub
phy b):
Gpypnpn Jupgh YEoppniouut dnitiypp mbjuwind 6o nhuybpuhw b
Dpwiwymi kb DE = E(¢ — E€)?: 0 = /DE dtidmpynip winjwinu ki
thohli pwpwyniuwhh ptinnuu:

& Ly wupwhwwh dGdnpnbbbph Ynpbjughwih gnpdwlhg wi-
Jubnd b htaplyw) dadnmpymip

E(§ - E§)(n— En)
VDEDn ’

E((—FE¢)(n—En) vbdnipymbp winjwimy b ynjuphwghw b tpubwlynod
cov(§,n) = E(§ — E§)(n — En) :

Lotilp wuypuwhwluh dtdnipymbbtph pwihh phnipugphsitiph hwp-
Ynieymbbtipn:
1. EC = C, C-b hwuquuypm E:

p(&,n) = DE#0,Dn#0:

2. EC¢ = CFE¢, C-o hwugpugnth E:
3. EE> 0, tpt P(€E>0) =1:
46pLE>00 EE=0, wyu P(E=0) =1:
5. B¢ > En, tpti P(§ > n) = L:
6. EI4(w) = P(A), npptin I4(w)-0 A puquinpjub htnhiuygnpb £
a(w) = 1, wed

0, we¢A

7. E(§ +n) = E¢ + En, tph gnympjmb mbbh Upquwd bpbp dwp.
uywunibiiphg gnbb Gpynwunp:
8. Eén = E¢En, tiph £ U -0 wijwu wuypuwhwlwb dtdmpymbbtp Go:
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9. DC = 0, npptin C'-0 hwuypupnid phy E:
10. bpt DE =0, wyw P(¢ = C) = 1, npypbin C' = E¢:
11. D(aé + b) = a® D¢, a-u Lt b-0 hwupunpnibibip Go:
12. D& £ n) = D¢ + Dn, tph -0 b -0 wiup yuypuwhwlub
dtionipynibdbp Lb:

n n
13.D(Y° &) = > D& +2 ) cov(&y, &5):

k=1 k=1 k<j

14 [p(§,m)] < 1:
15. |p(&,n)| = 1 wyt b dhuwyb wyb niypnmd, tpp P(aé + by = ¢) = 1,
npupbin a-b, b-0, c-0 hwugpuypmbbtp Go:
16. Gpb £-0 W n-0 wiuwlu bb, wayw p(§,n) = 0: Swwnwyp dhoyg sk:
Gpt p(€,n) = 0, wyu &-0 b -0 Yngmu kb synphjugyud:

MNupuwhwljwi Jlppnph Yuwyhte punpwgphsitipp

£ = (&1, &2, -, &) yuhuypuwi Yuppnph dwptiduphjului uww-
und wijuimd b B¢ = (a1, a9, ..., a,) Yblppnpp, nppbn a; = Eé,
k=1,2,...,n:

£ = (61,82, -+, &) quhwpulub Ytgnph nhuybtipuhnd (Yndw-
phwghnt) dwpphg Yud nhuwbpuhw wijwimd G htyglyw dwpphgp

byt bz ... b
B— ba1 bag ... bop ’
bpi bno ... bun

npptin by = cov(§;,&;) = E(& — E&) (& — EE); 4,5 =1,2,...,n:
Wotitp B dwypphgh hunpynipyniibbpp’

1. bij = bj; 4,5 =1,2,...,n dwpphgp hwdwgwh L

2.b;; =D¢&; i=1,2,...,n:

3. Bwbjugwd aq, aa, ..., a, hpwwb pYtiph hwdwp pbnh nbh

n n
Z Z bijoia; > 0,
i—1 j—1

wyuhbpl B dwpiphgp ng puguwuwlub npnpdud k:
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Lotiip npnp Juplinp wthwjwuwpnipymbbbp, npbn dwubwlgnd
GO yupuwhwub dGEdne nihbtiph Undknpbbpn:

Ynoni-Pmbyuinjuljm withuwjwuwpmpymip tph £ L 7 yupu-—
huljub dbdnyenibiitpd wybwhuht &b, np EE2 < oo,  En? < oo, wuju

E|gn| < VEE En? :
Lywynminyh withwjwuwpmpymip 0 < s < r nhypmd
(B¢ < (Blgn)Y"

Qynntiph withwjwuwpmpymop tpt p > 1, ¢ > 1,
Ef¢P < 00, FEln|? < oo, wuyu

S

Elén| < (E|EP)? (Eln|%) -

Uhaynjuym wihwjuwuwpmpymip tpb E[¢|" < oo, E|n|" < co,r > 1,

wwuw

1 1
T T

(BlE + ") < (ElE[") + (Elnl")

MNupiuitujut Jupiduphjuljul uywunid

Yhgnip € U n-0 nhulptiyp Wwipwhwluwd dtdnpemibdbp Gh: € yu-
puhwlub dtompjui gqujiubuljud duptdugphjuub vyuund 7 =
y yuydwbh nypmud Yngymd k

E¢/m=y) =) aP(E=a/n=1y) =Y apey(x/y)

utonpynbp, npptin

Pem(/y) = P ;:(y?; — y), Py(y)=P(n=y)>0:

Bpt € U -0 pugupawl wipbnhup yupuwhwuwb dGdmpymbbtp G,

www
o0

B(¢/n=1y) = / £ fen(e/y) de,
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npptin :
f£ n l’, y)
fep(a/y) = ===, foly) >0
&/ Fo() n
yuyiwiuut hwjuwbwlubwjht puphudwb faypniemab t:
(L

448. ¢ yupwhwlwh JEdnpmbp pinpmond £ 0, +1, +2, ..., £n wp-
dupltip P(§ = i) = Tlﬂ hujwiwluimpmbibapn: Qo FE-0
Dé-t:

449, Lowbwtapht Ypwynwd GO 20 wbqud: UL Ypulngny nhuwgstijne
hujuwiwwbniyeyniop hwjwuwn £ 0,7-h: Qupbitp nhynwittph pyh dwpe.
uywunuip b nhuybtipuhwb:

450. ¢ ywupwhwlwh dEdnpMbp nbh phindwlwd pwofunmd n, p
wuwpwitipptpny: Swyypbh, np E€ = 12, DE = 4: Qb n-p b p-i:

451. lownugnnp pwhnud £ 308, tpb dpyuwd tptip quntiphg jnipu-
pwiligjniph Ypw pugynmd £ «6»-p, owhnud £ 208, Gl npuighg tipynwh
Ypw pugymu £ «6»-p, b 108, tpt dhwyh dtyh Jpw b pugynd «6»-n:
Qnib] ppunugnnh swhwd gmuiwph Jwp. uyuwundn:

452. 10 wppunpubpbtiphg 3-p umpub Go: Mugpuhwljubnptb ybpg-
Onud G Gpym wpypunpuitp: Gapbb npwbtg Wk qupbdnn jumput wp-
qunpubpbtiph pyh dhohtipn b nhuwbpuhwi:

453. 2 vywhypuy b 3 ubt qinhl yupnibwlnn vuthnphg yupuwhw-
Juibnptt hwbnud Gb 2 qinhly: 9apbt) npwbg dbke uyhypwly qhnhyotph
PrYh vwp. uyuunwip b nhuytpuhwi:

454. A wupwhnyph b hwpp quine hwjwbwluwingeniop 7 wiljufu
thnpabphg jnipupwbsympmy hwjwuwp £ p-h: Qapit] A wupwhnyph
h hwjyp qunt b h hwjp squpnt pytph puppbpnyeyub dwe. vuyywundp:
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455. & quypuwhwluh dtdnienbh phnnbmd £ ng puguuwljub wi-
pnne wpdtipbtin, pin npmd E¢ < 4-o0: Wuyugnighyy, np

EE=> P(E>1):

i=1
456. & qupuwhwluwh Wtdnieynbp phnpnbmd £ ng puguuwjub wi-
pnne n > 0 wpdtpbbp
DPn = Aﬁ
n!
hwjwbwwinpymbbbpny: Qpot; A U k-0, bpb hwppbh &, np EE = a:

457. & qquypuhwlub dtdniyendh phnpnibmd £ ng puguuwjub wi-
pnn9 wndtipitin

P(é.:n):(l—’_aw, a>0

hwjuwbwyuwinpmbdtpny (Mwulwih pwund): Swpyty £E-0 b DE-b:

458. £ wuypuwhwljwb dEdnpmbd pnmimd E npujud wdpnng wp-
dtipitp Djwqgnn Gpypuwsuthwjub ypngpbuphw Juqunn hwjubwlu-
Onupynubtbpny: Gty wyn ypngpbuhwjh woweht ¢ winwip b ¢ hwy-
pupupb wybybu, np F¢ = 10:

459. ¢ yupwhwliwh dEdMpdh pnpmomd k0,1, ... wpdtpbbpp
Juqnn tpypuswthwljub ypngptuhw Juqunn hwjuwbwlubnie)nibbb-
nny: w) Gapoty EE-h W DE-h dholt inwd Jujujwdnipynibp:

p) Gty P(§ =n), n=0,1,..., tpk hwyqbh &, np E¢ = a:

460. Ubpunuinpuip dypmd B dhbghe «glipph» wnwohh wbquid h
hwjp quip: Gt bpnmudbiph pyh dwp. vyuunwip b nhuytpuhwi:

461. Whwfu thnpabphg jnipupwbsympmi A yyugpuhnygph b hwyg
quint. hwjwiwuwimpmip hwjuwuwp £ p-h (0 < p < 1): ®npabipp
Jupupnd G vhish A wwypwhnyph wowehll wiquy h hwjp quiyp:
Quplbby Jupupynn thnpatph € pyh dwpe. vyuunudp b nhuybpuhwb:
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462. [a, b] dhowluypmui hwjwuwpuwswih pupfuud € yuipuhwlub
Utdnpyjul wp. uyuundp hwjuuwp £t EE = 4, hull nhuytpuhwi
D¢ = 3: Qapity ¢ yupuwhwluh ddmpjuwd pwofudwh fupnipnibn:

463. ¢ wwypwhwlwh dhdnpnibp pwoujwd £ Lwujjwuh ophbpny
flx) = ae Nl X > 0: Qunily a, E¢, DE-T:

464. & yquypuwhwlwb WEdnpymip pwopujwd E Mbjkh optiipny

f(w):{()’ 2.2 r=0

Age N7 x>0:
Qupiity A, E¢, DE-t:

465. £ wuypuwhwlwb dGdnipmbh nibh

fla) = {e e

0, xz <0
hwjuwiwubnpmbdbph puppudwb ppgpmpymb: Sapdty £€ b DE-:

466. £ yyupuwhwlwb Whdnypynitd mbh htplyw) pwohudwb optiipp”

cl-1]o7]1
Pl1a|13]13

Qupity w) 7 = [¢] yuypuwhwlwb dGdnipyub pwoundp, p) En b Dn-u:

467. £ wupuwhwljub hdnpemah mbh htplyw; puphudwb opkiipp’

cl-1t]To17]2
Plo2lo1]03]04

Qi n = 2¢ yunpuwhwlub vEdmpub dwp. vyuunip b nhuybp-
uhwb:

468. thgmp ¢ wupuwhwlub dbdnye it nbh gnigsuyhll pupfunud
A wwpwditippny: Qibp n = e¢ wuwpwhwluwb dtdniypjud dupe. uyu-
unuip b nhuytipuhw:
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469. ¢ yqupuwhwlwb dtdmpmip hwjwuwpwsuh £ puppuud
[0, 1] dhowluypmy: Qb w) Esin? 7€, p) Eet:

470. ¢ yquypuwhwluh dbdnyenihh nibh htplyw) puppudwb fupnip-
jnulip’

1 T T
Fla) = 5 COS T, xe[ 55].
S ]

Qi w) n = siné, p) n = |siné] Wuypwhwlwid dEdmpjul dwp.
uyuunip b nhuytipuhwi:

471. Yhgmp E¢ =0 b E|£| = 1: Qupiby w) F max(0,§),
p) Emin(0,§):

472. dhgmp & wupuhwljub dbdnipjub pusudwd jupnipyniop hw-

Jwuuwp k )
o= iy
Swpyt £ min([¢], 1):

473. | tpupnipymb mbbgnn annp wupuwhwuinpth Ynyppty GO 2
dwuh: Qapbby thnpp dwuh 7 Gpupmpyub pupjudwd $mbyghwd, En-u
L Dn-u:

474. Gpysunh (£, 7) upuwhwlub dtdnpjut hwjwiwuwinpnii-
otiph pwppaiwb opkbph £

n\§| o0 |1
-1 [01]02
0 0203
1 |0 |02

Quity 7 = 2¢ + 72 wupuhuluh dEdmpui dup. uwywunwip b
nhuybtipuhwi:

475. Spywd £ Gplysuh wquppuhwwd dtdnyejud hwjubwubnie-
jmbbbph puphuiwb wn muwlyp
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\ET o 1 [ 237 475
0 [001]005[012]002] 0 [001
1
2
3

0,02 0 |0,01]005]|002]0,02
0 |005]| 0,1 0 0,3 | 0,05
0,01 0 |002]001]|003| 01

LP(E=2/n=3), 3.EE+n), 5 PE+n<5/n=2),
2 E(¢/m=1), 4 EE/m<1), 6 E(En/n<1):

476. Lpmud &b Gpyne qun: Yhgnip -0 pugywd dhun|npbtiph phyb
E wnwohl qunh Ypw, huy n-0 pugywd tinme dhuwynpbitiphg dbdwgnyut
E: w) Qi € b 7 gupuhwlub dtdnipymbdbph hwdwgbn puwppunudp,
p) hwpyty E¢, DE, En, Dn W cov(&,n)-u:

477. @ity ¢ = 2€ — 3n wuypuwhwlwd dtdnpjuil dwp. uywundp

bl nhuytipuhw, bt
1
EE=0,En=2 D=2, Dn=1, ,n) =——=":
3 U 3 n=1 p(&n) 7

478. Lowlhytibp tpynt quntiph ypw pugdwd dhunfnpitiph gnudwpp
L puppbipniueyniip hwiwywypuupwbwpwp £-ny b 7-nd: Qyugnigty,
np & U 7 wupuwhwlub dtdmpynbbbtpp wiwhu sko:

479. ¢ 1 7 wupwhwluwb dGdmpymbdtpd wijwpu GO b Gnpduyg
pupfujwd vhubnyh (a, 0?) wupudtapptipny: ity v, = af + B L
vo = a& — A1 wupuwhwlwb dtdmpymbbtph Ynpbjughwh gnpdwlyhgp:

480. Yhgnip &1 U &o-p wiupu b dhubnyh Jtpowynp nhuwtipuhw
nibitignn uypuwhwlwb dtdnpymbibp Gh: Qyugnighy, np g = & + &
b = &1 — & quypuhwluwd dedmpymbitpp synpbjugywd Gi:

481. £ yuypwhwlwh dedmpymip hwjwuwpuswih £ puppujud [0, 1]
hunpuwond: Qapbitp hplyw upuwhwjut dGompymbbbph Ynpbju-
ghwjh gnpdwyhgp

w) € b &2
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p) b gn

482. £ wupuwhwluwb dkdnieymbp hwjwuwpwswih £ pupfudud [—1, 1]
huypuwond: Qapitp htplyw; yunpwhwuwb dGompnbbtph Ynpbjw-
ghuyh gnpdwyhgp

w) & b sin ”25,

p) sin ”5 L cos ”25

483. %hgnip £ b n-0 whjwh uypuwhwlub dtdmpmbdtp Gb, pon
npd B¢ =1, Enp = 2, D€ = 1, Dn = 4: Qapibp htplyw) wugpwhwub
Uhonpymabbph wpe. uuuundbbpp

w) £ + 2% — En — 4+ + 4,

p) (+n+1)%

484, Yhgnip ¢ yunpuwhwluh dEdmpnibd mbh htplyw) upnigpjub
$niyghwl’

0, r<a
UJ) f( ) ke k(a— a) T > a,

0, x ¢ 10,2]
p) f(x) = 1— |z —1], x€l0,2]:

Nuwpytip wyn wuypuwhwwb dkdniyenibbbph dwp. uvuyyuunwip b nhuwybip-
uhwli:

485. Yhgnip € W »-0 pOnpnuomd G0 -1 Jud 1 wpdtipbbpp htgplyuy
hwjwbwlwubniyeymbibpny’

p(l7]):P(€:Z7n:])v Z.:_]-a]-aj:_]-a]-:

Gupunptitp £ = En = 0: Wyugmghy, np p(1,1) = p(—=1,-1) u
p(=1,1) = p(1, 1) b qputy DE, Dn, cov(, n):

486. Ythgnip yppdwd E (£, 7) tphswh yupuhwlub dEdmpjub puy-

unuip
p(1,1)=1/9, p(2,1)=1/3, p(3,1)=1/9
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p(1,2)=1/9, p(2,2)=0, p(3,2)=1/18
p(1,3) =0, p(2,3)=1/6, p(3,3)=1/9:
w) Qb E(¢/n=14) i=1,2,3:
p) Wojwju 5’0 wprynp &-0 W n-b:

[L

487. Uwthnpp wuwpnibwymd £ N qinhl, npniighg n-p uyghypuly
L Swbb G m qinhy (m < min(n, N — n): %hgnp -0 hwbjud
qUnhyatiph dke uyhpul ginhyatph pubuya k: ity w) € wupuhw-
Jui dbdmpyub pwppunip (w)t wijwind &b hhybpbpypusuthwyub),
p) qnbty E¢-0 b DE-t:

488. 2 uyhypuy b 4 ult qonhy wwpnibwlnn vwthnphg hwomy o
3 qimhy b ptnuthnfunud G Gppnpn vwthnp, npptin Juip 5 uwhypuly
qinhly: Wanthtype Gpypnpn vwthnphg phnuithnpund G wnwehti uwthnp
4 qunhly: Apnoty Gpyne uuhnpbbtipnud uwhypuy qnhyotph & b &2 pYtph
dwpe. uyuunmdbbpn:

489. Yhgnip n whluwfu thnpatpn, npnighg jmpupwbsmpnd A
wupwhnyph h huyp qupne phyp hujuuwp b p-h, P(A) = p: &-0
wwpuwhwlub dbdmpymb k, npb pinpniand £ 0 Jud 1 wpdtipbtip’ upu]wd
w-h gqnygq Gud Yhbup (hobnig: @bty FE-:

490. m uyphnpwy b n ult qinhy upmbwynn vuthnphg hwtmd Go
vtuub qbnhly, mpupwibsnip wiqui Yyapunupdabbing wyb uvuthnp,
dhtsle uyhypuwl qunhyh wnwehtt wmbqud h hwpp quip: Gapot; hwmbwod
ult qinhyiotph pEYh Ywpe. vyuwundn:

491. Yhgnip -0 Ptntnihp wblwfu thnpdbpp hwonpnuljubnipjui
wnwohli thnpdhg ufuywd «ubiphwjh» (hwennmpnibitph Jud wihw-
onnnipjnbbitiph) Gpyupnipymbd E: Qapit) § yupuhwlub dhdnpyub
pwopunwip, FE b DE-D:
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492. £ yuypuwhwlwb dtdmpymbb mbh (o, 5) upudtypptpny T'-pup-
und, wjuhtipl bpw puwphudiwd fugpnpnip hwjwuwp k£

af  B-1_—az
flz) = rer e x >0,
0, x<0:

Qupity ¢ L DE-u:

493. ¢ wunpwhwlwh dEdnyeymblt mih Mnuwunth puppumd A ww-

pudtippny: Supyty E I—Jlrg:

494. “%hgmp F(z) puphiiwd $mblghw mbbgnn & wupuhwlub
utidonieniblh nbh dwpe. uyuwunid: Wywgnigti, np

0

B¢ = — / F(z)ds + 7[1 — F(z)] da :
0

—0o0
495. “hgnip £ wunpuwhwlw dEdmpymbh muh F(z) pwppuiwd $nbly—

ghw b gnjnienil nibh tpw dwpe. vywunwdp: Gywugnigtiy, np ptinh nuotin
htiplyw wnbsmpymbubpp

lim z(1—-F(z))=0, lim zF(z)=0:

r—r-+00 T——00

496. ¢ wquypuwhwub dEdniEnbh mbh htplyuy puppudwd pagni-

pymup
)0, x ¢ (0,1)
f) = {cx, x € (0,1):

Qpib] ¢ hwuypunpniop L p = 2 wyunpuwhwlub dEdnmpjui dup. uvuyu-—
unuip b nhuytipuhwb:

497. w) Qapitiy E|€|-0, bipt & wunpuhwljwh dtdnipmah moh (0, 02)
wwpwitpptipng onpdw) pwpjuniy,

p) Qiby E|¢—al, tipk £-0 (a, 0?) wwpwitpptipny inpiwy puphuy]wd
wuypuwhwliuwb dtdnieymb k:
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498. [0, a] hwupwdh Ypw yunpuwhwlubnptb tpmd GO Gpyne Yg:
Yhgnip n-0 Gpuwbg dholt inud hbnwnpmipymbb t: Apnotp En-0 L
Dn-t:

499. P ytypp hwjwuwpwsunh bt puppujwd (0,0) Yanppnong b R

swnuhn niitignn opowbh dtie: “hgmp P Yaph htinwynpnugnibp opow-—
0h Ytnppnbhg hwjwuwp £ n-h: Qapoty En-0 bW Dn-G:

500. P Ytpp hwjwuwpuwswih E pwphugwd (0,0) Yabyppning W R
2wnwhn mbtignn opgwliugdh Ypw: P Ytphg opgwthh qpupdwsd £ onpw-
thnn: Qi) onpwthnnh wyb hwpywdh € piunnipjub pwohudwb $nchly—
ghwlt U puypmpynibp, npp dhugtmd £ P Gtapp 0X wowbgph Gpuw hunp-
dwb Ytph htip: @npnupymb mbph” wpnynp FE-Q:

501. R pwnwyhn nibitignn ppowbiwugdh Yypw wyunpuwhwluwbnptb ytipg-
nud G0 Gpym Ytap: Sapbty npuatig dhol tnuid € htinunnpnpjub puou—
dwl $mbyghwb b hwyyty Fé-:

502. Yhgmp € b 9-0 ng puguuwluwb wipnne wpdtpbbtp ponnbng
wiwh yunpuwhwwb dtdnypymbdtp b, pbn npmd E¢ < 4-00: Wuyw-
gmghi, np

Emin(¢,n) =Y P(¢>i)P(n>1i):
i=1

503. “hgnip € W -4 [0, 1] dhowluypnd hwjwuwpwswih pwppujud
wyupuwhwlub dtdneymbitp hh: Wuugnighy, np £-h L n-h gubljugud
Jupijwdmpjui nhypmd E|§ —n| < 1/2: (8nigmd hwpyby E|€ —1/2|
W E|n—1/2] b ogqnugnpdty |z — y| < |z| + |y| wihwjwuwpnipymbn:)

504. Yhgnip & wupuwhwlub dEdmpymop tnpdwy £ puppudud (0, 1)
wuwpwitipptipny: Swpyly 7 = cosé wwypwhwlwi dEdmpjuwd Jdwpe.
uyuunmup b nhuybtipuhwi:

505. hgmp &1, &2, .., & npulub, dhugpbuwl pwpfudwd, wiwiu
wyupuwhwliub dEdnmpnbbbp Gh: Qyugnghy, np Gpb £ < n, wyu

E<§1+§2+...+§k> k.
H+&a+ ...+

n :
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506. 1, 2, ..., 29, 30 pYbphg wiytpunund tinpuwhwidwb ujutiduynyg

Ytpgnud &b ypwup phy: Qpbt bpwd pybph gnudwph dwpbduphljuub
uywunuip: (8mgnud’ nhgmp &i-b, k = 1,2, ..., 10, k-pn tpdwd phyb L
Wupugnmighiy, np &-tipp dhwpbuwy &b puppufwd):

507. @pJwd b n bwdwlbbtp, vwluwyb dSpupbtpp hwugbwgpyuod
GO wuypuwhwluwb Gupgny: Yhgnip -0 wyb bwdwlbtph phyb k&, npnip
hwuby GO hptbg hwugbunptiptipht: Qapoty £€-0 b DE-T:

508. Wuyqugmgty, np Fén = F£En hajuuwpnignibhg pnhwbnip
ntypnid sh pumd €-p W 7-h wbwjunipynibp:

509. Wywugmgty, np BEn = EEEn hwjuuupmpymbhg pund k £-h
U n-h whuwpmpmip, et £-0 b #-0 jmpupwdsmph phnmond 6o
tpgnm wpdtp:

510. “hgnip & yuypuhwljub dGdnipymbh nmbh gnigswyhl pupunid A
wuwpwidbtyppny, huly -0 hwjuuwpuguh b pupfudud [0, 27] dhewljwy-
pnud: Qapiiy 7 = sin(€ + ¢) yuypuwhwlub dhdnpjui Jwp. uyuunidp,
tiph £-0 W -0 wiwfu Gh:

511. %hgmp & b &-p (a,0?) wqupudtappbpny wiljufu, Gnpdug
punfujud yuipuwhwiubd dbdnyeymbdtp th: Wyugnighy, np

7 Emin(gl,gg):a—i:

Ve va

512. d%hgnip (&, 7) Yblppnpt mbh Gnpdw) pwpfumd, pn npd B =
En =0, B¢ = En? =1, Bén = p: Wyugmgty, np

Emax(£1,6) = a+

1—p
—

Emax(§,n) =

513. Yhgmp &1, &9, ..., &-p Ybpounnp dwp. unyuunudbbp nibbgnn
wuypuwhwlub dompymbbtp Gb: Wgugnigh, np

EmaX{fb £27 sy gn} Z maX{Egb E£27 sy Egn}a
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Emin{&1, &, ..., &} < min{FE&, Eés, ..., E&,} -

514. £ b n quypuwhwlwb dtdnpmbibph mobkh Ypewnp nhuwtip-
uhwbtp® D€ = o7, Dy = ¢3: Qb D(47)-h thinthnfudwb dhowluypp:

515. Wywugmgty, np bpt € W 7 wupuhwljub deompymbibtpd wiljufu
GO, wyu

Dén = DEDn + (E€)*Dn + (En)®DE,  wyuhtiph  DEén > DEDn

516. Qapit hwiwywypuupwiwpwn [0, 1] b [1, 3] dhewuwptipnud
hwjwuwpwswth pwrhujwd € b 7 wijwhu yupuwhwlwh dhdnyenibbtph
& - m wppunpuih Ywp. uyuundp:

517. (&,m) wuypuwhwlwd Ytypp hwjwuwpwswih E pupfujuwd R =
[0,1] x [0,1] pwpwimum Obpumd: Qpbb; ¢ = £ - 7 yuypuwhwlub
utbonpjul dwpe. uyguundp b nhuytpuhwb:

518. (&, 1) yupuhwliud Ytgpp hwjuuwpuguh b puphuguwd (0, 0)
ytpnt b r = 1 swnunjhn mbbkgnn opowth Ghpund: Qo ¢ = € -7
wuypuwhwliub dbonpjuid dup. vgquumip b nhuybtpuhwib:

519. £ yuypuwhwlwb dedmpmip hwjuwuwpuswih £ puppujud [a, b]
dhowluypnid: @ik a W b-b, tpk EE2 =1, B¢ = —E&3:

520. Yhgnip &1, &2, ..., &, yqupuhwluh dGdmpymbbtpd wiwju Go,

nibbkb 0-hi hmjwuwp dwpe. uyuunwibtp b ybpowynp tppnpn Jupgh
unubinpotin: Wywgnighiy, np

n 3 n
E(ka) Yk
k=1 k=1

521. NSwpyly A wupwdtppny gnigsughtt puppunid mbbgnn € ww-
puwhwluib dtonpjud uyqpbulub dndtpbtipp:

522. Swpytiy (@, 0?) wwpudtpptipny onpiwy pupfufwd € upupu-
hujub dtdneyjud Jhbpppnbwlub dnitbypbbtipp:
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523. QYhgnip € wupuwhwlwb dbdnipynbh ponnibnd £ gbpowynp
prYny ng puguuwljmb 1, g, ..., r, wpdtphbtp: Wygqugmghy, np

= max x;, lim Y/ E£™ = max x; :

n—oo  FEM 1<i<k n—00 1<i<k

524. Wuugmaghy, np tph £&2 = EE3 = BEY, wyu € wuypwhwlpuh
ukdmpymbp nhulptap £ b jupnn E ponniat) dhwyb tpyne 0 b 1 wipdbpbbip:

525. Wyugnighy, np bpk £E27, B2 BE2 2 pytpp hwinhuw-
Onud GO pyupuwiuub ypngptiuhwih hwonpnuijut wbnudttp, wwyw
Opwip hpwp hwjwuwn Gb, hul € dGdmpymop nhulptp £ b jupnn £
nbnnmbt; dhuyt 0 b 1 wpdbpbtipn:

526. £ wuypuwhwlwb dtdnipynmbb phnmbmy L +1, +2 wipdbpbtipp
jnipupwibggnipp 1/4 huwbwluinipyuip, huly 7 = €2 w) Qpity €-h L
7-h hwdunptin puppumdp: p) Wyugmgty, np p(§,7) = 0: q) Wayugmgt,
np -0 b n-0 whljuwpu ¢kb:

527. (&£, m) wyuypuwhwlwb Jaypnph nioh htgplywy pupudwd optiopp

el 1 [ 0 [ 1

0 1/12 | 1/12 | 1/12
1 0 1/4 1/4
2 1/8 0 1/8

Qapity bpw nhuwtipuhnt dunpphgn:

528. Rbphky tpynm yuypuwhwjub dtdnipymbbbph ophtiwly, npnbg Yn-
ptpwghwih gnpdwlhgp hwjwuwp £ 0-h, vwu)b npubp wauiu skb:

529. £ L 7 wupwhwwb dEdmpymbitpd wiwp b b P(§ =1) =
P(€ = —1) = 1/2, P = 1) = P(n = 1) = 1/4, P(y = 0) = 12
Yhot't wprynp € -7 b 7 wupuwhwlwd dEdnypymbdbpp w) wiwju, p)
sinplijugyuwod:
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530. (£, 1) wupwhwwt Yytpnpp hwuwuwpuguh £ paphadud (0, 0),
(0, 1), (1, 0) ququplbp niiignn owbljwb bhpumd: Qabb €-h b 7-h

Ynptiyyughwyh gnpdwyhgp:

531. Hhgmp & ~ N(0,0): Qaplly (£,£%) wupuhwlwh Julpnph
nhuytinuhntt dunpphgp:

532. &1, &9, ..., & yqupuihwlub dGdmpymbitphg jmupupwbsnip tp-
gnwp Ynptijjughuyh gnpdwhgp hujwuwp £ p-h: Ugugmgty, np

533. £1,82, -, Entms (n > m) gupuhwlub dEdmpymbitph wi-
Juh Gb, dhunptiuwl puppuwd b mbkbh Ybpowynp nhuybpuhwbkn:
Qupitp m = &+ &+ + 6 Wne = Sur +Emr2 T o+ Emn
wuypuwhwliub dtonmpymbbtph Ynptjughwjh gnpdwlyhgp:

534. Yhgmp € b n wquypuwhwluwb dbdnyenibbbpp Gnpdw; G0 puoju-
Jwd, pin npnud B = En = 0 L npubg Ynpbiyjughwgh gnpdwlhgp
hwjwuwp E p-h: Qity €2 0 72 gupuhwluh ddnipymbbtph Ynpb-

Juwghwjh gnpdwyhgp:

535. Yhgnip E¢ = Enp =0, D = Dy = 1 wuwydwbibpht pujwpw-
pnn § b 7 wuwypuwhwluwh dedmpymbbtph Ynptjjughwh gnpdwlhgp
hwjwuwnp £ p-h: Wgqugnigti;, np

Emax{€%,n°} <1++/1—p2:

536. “+hgnip

112—5132 —x
e, O0<y<oo, —-y<z<y

f(x,y):{ s

0, Jhwgwd nhyplipmd

(&,m) tphswth wupuwhwwd dtdmpjud hwiwptn upnpyui $nibly-
ghwt k: 8nyg ywy, np E(§/n =y) = 0:
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537. “hgnip

6_%e’y
, O<xr<oo, O0<y<oo
flay)=q ¥ Y
0, dhwgwd ntiyptipnid

(&,m) tphswth wupuwhwwd dtdmpjud hwiwgptn upnipyub $nibly-
ghw k: 8nyg pug, np E({/n =y) =y

538. thgnip

e~V

TR O<r<y, O<y<oo
fla,y) =9 Y

0, dhwgud nhiyptipnd

(&,m) tphswth wupuhwuwd dEdmpjud hwiwptn fopnipyub bl
ghwl b Quity E(&2/n = y):

539. Qhgmp € U -0 hwdwwwpuuppwbwpwp A; b As wupuwdtg-
ptipny Mnmuwuntih puphunid niiignn wijupu yunpuwhwljub dtdonipnib-
Otip Gh: Qb E(E/E+n=n):

540. “+hgnip

6ry(2 —x —y), 0<z<l, O0<y<l1
flzy) =
0, dhwgwd nhyptipnid

(&,m) tphswth wupuhwud ddmpjud hwiwgptn upnypyub $nubl-
ghwt £: Gty E(¢/n = y), nppbin 0 <y < 1:

541. Yhgnip

dy(z — y)e~=HY), 0<zr<oo, 0<y<ux
0, dhwgwd ntiyptipnid

f($7y) = {

(&,m) tphswth wupuwhwwbd dtdmpjud hwiwgptn ugpnpyui $nubly-
ghwln & Gupbiby E(§/n = y):
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542. Yhgnip

%ye‘“"y, O<zr<oo, O<y<?2

f(z,y) :{

0, dohwgwd ntiyplpnid

(&,m) tphswth wupuhwud ddmpjud hwiwgpbn fopngpyub $nubl-
ghwb k: Qb E(ef/2/n = 1):

543. "hgnip

Fzy) g, 0<z<oo, 0<y<Lzx
€T =
Y 0, ubwgwd ntiyptipmu

(&,m) tphsuth wupuhwud ddmpjud hwiwgptn upnipyub $nibly-
ghwti £ Qapiy cov(&, ) :

544. Yhgnip ppud (€, 7) bphswth qupuhwwb dednpyub hw-
dunpbin ppnipyut $niblghwut

) %e_(y“”/y), z>0, y>0
zT,Y) =
Y 0, dhwgwd ntiypbpnd :

Quity EE, En, cov(&,n):

545. Quinp Otpmd Gb 3 whqud: dhgmp -0 «1»-tph h huyyp qugne
phyl L, hul 7-0° «2»-tiph: Qi) cov(€,n) :

546. Qpuyuquibnui Ju 100 dnly, npniighg 30-p Qupuy Gb: Qb

wupuwhwlwbnptb ybpgywod 20 ayotph vbe jupwtiph pyh dwpe. uvyu-
unuip b nhuytipuhw:

547. Yhgmp &1, Ea, - . ., &y whuu dhupbuwl puofujwd yugpuhw-
Jub dtdnipymbdbpd mobkh hujuwuwpuguh puphunud [0, 1] dhowljwy-
pl’lllj: Q-Lp[lh]_ E(mln(glv 52) s 7511)) i1 E(maaj(gla 627 s ’fn)):

548. N dwpn hptitg qiluwpyotipp nonwd G0 ubbywynud: Y pawpyobpp
hownbynud G0 U jnipupwbs ympp wugpuwhwlwbnptt yepgmd £ dkyp:
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Qi wyb dwupnuig pYh dwp. uvyuundp b nhuybtpuhwb, npnbp
piuypby Gb hptitg utihwjub quwpybbpp:

549. Gopwnptbp wpynnud Ju 2N pwpy, npnbighg tpynwh Jpu
Ooquwd E 1, Gpyniuh Ypu tpgwd k2 b wyb: Munpuhwjuinpbb Ytipgnd

G0 m pup: Swoyty wylt qnygq pupptiph pYh dwp. uywundp, npnip
nbintiu Wonud GO wpynh dke:

550. Yhgmp &1, &2, - . ., Ex-n 0 nhuwtipuhuyn wilwhu, shupbuwly
punfujuwd yuipuwhwiud dbdnyeynmbbtp Gh: Qywugngti, np

coul&s —£,€) = 0,mpuptn € = 36
i=1

551. d%hgmp £-0 N (0, 1) upuinupyp tnpdw) pupfuud wuypuhw-—
Y dtdnipymd £ b n = a + b€ + c£2: 8myg g, np

b

p(&,n) = NCEST :

ULd pytiph optiip

2tLphoih wthwywuwpnyEynh
w) Bpt £ > 0 Yytpowynp E¢ dwpbiwphjuliud uyuwumd mbtgnn
wuypuwhwliuh dtdnipymb k, wyuw
E
P(ézg)giga €>0:
€
p) 6pt £ yupuwhwliwd dtdnypynbd nbh Jupowynp DE nhuwbipuhw,
wuyw
D¢
€2’

P(l¢—E¢ >¢) < £>0:

Wunud &b, np {&,}n=12, . hwonpnuliwimpmip thpwpyymd L dbd
pPyYtph optiiphh, tpt &1,&2,...,&,, ... qupuhwlwuwb dhdnyenibitph
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hwonpnujutinipjub hwdwp ptinh mbh

, 1 — 1 —
nIL%P(ngfk—n;Eﬁk <£>:1.

Qtiphpuh plinptd: Wijwju b vwhiwbwhwl nhuybpuhwdbtp nbtgnng
wuwipwhwlwb dednpynibbtph {&,}n=12, . hwonpruiwbnipniip Lo-
pupyynud k£ Utd pytiph optibphb:

2tLphouh phinpith htyphwbpubkpp:
w) Ptintimihh phnpbd

lim P(’m—p‘<€>:1,
n

n—oo

nppbin € > 0 gwbjugwd phy k, m-p n wmbwfu thnpatph phpwgpnd
A wunpwhnyph hwtnbu quim phyb &, p-o A yqunpuwhnyph hwjuiw-

Jubnipjnibb £ jnipupwbsjnip thnpanid:
1 n
lim P | |— E - =1
e <nkz—1§k ’ <€> ’

P)
npptin € > 0 gubjugwd phy L &1, 82, ., &, - .. dhuptiuwl pwpfu-
Jwd Ytpowynp nhuytipuhw nibtignn yupwhwlwb dtompynbbtp to,

E¢,=a(n=1,2,...)
m 1
== <el|=1,

@) Mnuwunih Pnpbd
lim P <
n—oo
npptin € > 0, pe-0 (k= 1,2,...) A quypwhnyph hwjwiuubnigpmbi
L k-pnp thnpanud: m-p n wiuiu tinpatipnd A wupwhnygph Gpunwdotiph
Rhyl t:

Uwpynyh phnpbd: {&, }n=12, . hwonpnulwinyeniip Ghpwpyynud
L Utd pytiph optiipht, Lt

1 -
nh_)nolo ED (kzl §k> =0:
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Yuutillp, np 7, wupuwhwlub dbdnipnibbtph hweonpnuwbnieniop
puy puphudwdh gniquipnud £ 7 yjunpuhwub dkdnipjwibn, el Gpubg
F,(x) puphudwd $niiyghwbitipp gmquihypmd bo F(z) pwppuiwd $biy—
ghuyhtt F(z) nmbyghwjh pnnp wipbnhwpmput Ypbpmd: Gupg
gnnud &0 7y, 2, n:

Guukbp, np 1, yuypuhwijubh dEdnpymbitph hmeonpnuljubnip)ni—-
Op pup hwjwbwuwbnyeyub gnuguihypmd £ 7 wuypuhwljub dbonpju-
Op, et judwjulwid € > 0 pYh hwdwn

P{w: |n(w) —n(w)| >} =0, tpp n—oo:

Yupé gpmud GOC 7, £, n:
Guuukbp, np 7, yuypuhwlubh dEdnpymbidtph hmeonpnuljubtnipyni-
Op hwdwpyu hwjwupph gniquihypnud £ 7 yunpuhwubt dtdnipjwibn,
tiph
Plw: n(w) sz n(w)} =1:
Qupé gpmd GO 7, LAY n:

YQuuutibp, np 7, wwppuwhwlwb dtdnienibbtiph hwenpnuljwbnipjni-

Gp r-pn Yupgh dhehtt hiwuyny (r € (0, +00)) qniquidhipnud £ 7 ww-
pwhwlub dEdmpjuip, bph E|n,|" < co pninp n-tiph hwdwp &

Eln,—n" —0, btpp n—oo:

YQups gpmd GO 7, ﬂ) n:

{&n tn=12,.. yupuwhwlwh dEdnEnbLLph

hwonpnuuimpymbp (B¢, = 0, £ = 1,2, ...) thpwpyymy k ubd pytph
nidtinugyuwd opkbipht, Gpb

P<71125k—>0> =1:
k=1
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Q

552. Oqupytiiny Qtiphoh whwywuwpnipynihg, qhwhuypty htpb-
Yy huuiwluinpymop’ P(|€ — E€| > 20), npptin 02 = DE:

553. Oqupytiiny Qtphoh whwywuwnpnpymbhg, qhwhunpt htpb-
Ywy hujuiwuimpymop P(|¢ — E¢| < 30), nnptin 02 = D¢:

554. Spwd k£ € wupuwhwluwb dtdnipjul hwjuiwljuinmpmbitph
pufuiwh opkibipp’

c¢lo3o06
P 10208

Qowhwypty htiplyw] hwjwbwuwimpymop P(|§ — E¢| < 0,2):

555. Spywd k€ yunpuhwlwb dtdnpjud hwjwiwwinpymbdtph
puwofudiwh optibpp’

c101]04]06
Plo2]03]05

Qowhunpty htiplywy hwjwiwuwimpnop” P(|§ — E¢| < 1/0,4):

556. Spywd k € wuwpwhwluwb dtdnipjul hwjuiwljuinmpnmbbtph
puwofudiwh optibpp’

E1 3] -2|-1]0 1 2 3
P|0O1|01]02]|02]02]0,1]0,1

Quputy P([¢] > 1) hwjwbwwbnipyub §ogphyp wpdbipp W wyd hwdbiw—
k) LQtiphoh wthwjwuwpnieyniihg upugyud qhwhunpujubh hbg:

557. Ukl ypmty qupypndhih dhohtt pwpp 100 g E: Gbwhunply wqw-
puhwlub pndy upypndhih Yohep 300 gpunihg ng wytijh (hont hw-
Juwlwluwbnipyniop:

558. Ukd pyny Yopnuibtiph nhiypnid dwpdth dhoht Yohrp uypugyty
£ 5,25 4g: Wnh dhohli punwnuwyhb otinnudp hwjwuwp £ 0,02 Yg:
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Qowhunply Wby gqupwhwlwib Gondwb wpnmoph 5,2 4g-hg 5,3 Yg-h
uwhdwbbtpnud qupybpm hwjwbwjubnienibp:

559. SYju pnudwuh vy pupju pbpugpnd phnnudttph pubw-
h dwptdumhliuyubd vyuunwip 55 ud £ Fowhugpty wyn pnudwund
155 ui-hg ng wuuwu pubwnpjudp pnmibtp thotim hwjubwu-
tnipnibp:

560. Hhgnip & uypuwhwluwd dednipjui dwpe. uyyuwunudp b nhuwbip-
uhwl hwjwuwp Gb 20-h: Qbwhwgpty P(0 < € < 40):

561. Oqipytny Qtiphoih wmthwjwuwpnipinibhg, qupbt] npudh 100
Obypmuuibitiph niypmd glipph Gpunudtiph hwdwpimpyub 4kl thnpand
h hwpp qun hwjwiwwiniyeynibhg nbtguwd stindwb 0,1-ht sqbipw-
quibgtint hwjwbwlwbnienibp:

562. Npngtig |7 — %\ < ﬁ wwpwhnyph hujuiwluimpub upn-

nht kgpp, npuptin m-p 7 wiluwp thnpabpnd A wunpuhnygph Gplnwitb-

nh phyt £ & A yunpwhnyph hwjuiwubmpmbp wiupu thnpabphg
Jynipupwibsjnipnid. hwjuwuwn k %, tipti n = 10000; n = 100000:

563. A wyunpuwhnyph hwjuwiwuimpmip wiljuh thnpabphg jn-
pupwbgjnipmd hwjuwuwp k0,25 Ogqupybtyny Qtiphpth wbhwjwuwnni—
pjniihg, quwhuwpty htyplyw)] hwjuwiwuimpymip P(150 < m <
250), npuptin m-p 800 wilwfu thnpatipmy A wunpwhnyph Gplnuibbph
phyu E:

564. Oqytny Qtiphoh whwjwuwpnie)niihg, qwhunby htgph-
Juw hwjuwiwuimpymop P(40 < m < 60), nptin m-p 100 wijwju
thnpabipnud A wuypwhnyph Gpnwidbph phyt B A wuypwhnyph hw-
Juwlwluwinpnibp wiuwp thnpdtiphg mpupwbgnipnud hwjwuwp k
0,5-h:

565. 0,99-hg ng yuliwu hwjwbwlwinipjudp, htsyhuh Yytpht tgqp

Yuptih £ oy |2 — %| wpyuwhwyypnipjwd hwdwp, npyptin m-p 7 wbuiu

n
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thnpabpnd A wunpuwhniyph tpunudbiph phyt £ b A wugpuhnigph hw-
Julwlubnpnibp wblju thnpatiphg jmpupwis jnipnmd hwjwuwn k i
tipti n = 10000:

566. Oqnytny Qtiphoh wthwjwuwpnieynbhg gty e-p, Geb
P(|¢ — B¢l <€) > 0,9 L DE = 0,009:

567. Muwbnnp hwbatnd £ pboneynih, nph wiprynibpp 75 dheohting W
25 nhuwybpuhwyny yuypuwhwuwt dhdmpymb b w) Qb phbnpniip
85 vhwynphg pwpdp vpwiwm hwjwbwuwinmpub Yytpht wpdtipp:
p) Qhwhunpty nuwbnnh wpugwd thwynph 65-hg 85 dhwynph thol
1httnt hwjwbwywbnyeymip: ¢) Lwih’ nuwbnn wtigp £ hwodbh ppo-
Onipnil, npwtiugh 0,9-hg ng Wyujuu hwjwbwwbnipjudp bpubg upu-
gwd dhwynph dhohli 2tinnuip 75 wpdtiphg (hth 5-hg ng wytith:

568. “hgnip &-0 (0,10) dhowluwypmyi hwjuwuwpwswth puwphujud
wupwhwlub dtdmpjnib £ Stwhunpty P(|€—5] > 4) hwjubwljuim-
pymbp b huitdunply wyl 8ogppp wpdtiph htig:

569. Spyuwd k &1, &9, .. .,&,, . .. mbjuju quypuwhwlwb dtdnipnib-
btph hwenpnuijubmpyniop, pang npmd jnpupwbsjnip &, nibh htglyuy
puwfutiwh optibpp’

o | —V3

| 3

(n=1,2,...):

o:\»—l%
w

ol O

Wwwgmgty, np wyn hwonpnujubinipynbp Ghpupyynd £ dtd pytpp
opkbiphl:

570. Spuwd k£ &1, &9, ... ,&,, . .. mbjuju quypuwhwlwb dtdnipnib-
btph hwenpnuijubmpniap, pong npmd jnpupwbs jnip &, nibh htglyuy
puwfutiwh optibpp’

$n | —V2

Pn | 7

V2

(n=1,2,...):

Nl N

s |
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Wwwgmgty, np wyn hwonpnujubinipynbp Ghpupyynd £ dtd pytpp
opkiphl:

571. Spyuwd k£ &1, &a, ..., &, . .. mbjuju quypwhwlwb dtdnipnib-
btph hwenpruijutmpyniap, pon npmd jnpupwibsjnip &, nuoh htglywy
puwofudiwh optibpp’

Sn | —na 0 _1m ) (—1,2,..):

Dn on 1 ~ on—1 on

Wyuwugnighy, np wyn hwonpnujuinpyniop Ghpwupyymd £ dtd pytph
opkibipht:

572. Spywd k&1, &0, ..., &, - .. whuwu yuypuwhwljwd dGdnipni-—
Otiph hweonpnuywbnipynibp, pn npnud jnipupwbs nip &, nioh htgplyuyg
pwphudwb optiipp

n - «
n n+l (n=1,2,...):
Dn | 9p11 | 2041

Wwwgnmgty, np wyn hwonpnujubinpymbp Gohpupyynd £ dtd pytpp
opkiphl:

573. Spyuwd k£ &2,&3,...,&,, ... mbjuju quypuwhwlwb dhdnipnih-
btph hwenpruijutmpyniop, pon npmd jnpupwbsjnip &, nuoh htglywy
puwofudiwh optibpp’

&n _}/ﬁ 1_0L \/15 (n=2,3,...):

Pn | Vm Vo | Vn

Wn hwonpnuubnipyniin Gthpwpyymd £ utd pytiph optiphl, pt ng
(oqnytiy Uwnynyh ptinptidhg):

574. Spywd k&1, ..., &y, - .. whuwu upuhwluwb dtdmpmi-
Otiph hweonpnuwbnipynibp, pn npnud jnipuwpwbsnip &, niih htglyug
puwphudwb opkiipp

- 0
&n | —na P n=1,2,..)

Pn| 5 | L—p3 | 5
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W hwonpuuinipyub thuipdudp Juptih F yhpunty 2tpholh phin-
npkdn:

575. Spuwd k£ &1, &9, ..., &y, . .. mbjuju quypuwhwlwb dhdnipnib-
btph hwonpuijutmpyniop, pong npmd jnpupwbjnip €, nuoh htglyuy
puwohudiwh optibpp’

& | —Vinn Vinn

Pn

(n=1,2,...):

2

N[

Wn hwenpnuljubnipymip thpwupyymd ¥ dtd pytph optbpht, ph ng
(oquuJty Uwnpynyh plinptuthg):

L

576. Wywgmgty, np tph £ yupuhwiuh dtdniyeymip nbh Ytpow-
Unp gnppnpn Juipgh fg Yuppnbwljub dndtiinp, wujw

P(lg— B¢l > &) < 5 -

577. %hgmp f(z) > 0 sijugnn dniblghw k: Wyugmghy, np btph
gnympymb mbh Ef(|¢ — E¢|) dwp. uyuunidp, wyuw
Ef(l¢ — E¢|) .
f(e)
578. Wuyyqugmgt, np guijugwd & yuipuwhwluwb dkdoniypub hudwp
mtinh nibh htpbywy withwywuwpnienibp

P(l¢ - E¢|>¢) <

P>t +In(Eed)) < et

579. Npnotip Aintnhh dnnbijmud wbuwhu thnpatph » ghyp, nph nbiw-
1
< ) > 0,99 :

pnid
P
( 100

580. Qunp Utapbjhu fuwnugnnp owhmy k 8%, tphl pugynud E «6»-p
Jsdwpmd 18 hwljunwl ntiypm: Qowhwpty queh 7 = 1000 Ghgpnui-
Ubtiph niypmud ppwnugnnh pwhwd gnuiwpp 250$-hg Wkd (hotnt hujw-
Owljubnieynibp:

m 1

n
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581. Quinp Otnplihu jpwnugnnp swhmu k4 $, Gl pugymu £ «6»-p
Jsdwpmd 1$" hwlupwl niypnud: Qbwhunply queh 7 = 10000 Gbgpnui-
ttiph niypnud pwnuignnh wupypwd gnuiwpp 200$-hg ng wyuljuu hub-
nt hwjwbwljwbnieynibp:

582. pym quin bpptijhu ppunugnnp owhmd £ wybpwb npuid, npput
quntiph Yypw puguwd pytiph pupptpmpmbb b, Gt npuip dhujubg
hujwuwp sk, hwjwpw nhypnd ppunugnnp Yéwpnud £ wjbpwd npud,
nppuill qunbtph Yypw pugywd pytiph gnudwpt k: 0,99 hajwbwubnie-
Judp hgwhuh pwhnud Jupbih £ bpwfowdnpti) punwugnnhb, et juwnp
ynYyoynud £ n = 3000 whquu:

583. Uyugmghly

n
P Zpi—mZQt
=1

wihwjuwuwpnienibp, nmpbn p;-b 4 -pn thnpanud A yyuguhngph hw-
Juiwuimpymib t (¢; = 1 — p;), m-p n wiufu thnpabpmd A ww-
uwhnyph hwinbu qum phyb k:

584. 2500 wijuju wupwhwliwb dtdmpnbbtphg jnipupwbsjm-
nh nhuytpuhwb sh gbpmqubgmy 5-ht: @bwhunpl] wyn Wupuwhw-
Jub dbdmpymbbtph thohti pywpwbwlwbh Gpuig dwpbiwphiuyub
uyuumubitiph dhohlt pyupwbwuljuthg mbtgwd stndwb 0,4-hb sqbpu-
quibgtint hwjwbwlwbnye nibp:

585. Spyuwd k£ &1, &9, ..., &, . .. mbjuju uypuwhwlwb dhdnipnib-
btph hwenpruijutmipyniop, pon npmd jnpupwibisjnip &, nuoh htglyuy
puwofudiwh optibpp’

»

—S

€n
Pn

3

n

(n=1,2,...):

1
2

N[

s-h hp wipdbtiph ntiypnd hwonpnuwbnipynitp Yabpwpyyh ukd pytph
optliphti (oq|tiy Uwpynyh ptinptihg):
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586. Whjwju thnpabphg jmpupubsjmpmy A wjunpuwhnyph hwbnbu
quint hwjuimuinpymip’ P(A) = p, (P(A) = 1 — p): Lywbhwulkip
&-ny (i =1,2,...) i-pn thnpdmyd A wunpwhnyph hwintu qum phyp:
Wyugnigtip, np wyn wuypuhwub dtdnipnibtbph hwenpnujubnipni—
Op Ghpwpyymy £ ukd pytph optbphtt (ogupyt; Uwpynyh phnptidhg):

587. Wywmgmgty, np tpt wyuypuhwljub dtdmpymbbtph nhuybtp-
uhwbitiph hmenpnujubnieyniip vwhiwbunhwy k, pn npmud jnipupwb-
synip Wupuwhwwd deonpmb juppgwd L dhwyt hwupliwd ygqunpuhw-
Jub dkdnpymbitphg, Ghipupyynud k dkd pytiph optbphtb:

588. Spywd L £1,&a, ..., &n, - .. wuwpwhwlwh dGdnpnibbtph hw-
onprpujubinipymap, pin npmd DE, < C(n =1,2,...) b ry; — 0, tpp
li—j] = 0o (735- & W & yuwypwhwlwh dbdnieynibibtph Ynpbjughwh
gnpdwlhgt £): Wywgmghy, np wyn hwonpnuuibinipyniip Gohpwplyyniud
L dbid pytiph optiiphtl (Rtinpwlyith phnpby):

589. Uyuwgmgti, np Dgn — 0, tpp 7 — oo wuydwbhl pujwpupnng
£1,69,...,&, ... wijupu yuypuhwluh dGdnpymbbbph hwenpnulju-
Unipynbp Gopwpyynud £ ukd pytph optiipht (fuhbishth phinpty):

590. Uwywgnigly, np bph |&,] < kW lim &, £ ¢, wyu lim B¢, =
a: 8nyg quy, np €] < k (k= 1,2,...) wquyiwbp Juplnp & bogybh
Qupbith £ eoyugbt] wyn yuwjdwip:
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Runpwuiqphs pmbljghw

& qupuwhwluwb dtdnpjub phnipugphs nibljghw Yngmad k

[e.o]

pe(t) = Ee'™t = / e dF;(z)

—00

$nitiyghwl, npiptin Fe (z)-p §-h puppudwt $nidiyghwi £ Yhulptp yw-
puhwlub dEdmpjud hwdwp pbmpwugphs $mblghwb Yihup

pe(t) =Y ey,
k

npptin pr = P = x): Pugupdwl wipinhuyp yuypuhwui db-
onipjwl hwdwp

[e.e]

pe(t) = / ¢ fe () de,

— 00

npubin fe(2)-p € wupuwhwlub dednpjud fupnput $nibyghwb L
Pimpwugnhs $nibyghwud hwjuwuwpwsuth wpbnhwy £ £-h tunpdwdp

wipnne wpwbgph Ypw, pbn npmd
e(0)=1, Jpt)| <1, —-oco<t<oo:
Gpt n = aé + b, wyw
on(t) = <p§(at)eitb :

Bpt € U -0 wiwiu yuypuwhwluwb dednipmbdtp G, wuyw

Petn(t) = pe(t) - oy(t) :

Gprt ¢ wuypuwhwluwd dtdmpjuid n-pn Jupgh uygqpbwuid dndkigp
Ytipowyynn k, wyw pbnipwgphs $nidyghwtt n wbqua nhytiptogtifh k£
L

e®0)=i* B, k<n:
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bpl @¢(t) pimpwgphg $nmblyghwd pugupdwl hinphigptih £ unipnng
wnwigph Yypw, wuyuw fg(x) hopniyut $nibjghut wppuhwpynd k
@e(t) pimpugphg $mbyghwjh dhengny htaplywy pubwating

[e.o]

felo) = 5= [ e ettt

Conhwimp nhypmu Shoy £ htaplywy opodwl pubwalip’

c . .
ezt:pl _ eztmg

1.
Fg(l’g) — Fg(.%'l) = — lim %wg(t)dt,

27 c—o0 it

npbin Fe(2)-p & gupuhwlud dedmpyui pupludwb mbyghwb L,
hul 1 L xz2—p Fg(m) Pniblighwyh wmbpinhunpnpub Yaptp Go:

Munhn vwhdwbuwyhtt phnpbd. Gpt F,(z) (n = 1,2,...) pupudwb
dniblyghwitiph hwonpnujubimpymbp gmqudhpnud £ F(z) puppudwub
P$nilyghwyhty, tinp 7 — oo Yytipghtth wmbpunhunpmpub Jtyptipmd, wyw
hwiwyuwypuupwb ¢, (t) (n = 1,2,...) ptmpwgphs $nblyghwbtiph
hwonpnuljwbniyenibp, hwjwuwpwsuth pug ¢-h, jnupupwbsymp Ybp-
ounnp thowluwjpmyi gmquuihypnd k, tpp - — oo, F(z) pwppuiwb
$nyghwyhtt hwdwwywypuupuwing ¢(t) ptmpwugphs $niilghwyhb:

Swjuwnupd uvwhdwbuwghtt phnptd. Yhgnip @, (8) (n = 1,2,...)
panipwgphs $niilyghwbtiph hwonpnuljubnipyniip ¢ = 0 Ypmd qnuquidh-
pmu E o(t) wipinhwygp $mayghwht, tpp n — oo: W niypmy hw-—
duyuwpuupiud F,(z) (n=1,2,...) puphudud $mbolghwbdbph hwonp-
nulwimpjnibp, tpp 7 — 0o, qniquippmy k ¢(¢)-ht hwiwyupuu—
huwbnn F(z) pupudwd $mbyghwyht bpuw wipbnhugpnipyub fpbpno:

Uwhdwimy. Quubbp, np ¢(t) Yndybpu wpdtipwih $nitlyghwb ng
pugwuwluinptl npnpywd k, bpt guijugwd n € N, V {1, t9, ..., t, €
R, VA1, g, ...y A € C hundiwin

DD (i — )X >0,

i=1 j=1
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npptin )Tj—h Aj-h hwdwmdh L

Pnfuliph phnpld. Yhgmp ¢(¢)-0 wipbnhup $mdhghw kb ¢(0) = 1:
Opuitiugh ¢(t)-b (hth pinipwgphs $nibijghw whpwdtioy £ b pudupup,
np bw 1hbh ng puguuwljubnptl npnpywd:

Styplwiip. Gph ¢ (t) pmpwgphs $Pmbyghwidtp o, £ = 1,2, ..., wyu

o0

() = > crpr(t) u pimpugphs $mbhyghw £, nppbin ¢ > 0 L
k=1

o0

e =1:
k=1
Yhuyppnuuwjuit vwhdfwbwyhn phnpbid

@Phnpbd. Gph &1, &, ..., &, ... wijwpu yuypuhwuh dtdnyenibitph
hwonpujubniyenip guijugwd 7 > 0 pyh hwiwp pwjwpwpnd

Tim Z / (2 — ag)dFi(z) = 0,

n
k=1 |x—ak|>TBn

wwydwbht (Lhintipting), npytin
n
ar=E&, Br=)» D&, k=12..., n=12,..,

Fi(z) = P(& < ),

wwuw

x
_ 1 O 1 2
nll)H;oP<BnZ(§k—ak)<$> = Vo /6 2dz (*)
k=1 IS
hujwuwpwswth puyp z-h:
Lywymbnyh phnpbd. Gpt &1, &, ..., &,, . . . mbjuju yupuwhwlwuwh
utdmpymbitph hwonpnuuinpud hwdwp gnynipynit mbh 6 > 0

phy, wjbwhuhtr np

246 _
Jim B2+6 ZE|§k ag|"™° =0,
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wuyw Showp £ (*)-p:
Ntyphwtip. Gpti &1, &2, ..., &y, - - - wmbjuju yuypuwhwlwb dtdnipnb-
btipp dhwpbuwy Gb puppiwd W DE, # 0, wwyw Ghoy b (4)-p:

Q

591. £ yuwypwhwjuwb dtdnmpynbh nioh hwjubwlubngenibbtph pusju—
dwl opklipp’

§
p

Qaplitiy £-h pinmipwugphs mblghwb:

DO —

-1
I
2

592. £ yunpuwhwlwb dtdnieynihh nih hwjwbwwingembbbtph puwpu-
dwl opklipp’

€] -
b

Qapityy £-h pimpwugphg $mblghwb:

[\
o= O

N
1= D

593. Qupiity; » wilwp thnpdbpnd A wjunpuhnygph hwinbu qum

PYh pinpwgphs $mbiyghwb, tpt A wunpwhnyph &-pn hinpanud hwi-
ntiu qum hwjwiwubnmpymip P(A) =pr k=1,2,...,n:

594. ¢ wupuwhwlub dGdnpnibd mbh hplyw puppudub pmbly-
ghwir

0, z<a
F(z)=<p, a<z<b
1, >0

(0 < p < 1): Qapliy &-h plnypwigphs $mbyghwb:

595. Qupity [—a, a] dhowlwypnd hwjwuwpwswth puwppujud wjw-
puhwlub dtdnipjub pinipwugnphs $nibyghw:
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596. ¢ wupwhwlub dbdnipeymbb mbh htiplyw) ppnypyui $moy-

ghwtt
0, >
f(@) = {a—x| e

a2 9 ’.’E‘SCL

Qapitiy £-h pimipwugphg $mblghwb:

597. Gapily
el a>0

flw) = Seokl
Lwyjuwuh pupfudwb phnypwgnhs $nibljghwi:
598. Gapiby
0, z<0
xTr) =
/(@) {e"f, x>0

hopnieynih nibtignn gnigsuyht puppudwd pbmpwgphs $mblghwt b
uljqptwut Undtnpbbpp:

599. Qupity [a, b] dhowluypnid hwjwuwpwswih puwofudwd wugpu—
hujub dtdnipyub phnipwugnphs $nitghwt b ujqpbmjut Uindtpbbpn:

600. +hgnip ppyud £ £ yunpuhwljub dkdnipyub pinypwgphs $ndly-
ghwl' p¢(t) = €= qupiiy P(€ = 0) hwjwhwywbnpnibp:

601. “hgmp ppduwd k£ wupuhwljub ddmpjub p¢ () ptmpugnphy
dmbyghwbd: Qpity € wupuhwlub dtdnmpjub puspunudp, bph

w) @e(t) = cost
p) pe(t) = cos®t:

L

602. Qapbty [a,b] dhowluwypnud Uhdwunbh pwpppiwd (bowblynmb
pwopudwi) pbnipwgphs Snibyghwi:

603. Gapiby
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hopniyudp Unpn puphudwll pinipwgnhs $nibyghwte:

604. Qaputip phundwub puppudwb pbnipugphs $mblghwd b npw
thongny hwpyt] dwpbdunphljujut vyuwunuip b nphuybpuhwb:

605. Qapiby

am

(14 a)mtt’

Muuluih puphuiwb pbniypugphs $nibjghwdt b Gpum dhongny hwpybi
Juptiunhiulijub vyguwundp b nhuytipuhwb:

P¢=m)= a>0, m=0,1,2,...

606. £ wuypuwhwljwb dtdnipymbd moh 0 L o? wwpwdtapptipny tnp-

tw) pupjund: Ampwugphs $niijghwyh oqhnipjuip qupbly tpw pnpnp
yappnowuitt dUndkinpbbpp:

607. Gapiby

0, z <0
f((L') = { a*  A—1_—ax

oot e z>0,a>0 A>0

hpnipyjut $mbljghm mbtgnn wupuwhwljub dEdnmpub phnipwugnhs
Pnljghwtt b uyqpbwjutn Indkpbbpp:

608. Uyugnighy Mntwunth b onpiwy puppunmititinh uyninigynibp:
609. & wuypwhwljub dhdnpjul phnipwgphs $molghwb £
ot)=e 4 4>0:
Qb wyn wuypuhwljub daonmpjub hpnipjub $mblghwb:

610. £ wuypuwhwljub dhdnipjul phnipwgphs $mblghwb £
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Qb wyn wuypuhwlub dedmpjub hpniypyjut $molyghwib:

611. Wywugnigti;, np
oo

w .
01(t) = > agcoskt u 0a(t) = 3 apert
k=1 k=1

o

Pnilyghwitipp, nppptin ax > 0, Y. ax = 1, ptmpwgphs $niblyghwitip
k=1

GO U npnobp hwiwwwypuwuppmb pupjudwd pniblyghwtttipp:

612. Wyuwgnigti;, np

1. e~iltl
1
2 1
0, [t] > 1
3. (1) =
#le) {1—t2, 1 <1

4. eftz(wfarctant)
Pnilyghwbttipp ptimpwgphs Pmbljghwibkip skb:

613. Wywgnigh) htyplywip npuytiugh wwypuwhwlub dednyeynibp |h-
Uh hwidwswith uygpbwytph Bupiwip” withpudtog £ U puwwpuwp, np
plnmpwgphs Pmblghwd pnnbh dhwjt hpwub wpdtpbtp:

614. Wyugnighy, np gubljugwd hpulub ¢(¢) pompwugphs $mby-
ghw pwjupupnud £ htaplyw) withwjwuwpmpjubp
1—(2t) <4(1 - (1))
guiugwd t € R-h hudwnp:
615. Uuwgmghiy ¢(¢) pinipwgnhs $nitiyghwyh htplywy hupynipni-

up
lp(t +h) — ()] < V/2[1 — Rep(h)]

(Rez-p z-h hpuywh dwub k):
616. Wywugmghy, np tph ¢(t) ptmpwugphs $mbyghwbd wjbyhupb L,

np p(h) =1 (h # 0), wyu »(t)-0 A yuppipmpjuip wwppbpulwi
P$nljghw E:
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617. Wyugmgty, np tpb ¢(t)-0 pompwugphs $nmbyghw k, wuyu

j o(2)dz
0

Pniljghwtt tnybytiu Jihth phmpwugphs $nbyghu:

618. “hgnip € U n-0 phindwwb puppumd mbtgnn wilwp ww-
pwhwlubd dEdnpmbdtp G hwiwyuwypuupwiwpwn (n,p) L (m, p)
wuwpwitippipny: o puwofunid mbtiw € + 7 quypuhwuwd Jhom-
[ejnibp:

P(t) =

~+ | =

619. Yhgnip € b -0 Mmuwunbh pwpfunmyd nibbgnn wijuwn wugpu-
hwlub dEdmpnibbbp 6o hwdwywpuupwbwpwn A b Ao qupudbg-
ptipny: B°og puppund Ynmbttw € + 1 yunpuhwub dedmpnion:

620. Wyugmgt, np tpb ¢(¢)-0 ptmpwugphs $nibilyghw £, wyyw
Rep(t) Lu pompwgphs $niiyghw L

621. Wyugmgt, np tpb ¢(¢)-0 ptmpwugphs $niilyghw £, wuyyw
Y(t) = D=1 Ly pinpwgphs $nblyghw k:

622. Wywugmghy, np bph ¢(t)-0 pmpwgphs $nibiyghw b, wyu
»(t) = [o(t)]* bu punyewgphs $muyghw t:

623. Wyqugmgty, np tpb ¢(t)-0 pompwugphs $niayghw k, wuqu
P(t) = 2%%(15) — 1 bu pbmpwgphs $mbyghw k:

624. Wyuwgnigti;, np
go(t) _ %eftQ/Z + %67(&’571)
pompugphs dmuyghw k:

625. thgnip ppuwd k£ wupuhwljub dbdnipjub o¢(t) phnypwgnhs
dnidyghwb: Qpity € yuypuwhwlwd vEdmpjwd upnipjud $niblyghwi,

tipt o(t) = et
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626. “hgnip yipyuwd k€ quypuwhwluwd Jhompyub

sint

pe(t) = e

pOnipwgphs $nibyghwb: ity € wupuhwljub dGdnipyjub ppnuyejub
Ppniblyghwin:

627. %hgnip yipquwd k€ quypuwhwlwd dhompyub

It

@e(t) =e "cost

pOnipwgphs $nibyghwb: ity € wupuhwljub dGdnipyjubd ppnuejub
Ppnibyghwie:

628. “hgnip yipyuwd k€ quypuwhwlwd Jhompyub

1

11—t

phnmpwgphs $mblghw: Qpity & yuypuhwluwd dEdmpjwd upnipjub
P$nlyghwi:

ee(t)

629. Yhgnp ©(t)-0 pompwgphs $Pmbyghw k: Wyugmghy, np gub-
Juguwd ¢t € R hwdwp Shop k
w) 1—Jo(26)* < 4(1 — |o(®)])
p) 1 — Rep(2t) < 2(1 — (Rey(1))?)
@) 1—[p(2t)] < 2(1 - |p(t)]?)
n) 1—[p(2t)] <4(1 = e@)]) :

630. Lnidby 567 fuinph q) Ytpp' ogyutyny Yhbgppniwut vwhiwbuwght
phnptidhg:

631. £ upwhwlwb dednipniab mbh htplyw) fopmpjui $mblghwud’

0, z <0
f(.f(}) - { a®  A—1_—ax

Ty e x>0, a>0, A>0:
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a—\

Wwuwgngty, np tpp A — oo, wunpuwhwljub dkEdnipmbp pun
pupjudwil agypnud £ a = 0,0 = 1 wqupuwdtapptipny tnpdw; puwpjudwin:

632. £ yunpuwhwuwb dtdnipynihl nbh Mnuwunth pujunid A ww—
puutippny: Qyugmghy, np A — 0o nhiypnid % wunpuhwljub vtodonip-
ybp puyp puphudwb dgnud £ a = 0,0 = 1 wupuwdtapptipnyg tnpduy
puphudwibn:

633. 4500 wbtjuju, thwuptiuwl pwrhuuwd yupuwhwljub dbEdnpmb-
Ubiphg jnipupwibsynph nhuybpuhwt hwjwuwp k 5-h: Gpot; wn gw-
puwhwlub dtdmpmbibph dhoht pyupubwljubh’ bpwbg dwptdugmh-
Juub vyuwumihg mbtgud stindwb 0,04-hb sghipuquibgtin hajubw-
Jubnipyniop:

634. n yupwhwwb dtdmpymbp hptithg thpluyugbnd £ 10000
wiwp dhupbuwl pupppjuwd o = 2 dhohli puwnwlniuwhlh otinnid
nibtignn yuipuhwwd vkdnyenibdtph thohtt pywpwiwlwubn: 0,9544
hujuwbwuinipyudp f’os dbdwgnyh sbinmd Jupbih £ wybyuly 7 wgqu-
puwhwliub dtompjud b ipu dwptdunphjujut vyuwudwd hwdwp:

635. 7 yqupuwhwwb dtdnpnibp hptbhg thpluyugbmy £ wbupa
vhunptivwl pwppujuid, o2=5 nhuytpuhw nbtignn uypwhwluwb db-
onipynibbtph dhohtt puwpwiwuip: Appw’t wtapp t hbh wn gugpu-
huub dtdnmpnibbtph phyp, npytugh 0,9973 hwjwbwuwbnyeyudp 7
wyupuwhwliub dtonpyud b bpu duptdunphjuljut vyguudwb stnnuip
sqgtipuquibgh 0,01 wipdtipp:

636. n yunpuwhwuwb dtonyeynibp hpttthg bbpluwyugind £ 3200 wb-
Yufu dhwptiuwy puphujwd, EE = 3 dhohtind b DE = 2 nhuwtipuhwny
wuypuhwlmb dtdnmpynbbtph dthohtt pyupwiwuubn: Q-bwhunply
P(2,95 <7 < 3) hwjwbwluwbnpymbp:

637. Stinh m”0kb wpnynp UGd pytiph opkitipp L Yahyppniwubh vwhdw-
Owyhb phnptdp

w) P(& = £2%) = 3,
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p) P(g = £2%) = 27CH P(g = 0) =127,
Q) P(6 = k) = $k72, P(6 = 0) = 1 — k™2, (k 2 1)
pwohudwl optiiptitipn nibiignn wiljuh wupuwhwlub dtdnienibbbph
hwdwn:
638. Spdwiphy F wipnynp htplywy wbnnuip’
nn£>77 = nn—n£>0:

P P
639. “hgnp &, — £ L &, — n: Wyugnighy, np P(€ =n) = 1

640. “hgnip &, £, Ewny, £, n: Qyugngty, np
w) a&y, + by, N a& + bn, nmptin a W b-0 hwuunpnibobp G,
P [6al = 1€,
@) Entin — €11

641. Yhgnip &, £, Elny, N n b P& =n)=1: Qygugmghy, np
Juiwjujub € > 0 pyh hwdwp

P(l¢n —mn| =€) =0, tpp n—o0:
642. Yhgnip &, LEC Euny, by 7: Ququgnigti, np
w) a&y, + by UER a& + bn, a b b-0 hwupunpniboibp Go,
h.h,
R) [&n] = 1€,
h.h,
Q) &t — &0

643. “Yhgnip &, i) a, npuptin a-0 hwupupnd £: Qgqugmgtg, np
&n £ a

D D » D

644. Yhgmp 1, — 1 b & — & Shoq Y wprynp, np &, + 0 —

§+m:
D P
645. Wyugmgty, np tph &, — & b, — 0, wmyu
D
m) &n + M — &,
P

) Enttn — O:
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o(z) = ors = Unjnuuy 1
x 0 1 2 3 4 5 6 7 8 9
0,0 0,3989 3989 3989 3988 3986 3984 3984 3980 3977 3973
0,1 3970 3965 3961 3956 3951 3945 3939 3932 3935 3918
0,2 3910 3902 3894 3885 3876 3867 3857 3847 3836 3825
0,3 3814 3802 3790 3778 3765 3752 3739 3726 3712 3697
04 3683 3668 3653 3637 3621 3605 3580 3572 3555 3538
0,5 3521 3503 3485 3467 3448 3429 3410 3391 3372 3352
0,6 3332 3312 3202 3271 3251 3230 3209 3187 3166 3144
0,7 3123 3101 3079 3056 3034 3011 2989 2966 2943 2920
0,8 2897 2874 2850 2827 2803 2780 2756 2732 2709 2685
0,9 2661 2631 2613 2589 2565 2541 2516 2492 2468 2444
1,0 0,2420 2396 2371 2347 2323 2299 2275 2251 2227 2203
1,1 2179 2155 2131 2107 2083 2059 2036 2012 1986 1965
1,2 1942 1919 1895 1872 1849 1826 1804 1781 1758 1736
1,3 1714 1691 1669 1647 1626 1604 1582 1561 1539 1518
14 1497 1476 1456 1435 1415 1394 1374 1354 1334 1315
1,5 1295 1276 1257 1238 1219 1200 1182 1163 1145 1127
1,6 1109 1092 1074 1057 1040 1023 1006 0989 0973 0957
1,7 1940 0925 0909 0893 0878 0863 0848 0833 0818 0804
1,8 0790 0775 0761 0748 0734 0721 0707 0694 0681 0669
1.9 0656 0644 0632 0620 0608 0596 0584 0573 0562 0551
2,0 0,0540 0529 0519 0508 0498 0488 0478 0468 0459 0449
2,1 0440 0431 0422 0413 0404 0396 0386 0379 0371 0363
22 0355 0347 0339 0332 0325 0317 0310 0303 0297 0290
2,3 0283 0277 0270 0264 0256 0252 0246 0241 0235 0229
24 0224 0219 0213 0208 0203 0198 0194 0189 0184 0180
2,5 0175 0171 0167 0163 0158 0154 0151 0147 01443 0139
2,6 0136 0132 0129 0126 0122 0119 0116 0113 0110 0107
2,7 0104 0101 0099 0096 0093 0091 0088 0086 0084 0081
2,8 0079 0077 0075 0073 0071 0069 0067 0065 0063 0061
29 0060 0058 0056 0055 0053 0061 0050 0048 0047 0046
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3,0 0,0044 0043 0042 0040 0039 0038 0037 0036 0035 0034
3,1 0033 0032 0031 0030 0029 0028 0027 0026 0025 0025
3,2 0024 0024 0022 0022 0021 0020 0020 0019 0018 0018
33 0017 0016 0016 0016 0015 0015 0014 0014 0013 0013
34 0012 0012 0012 0011 0011 0010 0010 0010 0009 0009
3,5 0009 0008 0008 0008 0008 0007 0007 0007 0007 0006
3,6 0006 0006 0006 0005 0005 0005 0005 0005 0005 0004
3,7 0004 0004 0004 0004 0004 0003 0003 0003 0003 0003
3,8 0003 0003 0003 0003 0003 0002 0002 0002 0002 0002
3,9 0002 0002 0002 0002 0002 0002 0002 0002 0001 0001
TR
O(z) = o bfe z du Unymuwl 2

T 0 1 2 3 4 5 6 7 8 9

0,0 0,0000 0039 0079 0119 0159 0199 0239 0279 0318 0358
0,1 0398 0438 0477 0517 0556 0596 0635 0674 0714 0753
0,2 0792 0831 0870 0909 0948 0987 1025 1064 1102 1140
0,3 1179 1217 1255 1293 1330 1368 1405 1443 1480 1517
0,4 1554 1591 1627 1664 1700 1736 1772 1808 1843 1879
0,5 1914 1949 1984 2019 2054 2088 2122 2156 2190 2224
0,6 2257 2290 2323 2356 2389 2421 2453 2485 2517 2549
0,7 2580 2611 2642 2673 2703 2733 2763 2793 2823 2852
0,8 2881 2910 2938 2967 2995 3029 3051 3078 3105 3132
0,9 3159 3185 3212 3238 3263 3289 3314 3339 3364 3389
1,0 3413 3437 3461 3485 3508 3531 3554 3576 3599 3621
1,1 3643 3665 3686 3707 3728 3749 3769 3790 3810 3829
1,2 3849 3868 3887 3906 3925 3943 3961 3979 3997 4014
1,3 4032 4049 4065 4082 4098 4114 4130 4146 4162 4177
1,4 4192 4207 4220 4236 4250 4264 4278 4292 4305 4318
1,5 4331 4344 4357 4369 4382 4394 4406 4417 4429 4440
1,6 4452 4463 4473 4484 4495 4505 4515 4525 4535 4544
1,7 4554 4563 4572 4581 4590 4599 4608 4616 4624 4632
1,8 4640 4648 4656 4663 4671 4678 4685 4692 4699 4706
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1,9 4712 4719 4725 4732 3738 4744 4750 4755 4761 4767

2,0 4772 4777 4783 4788 4793 4798 4803 4807 4812 4816

2,1 4821 4825 4830 4834 4838 4842 4846 4850 4853 4857

2,2 4861 4864 4867 4871 4874 4877 4880 4884 4887 4889

2,3 4892 4895 4898 4901 4903 4906 4908 4911 4913 4915

24 4918 4920 4922 4924 4925 4928 4930 4932 4934 4936

2,5 4937 4939 4941 4943 4944 4945 4947 4949 4950 4952

2,6 4953 4954 4956 4957 4958 4859 4960 4962 4963 4964

2,7 4965 4966 4967 4968 4969 4970 4971 4972 4972 4973

2,8 4974 4975 4976 4976 4977 4978 4978 4979 4980 4980

29 4981 4981 4982 4983 4983 4984 4984 4985 4985 4986

3,0 049865 3,1 49903 3,2 49931 33 49952 34 49966
35 49977 3,6 49984 3,7 49989 3,8 49993 39 49995
4,0 49996

4,5 49999

5,0 49999
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MyESUUmULLE

IlLz=B: 19.A=02, B=(0,1)~{3}: 27.49, 42:
28. A5 =151200: 29. 1680: 30. "(" nn=3).  31. 8! = 40320:
32. (n —1)! (n—2) 33,6912 34.2520: 35 Cl: 36. 462, 252:
38. CR 1, O 1039, C12 = 8008: 40. w) CRpys p) O
4. C% s 42 m) 720, p) 672, q) 384, n) 216, k) 576: 43. 3
44.w) %, p) 21 45.0,1512:  46. w) ~ 0,0004, p) ~ 0,1499:

k
47.w) iy, p) G 48.04: 49.w) &~ 0,44, p) ghp & 0,0003:
oy

50. 2~ 0,2637: 51 g ¢ 52 Sk 53~ 0,1788 1 54 w)
a+b

mo oI —m 6 i >—1
C]W C4N M . 57 Z 06 (223 ~
’ C

i=3 4

~ 0,5263,p) ~ 0,418: 55.~0,39: 56.

s T—8 Cr—l
0,019: 58, Z Cmfaom . 59, L~ 01818, 60. 25
N-1

61. w) ~ 0,162, p)No 155: 62.w) ~0,0001, p) ~ 0,13,
q) ~0,1484: 63. w) ~ 0,504, p) ~ 0,432 , q) ~ 0,027, 1) ~ 0,036,

) ~0,001: 64.w) 1 p) w (0<m<n-2),

37’l
cm.on
Q) S5, (0<m<n),n) Wllnmlgnv mo +my +mg = n:
Coiitm . 49-31 . 4
65. —fR="=:  66. w) 3707550 B) 357 @) soas:  67.w) 0,1055, p) o
CHRCEDEN 67 ) 91 ) 27 .

71. m) 379 & 0,00005, p) 37%~0,00015, q) 1—(2)? ~ 0,974,
n) 3,)3 o5~ 0,0854: 72, S22 ~0,00005: 73. % 74 w) 1p) 3
Q) 3 75 ﬂi 76. ‘“) =) ﬁ D =m0 Y e
77. uJ) 2 p)l g i r}) o 78 w) ~ 0,0038, p) ~ 0,0006,
@) 1. 1) ~ 0, 0026: 7. 0,2. o.No, 0055:  81.~ 0,0809: 83.0,21672:
84. w) 1/n, p) (n — 1)F=1/nk: 8. 1) w) . p) G 2) w)

k! 1)! I(n—1)! kl(n—k)! k!(n—k)!
et B ke 3 w) SR p) 1 4) w) B
. 2(n—r-1) OwCr Chucs ~ .

90. 0, 5- 91. ~ 0,9508: 92. = m+1 h[ahm<nll0 tipt m > n:
1 48
93. 94. w) G- p) 2n—1)!!' 95. w) o576 ~0,1991,

n+m
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r—1
p) 2 ~0,0926: 96.(1—2)*~2 97.w) (1-1)~1 p) ,}:[1(1_%):

2k
= l:
N>
98. bpti N = 10k + I, wyqu p, = { 251 1<1<8 ; lim py =
N—o0
2k+2 —
=9
n

O pyh wdpnne dwul £ 100.
1= 20+ &P g — (AP +
|+ % [51%p2 < ps. tiph N > 3 101, w)

a) .m) e 102 w) grp) r RS ponp g1 < g2 < < jen
nupptp b L 0, bpk j1 < jg <. < Jx -h dpolt ubd dhuptuwykp,

N!C?
@ L:o103.1) 1-42) NNJXT% 3) (3CR10R—1+ k1) v
o2
104. 0,0769, 0,03116: 105, L: 106, ©=2: 107. w) {=20° py 1 —
4()% 108 w) 2, p) 330 109 L 110.w) L, p) 0: 111 w)

a T’ 12°
2p) 15 12 k(2—k): 113.~0,121: 114.2)w) 1—(1—2)%
p) 2(1-Inz), q) 1—(1—2)%, 1) 2% &) 222, tpli 2 < 3 L 1-2(1—2)2

tpt 2 > 3 115 382 & 0.3849: 116, ~ 0,21: 117. 1 — (1 —

Til)(l—i)- 18, 2 120, w) %, p) It 12L.w) i, p) 0 122

T™a

30123 Larctan2: 124, (l_d_%?g(lcow 4=21) tipki 0 < arccos a2y
cos p
0, tipk ¢ > arccos d+l27’. 125. ]-Eb;rfzy, tpt b+ d < Lsina U 1, bphb

b+d> Lsina: 126.1—(1—5/1+ (2)?),pliry/1+ (2)2< LU,
tpti /1 + (2)? > L: 127. dpwih hwupmpynibp wtapp E juqsh bpw
ppuiwgdh /= 0,354 dwup: 128, w) %, ) %: 129. % ~ 0,2544:
130. 2: 131, Z: 132, 1 139, Gujuywy GO 140. w) Wohwfu &0,

p) wilufu th: 143, Wowpu bb (A4;, 45), 4,7 = {1,2,5,6} qnyqtipp b
(Al,A5,A6), (AQ,A5,A6) hn]u]ll[lhp]’_l: 144. % ~ 0,323 145. 1(%]8 ~
0,9083: 146. w) 0,94 p) 0,38: 147. w) 0,3 p) 0,6: 148 2% ~

: . (n—D!(n—k)!
0,4956: 149. 0.96: 150. 1 — 1y bl b < m—1 L 1, bipb

k>n—1 153.512(%=2)" ~ 0,0052: 154.w) 0,552, p) 0,012, q)
0,328,
n) 0,088 155. p1 = 2, po = 3 156.p1 = 2, po = 2, p3 = 4
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157. p1 = 25, py = L, (p2 = Zgpi): 158, 0455 159, 1/6:

a+2b?
160. 77/165, 53/165, 35/165:  161. 2/3: 162, w) 0,0792,p)0264-
L tptii =0
163. w) 0.4 p) 1/26: 164 P(¢ = ifny = 0) = { 9P !
TQ’ tll'&h 1= 1, 9

165. 8—}';71;: 168. w) A; b By, wupwhnypbtpp wiuh b guijugud
[ -h W k-h ntigpmy, p) Az b Cy wuwypuwhnypitpp wifwu bb, q) Ag
b Cy ywuypwhnypibpp Juiyw; Gb: 169, r > %, r = % u r<a0
nbiypbpnud: 172, w) Wnweht vwihnph wikbwhwjwiwlwb u11u]’ll’ll[lul—
Ynipymbp uljqpbuut yupmbwyniypjud yuhywindb t: p) 125 ~
0,336: 173. Wytiih hwjwiwluwb k, np nuwbnnp ghppp Yqupbh:

174. Qyugmghy, np iph A1 N A4AsN...N A, C A wyu

P(A) > P(Ay) + P(A3) + ...+ P(A,) — (n— 1) :

177.0,5: 178 w) Npnlibih hwjwiwywimpymip Py g = (1-(%5)%)",
180. 1 — (1 — (1 — p)™)k:

amard N

p) lim Pygp =e 3 : 179 e
N—o0

N . 4
R3—)37r)\

181. w) 1 — (1 —p)¥, gniquhtin thugyud nhiwnpnieymittph pubwlp
wybjughtin nbwpmd onpwjh hntuwhnpniop wémd k: p) pk, hwonp—
nupwp dhugwd nhdwunpmpymbbtph pubwlp wybugbbnt nypmd

onpwih hnuwihnipniop btjuqgnud £ 182. a+b' 184. %: 185.
n

et 186.w) [T (1-pk), p) -1 (-p). @) [10-m)
k=1 k=1 h=1

n n
tpt pp < 1: 188, 3 (—1)F 1L 189.p, = > (-1)F 1, lim_ p, =

—Pk ’

k=1
n
1—eh 190. pp, = 1= 2 (=D 1), lim p, = e 't 191 w)
k=1 ° n—o0
n—1
T Z )1 Z( Y@ et 192.1- El(—l)mflCT’?(l
m=
k. ~ . +2 .
%) 193, &£~ 0,39. 194, 5 (i T ) 195 o0t 2y 196
04: 197. 2% 198. Lowbwlmpymb gmbp: 199, m(C3(c4r

3) + C2b(c + 2) + CPa(c + 1) + CPc): 200. ~ 0,0811: 201. w)
~0,5739, p) ~0,7777: 202. 12 ~ 0,5882: 203. 25 ~0,3623, 2 ~
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0,4058, 5 ~ 0,2319: 204. ;& ~ 0,9697: 205. A;-U faipwpwlwyp
yunpnibwynud k¢ ungpuiwd wpgpunpuip, ¢ = 0,1,...,5: Wikhw-
huwjubwlub £ As-p: - 206. % ~ 0, 9524' 207. w) %, )
~0,9173: 208. 1 ~ 0,4545: 209, =2

210. & ~0,4615: 211
10 ~0,5263: 212, 11/45: 213.0,37209: 214.4/9: 215, (n=mnomtl),
’ n(n—1)

216. Pyy(s) = Z Py(k)Py(s—k), Pay(s) = B =22 017, 12 218,

(%)N : 219 8 mrmul[ahn wtp L ninuplty woweht opowily, p ~ 0, 7378:
3603

220. (6abc+ 3b(b — 1)c+2¢(c — 1)b+4c(c—1)a): 221.p, =
a+b+c
(p+g—1)""'"m+(1—q)l+(p+q—1)+p+q—1)°+...+(p+q—

2

)72, lim py = 55t 222.w) P(A) = 155, P(B) = g2

p—q 1—2a8° 1—2a8°
npptin P(A)-0 b P(B)-o hwiwyuwpuupwt A b B jawnugnnibph
wipnng fuwnp pubtine hwjuwiwuwinpnbibptb to: p) Lwdh np a >

B, wyu A hllu(r})l;l%rblnl(lp )llljuujulp sowhwybtp b puunu wdpnng fuwnn:

223. Sy 224, q()%: 225. Npnbbh hwjwiwubmpymip P =
N! Nl .
(N+1 NN -2 Z k;+17 Wy < P < 2(N+1) : 226. Npnbbih hw-

4 4
Juwiwywimpymop P = > %[?\}j (1—0=-p)»)+ > 50—

i=0 i#j=1

(1—p)Q1 —pj))} 227, 8 20,3171 228, 2: 229, 22l 230~
. 1 1 1 1 1. 2ap

0,0392: 231 (5o +75)/ (s Ty T gt 232 ooyt 233

243 ~ 0,3292: 234. ~ 0,0002: 235. ~ 0,028: 236. (3f) 237.
= ~ 0,2963:

238. C3,_.(3)?" 7% 239. ~ 0,2: 240. ~ 0,9308: 241. ~ 0,0655:
242.n > 10: 243.7m > 25: 244.~0,0226: 245. ~ 0,2454:

246. =~ 0,0003: 247. 11/32: 248. w) 1/16, p)1/32, q) 5/16, n) 1/4,
6)31/32: 249.0,7361;0,7358 250.0,393: 251.2 0,0013: 252. Wtyh
hwjwiwlwb E upubwy gndit by «6» snpu qunh bpnudny: 253, w)
~ 0,6651, p) ~ 0,6187, q) ~ 0,5973: 254. m, = 4, Pip(4) =~
0,2508: 255.24 <n <25: 256. m, =10: 257. ~ 0,0041:

258. ~ 0,0456: 259. Wlth hwywiwyud £ 3 -p: 260. 5 < m <



142

22: 261. n = 666: 262. =~ 0,7698: 263. 15 < m < 33: 264. R
pwhwd gnudwpt £, 1600 < R < 3733%: 266. p* + k(1 — p)p*~t +
Rk~ )(1 p)2pF=2: 267.w) ~0,6513, p) ~0,998: 268.~ 0,9936:
269 ~ 0,197: 270. =~ 0,5953: 271. 0,0935: 272. % ~ 0,3633:
273. 273 w) 0, 321 p) 0,243: 274. C3,(5)?": 275. p™(1+ Clq+
C2 1 +...+C 0 T _2q" 1Y) 276, nwnwgnuiwpp pwdwiby wnwght
L Gpypnpn hlmqmgnqﬁhph owhtiin hujuwbwubnmpmbbtph p; : p2
hwpwpbpnpjuip hwdbdwpuui p; = 2%(1 + %C L+ 2%02 1t
+ ot O 2> p2 = <1+ Ot Cppa g Ol 2) :
277. L1+ (g —p)m): 278, Q2= 279 1 — (1 - p(1 — g))™

281. B-U -bufh funpypuymdp , Ag-0 - Gwdht Ynhugh & mnnulhr},

. n n
k=0,nP(B) = Z P(Ak)‘P(B/Ak) = Z Ckpkgn=F(1 — mk )

ma2=
283. A-0ipgdwl duuiu;[lull{ Yhwnph hpwadhqutphg vhwjb dtyp, 4; -0 -
upgnuip Yhwnph ¢-pn hpwahgp: Af-m) - 4-pny hpwahgp nibh m nhwnu,
huy Wbwgwd hpwdhqubphg jmpwpwbsmpp ng wytih, pwbd (m — 1)
nhynud, P, (7)-0  i-pn hpwagh m phymd wpuiwm hwjwbwluw-
Umpynitil £, 7, (7) - j-pn hpwagh ng wybph, pum (m— 1) nhwynuittip

upuiwm hwjuwbwuimpymbd £, P(4;) = Z P( ) P(A) =

k k n
> P(Ai) =3 30 Pn(i) - [T Tn(5): 284, O 'pbd
i=1 i=1m=1 j#i
n+m n-r+—m n—m
285. Cmptmgn=m.  286. Cp 2 p b ¢ 2 ,tpb 5™ -p wipnne phy
E U 0 hwiuwnwy nhwypmd: 288, w) pg®, p) (1 — ¢*)pg®, @) (1 —
@ —pa®)pg® 289.q; 31 290.¢%; 0,25: 291. b5 ~ 0,0054: 292,
a—1 1— b _
pa,lfqb,f,p‘i,)lqb,lz 203. (1 — p2)N: 294, (rpg"~L + ¢")N: 296. ~
130

0,265: 297. Z Clooo(75)F(35)10907% ~ 0,9993:  298.w) =~ 0, 4236,

p) ~ 0,5, q) ~0 48: 299. n = 100: 300. 0 < m < 6, nmptin m -
pwfunudtbph phyt k- 301. w) 558,p) 541:  302. & = 0,05: 303. 547:
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£
304. £~ qlipph hwilntu quint ppuo , 2o

305. £-0 wpwbnupy dwbpwlybbph phyb ,

v

1/45 | 16/45 | 28/45

306. £-0 umpuib dwipwlybbtph phytb L,

3 0 1 2 3 4
P | 0,6561 | 0,2916 | 0,0486 | 0,0036 | 0,0001

307. £-0 wipmgywd uwppbiph phyb L,

cl 1] 2 3 4 5
P 010090081 00729 | 0,6561

308. Q© ={q, PG PRY> - PR R Gs --- 1> £-0 bpnuitbph phyu &, P(€ =
n—1

n)=gm,n=12. P(¢>1)=4:309. &b jupupuwd Ypulngitph

phyt t, P(¢ = k) = 0,8%710,2, k = 1,2,...; 310. &,-0 k-pn puu—

Gtappnihuph upuipwd Gpnudtph phy £, & = 1,20 P(§ = m) =

(0,6 -0,4)™"1(0,4 4 0,6%), m = 1,2,... (52 =0) = 0,4, P(& =

m) = 0,6(0,4-0,6)™"1(0,6 + 0,42), m = 1,2,...: 313. 0,25: 315.
r<-—1

T — % —1—% —1 <z <1: 316. w) Stwpwynp E, p)
z>1

ng, q) hﬁulpuu{np t 317. w) a = 1/m, p) F(z) = 1 + Larctana,

@ P(-1 <& < 1) = 3 318w P >1) = 4,12)P(\§! >

1) = 3 319.a = 2, %(arctane)Q: 320. w) ¢ = 2/a, p) F(z) =

<0
(2-%), O0O<z<a q P(§<¢<a)=7320Lwc=1/q,

T > a,

3/4, F(x) =

okl O

Har O

+
£
|
IS
A
8
A
[a)

p) F(z) = = 1: 323,

+ +
QR 28
|
S5
[a)
A
8
N
IS
N
)
IS
IA
72 2%
A
&

— == O
N
)

8
V
S
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w)e Lp)etqe 324 Pé—t<a/E>t) = {

0,

s | M 125 m] 01 ]2]
TPl03/05]02]” [Pl03]05]02]

n| -1 1 ) _ 1

326. O [T F@) | 327 w) fylw) = 52z,

fn(x):z%,m>1,q)fn(x):%,1<x<e:

328, w) Fy(a) = {1 e T2 ey - {

0, x <0,
) Fn(x) = F¢ (H_e%), fn(m) = ﬁ,

1-— eiA% x>0 )\ef/\a:,
q) Fn(x) = { {

0, <0
3BL Fy(z) =a, 0<z<1 332 f(2) = sy
1, z>1:
0, <0
333 Fla) =1 - ¥YE-42 <z <i2/4
1, T > l2/4,
z € (0,1%/4)
0, x ¢ (0,0%/4):
0, <0
34, Flz)={1- @2 g<z<a

az

1, z > a,

1—e? >0,

z<0:

0<z<1,p)



145

2(a—x)

B PR x € (0,a)
/ )_{O, x ¢ (0,a):

335. Lowbwlkbp dwfjuhg £-pn Yogph wpughuh pogpnieyniap
e (z)-ny,

fe (o) = {C%Cfi:%i O -9 e

) z ¢ (0,a
Ty, >0, )
336. w) f(z) = . 2o, P) f(2) = oty
337. f(z) = sivie—s ¢ €(0,2R),
0 ¢ (0,2R)
1
338, f(z) = { "RE—a?’ r e (-R,R),
0 v ¢ (-RR):

339. 1/2, 1/6, 1/12, 1/2: 340. w) 1/3, p) 1/3: 341.0,3; 04; 0,5: 342. 0,0456:
343. w) 0,79673 p) 0,68268 q) 0,3707 1) 0,95154 ) 0,15866: 348. U
hwonn thnpatiph phyt £, P(n = m) = G8%e=2 1 = 0,1,2, ..

m!

353. Gwpnn b 354. 7 = (€ + [¢]), Fy(x) = {Oﬁj(x)’ z Z 8 :
355.
F(%b , a>0
o e C R
0, a=0,y<b,
1 a=0,y>b
0, <0
356. Fy(z) = qz, O<a<l
1, z>1:
0, z < ma®

357. Fy(x) = { V&/r=a ma? < x < b

b—a

1, x> mh?
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359. P(sign§ =1) =

P(sign§ = —1) =1/2:

1 —xz/2
e x>0
360. f(z) = V27 ’
() {0, 2<0:
1 _(E—a)? N _ (E+a)? 50
— | e 20 e 20 s xr
361. w) fy(z) = 20V27m2
0, rz<0:
B n (Yz—a)? .
p) fn( ) 30v2n Va2 202, '1‘7&0
1, € (0,1
362. f,(z) = z€(0.1)
0, =¢(0,1):
1
e, rec (0,1
363. c =1, fp(z) =4 2vi=® (0,1)
0, x ¢ (0,1):
364. c = %, F(z,y) = (% arctan § + %) (l arctan + )
In?2)27*7Y,  2>0,y>0,
365. 1) 135, 2) f(z,y) = (
0, dﬁulgulb ntiyptipnuy,
q) 1352712 366. a = &, fe(z) = fr(2) = W g -0 b 7-0 whluju

L: 367. w) fe(x) = e, x>0, p) frly) = (Hy)Q, y > 0: 371.
14/39, 10/39, 10/39/ 5/39: 372. w) pF(z) + ¢G(z), p) F(z)[p + ¢G ()],
q) F(z)+qG(x)[1—F(z)]: 374. Ng: 375. Wn: 377. Ng: 378. Ng: 379. w)
Wn, p) wyn, q) wyn, ophtaly’ &-0 pnmimd k -1 b 1 wpdbpbbpp, huy
n = —& Wn nhiypnd € +71 =0 L &n = —1: 382, Wn: LOnhwipuwbu

/2, (w,y)€eR
. 388, Ly) = ,
tbohodh: 388 Jenle0) =0 ¢ R
1— x|, z| <1
fe(z) = fp(z) = & 2 &-0 b -0 Juyyuy to:
O’ ‘$| > 17
WEZ <R
389. fe(x) = TR® =
fe(@) {07 o] > B
f (y): 2\/:;];2?’ |y| SR, fC(Z): ﬁv ‘Z| SHu
! 0, yl > R, 0, |ol>H,

(&, m, ¢) dtilppnph wpnytijghwitipp Jupuywy Go:
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390. w) fe(x) = fy(z) = fe(z) = {631 eE, alsr p) 1/8:
7 | >,
393. w) F(z,y) = F(min(z,y)),
0, r< -y, y<0
p) Fz,y) = F(z) - F(-y), -y<z<y, y>0,

F(y)—F(-y), x>y, y>0:

394. p) (1222 + 6x)/7 q) 15/56 n) 0,8625: 397. P(n, = 1) = P(n,
—1) = 1/2: 398. 5/6, 1/6: 399. w) 1/8, p) fe(z) = 2 — 222, f)(z) =
_ _ 3 3
1e7Vy3: 400, 1/2, 1—e™: 403, §+3%— 50 404. Fe(w) —F(2))",
x}

—1-(1
Fy(z) = (F(z))": 405. Fy(z) = 1 — exp{—(i:l)\i x>0

E+n] -1 ] 0 1 2 [ 3
P 006015032027 02

E—n] 3] 271 -1]0 1
P [008]018]035]024]0,15

] 2] -1 ] o 1 [ 2
P 008 00605101502

E+nl -1 ] o[ 1] 273
P 008016028024 024

E—nl -1 ] o0 1 2 [ 3
P [012]024]032]016]0,16

gl 2T -1 o] 1 2
P 016|016 | 02 ]024 [ 024

408. P(n =1i) = 2¢'p—q*'p—¢**'p, P(n=1i,6 =j) = ¢'"p* i >,
Pn=i& =i)=(1—-q¢")gp, g=1-p:
409, Fla,y) — {(F@))” ~(Fy) - F@)",  w<y

406.

(F'(y)", >y

AL k=0,1,...,n,

418. P(E+n=k) =4 D%
(E+n=k) {2(?;11)2@ E=n+1,..2n:
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0, r < 2a, r>2b
422, (@) = 4 =afer 20<z <a+b (Uhtyunbh puphinui)
(zli;)”% a+b<z<2b:
1 m)
1-— , | <a
423. w) fp(z) = a( @ 2
0, |z| > a,
l(1—m) lz] <a
p) fo(z) =4{° ¢ B
0, | > a,
0, z ¢ [0,2]
424. w) fp(z) = ¢ =, 0<z<1
2 —u, 1<z <2,
1_|ZE|7 ‘SL’| <1
p) fo(z) = {0’ 2] > 1,
21—2z), 0<zx<1
xTr) =
Q) fn( ) {07 2<0, 2> 1
—lnz, O0<z<l1
€Tr) =
r})fn() {07 <0, z>1
0, z <0
) fy(z) =< 3, 0<z<1
ﬁ, z>1:
0, r< -1, >3
425 fepp(z) =g 2 —1<a <1
3—

TI’ 1<$§3
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A=z 1
se > —51n2
430. ) =142 ’ A
o =0 2
! ) x 2 07
p) fn(z) = (L+a)? B 431, fen(z) = 122(1 — x)?, z € (0,1):
0, z<0:
1-1  z>1
0, z ¢ (0,1
1, z¢€(0,1) . #(0.1]
436. fp(x) = 0 0 437. fp(x) = o 0<z< 1/2
) X ) :
27 1/2<z<1:
0, x ¢ (0,2]
438. fp(x) = < a2, 0<xz<1 439 fe(z) = 122(da — 2? —
(2 —x), l<ax<2:

2

2Inz —3), € (0,1): 440. fey(x) = e & > 0: 443. 1 — ¢ 7
444. 1 ~ N(0,1): 448. B¢ = 0, D¢ = ™. 449, €-u phynudubtiph
phyl b B¢ = 14, DE = 4,2: 450. p _.2/3 n = 18: 451. $5: 452.
€-U Jtpgpwd wpypunpuipiiph dte qyiynn funpub wpyunpuptiph
phyt Lk, E§ = 3/5, DE = 28/75: 453. £~ hwijwd qinhlybbph by
uyhypuy gbnhyutph phyt £, E§ = 0,8, D = 0,36: 454. n(2p — 1):
456. k = a, A = e % 457. E§ = a, D = a(a+1): 458. a = 1/10,

= 9/10: 459. w) D¢ = BE(BE + 1), p) P(€ = n) = graym
n = 0,1, ... (Mwuyuih pwplumu): 460. £-0 bypnudtph phyb k, EE = 2,
1/6, ze(1,7)
0, z ¢ (1, ) :
463. a = \/2, B =0, DE = 51 464. A = 2)\2, B¢ = 2/\,D§—
465. BEE =n+1, D =n+ 1

0] 1

JZ s 25| P B
Dn =1,99: 468. En = 1+/\, Dn = (2+>\)(71+/\)2 469. w) 12, p) e — 1:
470. w) En = 0, Dn = 1/3, p) En = 1/2, Dn = 1/12: 471. w)

D¢ = 2: 461. BE = 1, DE = P 462, f(x) =

466. w) = 2/3, Dn = 2/9: 467. En = 2,4,




150

0, <0
12, p) —1/2: 472. 5+ 11In2: 473, Fy(z) = ¢ 22 0<ax<1/2,
1, x>1/2,

En=1/4, Dy = 2: 474 EC =1,9, D¢ = 1,29: 475. 1) 2/17, 2) 35/12,
3) 4,87, 4) 227/33, 5) 43/83, 6) 35/33: 476. p) B¢ = 7/2, En = 161/36,
D¢ = 35/12, Dy = 2555/1296 cov(g, n) = 105/72: 477 B¢ = —6,
D¢ =29: 479. 47550 481, w) YIB, p) Y21 482 w) 445, p) 0: 483. w)
18 p) 21: 484. a+1/k, 1/k?, )1, 1/6. 485. D¢ =1, Dn =1, cov(&,n) =

m— k
0: 486. 2, 5/3, 12/5: 487. w) P(¢ = k) = &= mEEE k= 0,1, ., p)

E¢ = N,Df—%: 488. E§1f4, E& =3
489. B¢ = =221 490, ¢-t hwiwd ul qinhlyutiph ph &, B¢ =
n/m: 491. P(¢ = k) = ¢*p + p¥q, k = 1,2,..., p-u dkl thnpanud
hwonnmpjui hwjubwubmpmbd &, ¢ = 1 — p: B = % + %, D¢ =

Lo+ % — 2 492 EE = ofp, DE = o/f% 493. 15570 496, ¢ = 2,

En = 1/2, Dy = 1/12: 497. w) \f p) oy/2: 498. Ep = a/3,
Dp = a?/18: 499. By = 2R, Dn = .

<
500. Fe(z) = {%arctang, z N 87 fe(@) = =3z, © > 0, B¢t
gnnipnb snibh:
0, z <0,
501. Fe(x) = %arcsin 255 0<z<2R, E{=°=2
1 x> 2R,

504. En=e 2, Dp=(1—e 12 506.155: 507. B&, = 1, Dg, = 1:
510. En = 0: 514. (01 — 02)? < D(€ 4+ 1) < (01 + 02)?: 516, Eén = 1,
Dén = 4/9: 517. B¢ = 1/4, D¢ = 7/144: 518. EC = 0, D = 1/24:
519.a=—V/3,b=+3: s521. B¢F = K

522. H2k+1 = 0, Mok = (2]{3 - 1)”0

n\&| 2| -11]1 2 2 |
1 0 [1/4]1/4] 0 527. B = < 408 1 > : 529. w) ng,
4 /4| 0 0 | 1/4 2
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) :530. -1/2: 531. B = o 30 1 533. 1 534,
B) wjhe 955 ' "7\ 30t 150 p:
2 /9. AL 5—4 . . .
538. y=/3: 539. )\?JFKQ 540. 63 541. y + 2: 542. 2: 543. 1/8: 544.

1, 1, 1: 545. -23/6: 546. 6, 112/33: 547. - . 548 F¢ =

n+1° n+l
D¢ = 1. 549, GN=mEN-mol). 55 1. 553 8. 554.0,64: 555,

1

22N—1) 1
0909: 557. > 2: 558. > 0,84: 559. < H: 560. > 19/20: 561.
pi = 0,75 562. > 3;> 39 563. 0.94: 564, 075 565. = = ¥
566.£=10,3: 567.w) < £ p) >3 q)n>10: 568. < 2 02: 571,

Wn: 572, Wn: 573. L[Jn 574. Wn: 575. n: 579. n > 250000:
580. p > 0,82: 581.p > 0,98: 582. § > 815: 584. p > 0,9875:

n .
585.5 < 1/2: 59l.cost: 592.cos’t: 593. ] (qk—i—pke”); gr+pr = 1:
k=1

. 4 . B,
94 pee + (1= plet® 505, et son B sor it
! s = kbt 599 E?tb*ei‘” ph+1_gk+1

=PE=D=1p) PE=2=PE=2)=} PE=0=}
602. (i(bza) (e —eits ))2: 603. e~ Itl:  604. (q+pe’)™; np; npq:  605.
a) -, M. 609. f(x) = W; 610. f(z) = %e—lr\;
618. P-hﬁmiuﬂlum pupfunid (n+m, p) qupuwdtappny: 619, Mmwunbyjwb
pwofumy A + A2 wwpwdbyppny: - 625. w) Lnpdwy pwppumd (0, 2) wju-

1/2, zel-1,1]
b 1626, f(x) =
pudtppny f(z) 0. x¢ |11
0, <0

627.1(2) = 3 (o + o) @ =0 L0

630. n > 4: 633. 0,1699: 634. 0,04: 635. n = 450000: 636. 0,9759:
637. Wn: 638. Nlg:  644. Ng:

598.
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